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Suggested method of study

The textbook has generally been designed with a steadily increasing grade of
difficulty, although sometimes both the more advanced and the simpler tech-
niques can be found side by side. For this reason, it may be easier to follow the
order of exercises in this workbook, which has a more even progression. You
will find references to the relevant textbook pages at the bottom of each page
of the workbook.

You will find it very beneficial to have access to a piano or other harmonic
instrument when you are working through the book. Being able to hear what you
write is an important prerequisite for you to gain valuable knowledge of how
written music sounds. This is how you can develop your inner ear.

Certain topics, such as becoming familiar with common chord progressions,
including cadences and common voice leading patterns, are best carried out at
the piano. This will require a little persistence, especially for those who have
not previously played the piano. This practical application will result in greater
knowledge retention, as more memory centres are activated. In addition to this,
you will also be practising your ability to accompany on the piano, which will
improve your aural harmonic perception. If you are a beginner on the piano, it
is important to note that you may play the exercises as slowly as you like.

Explanation of the following symbols in the workbook: ( IV ) = analyse using Roman numer-
als. (A7) = notate your choice of chord using chord symbols ( /7 ) = play the music example.

The symbol & directly after the title of the piece indicates that the score is incomplete.

L, IL, II1, IV after the title of the piece indicates the movement of the piece.
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Chapterl

1 Write the following chords:

Em

Gm

Dm

Fm

Bm

gb

Cm

b

Am

B7

E7

Bb7

A7

D7

F7

Cc7

ho
P4

Label the following chords using chord symbols:

Text book: pages 10-11
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CHAPTER 1 ‘

Writing triads and 7th chords in four-part harmony

2 The following exercises are designed for you to practise writing triads and 7th
chords in four-part harmony using close position, as described below and on
p13,eg 1.

El Triads with the root in the bass:

¢ Add the two missing notes directly under the top part, so that the upper three
notes form a complete triad in close position; see bar 1.

c D Dm F G Em B> Am E> Cm
p Close
v T
7 —oO- bo O
{(r~—e O O p= P a4 Py P
Do O [s) o [e) [e)
D C
Y P O i
O Py Py © O T DO
7O © © o O
A4 o)

El Seventh chords including all four notes, with the root in the bass:

e Add the two missing notes directly under the top part, in order to form a
complete 7th chord together with the bass note; see bar 1.

G7 F7 A7 D7 Bb7 E7 Eb7  C7 D7 G7
A close
v |
y 4 = | by
F [§) > O . =N s Py |
# e [§] ?" ~ 1O JO
®
Y |
J O Pay | [0 PO Py
d ~F by O ~F
o PO

0
¢
0

Seventh chords with the 5th omitted and the root of the chord in the bass:

e Add the two missing notes directly under the top part, so that the upper three
notes form a dominant 7th chord with the 5th omitted; see bar 1.

G7 no 5th
G7 | F7 A7 D7 Bw E7 Ebr c7 D7 G7
A close
i i .
(- =7 O Y Do # T o ©
{@ﬁ o fo o1 be o
p— !
&) S T s I S
© b o s ©
o o L = o

Text book: pages 12-13
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| Resolution of the dominant seventh chord

3 Complete the inner voices in four-part writing using the least possible movement.

e The first example shows how the dominant 7th chord with the Sth omitted
can be used, with the leading notes resolving as described on p 17, eg 3; see
also bar 1 in eg a and b below.

El With the tonic in 3rd position* (ie the 3rd in the melody):

G7 no 5th
c\G7 C D A7 D Bb F7 b
n ¥ . Lo
\J Ll | | ML T |
™l | | w2y | |
{rN bl | = L4 | |
S 0 a1 . a i O | =
e & AH.. R4 4 “ o
a g O
o . # i b1 i
J O | | @1 = | O W T | |
d a | O ™ |l | ~F w2y = | Py
P T [ 174 G I ©
& I a
G 1oV D: 1 V7 I B 1 V7 I

Also write these progressions in C, D and B? minor.

IEl With the tonic in octave position (ie the tonic in the melody):

F C7 F G D7 G EF  Bb7 Eb
A b L |
|7 B -] | | L[N |
y 4 29 fg I | | Ty [ [
[ (an YL Lo = | > VD | |
ANSY O t < 7 © 2 ‘ s
Y g2 =8 “
g O T P — o ‘
5 | | o T | | | |
r— ] = 1—-d UIL © —— —
2 = °
E ol v 1 G I V7 I L B I

Also write these progressions in F, G, E, A minor and A major.

Practise playing the cadences above on the piano. It would be an advantage to
be able to play them without looking at the music.

*seeeg 3 onp 13.

Text book: pages 14-17




CHAPTER 1 ‘

Identifying the key signature

Itis important to be able to identify the key signature of a particular melody in order
to be able to choose the chords necessary for the harmony exercises that follow.

Hints preceding the exercises on the following pages

Method of determining the key signature of the following melody:

e Count the number of# or l) in the key signature.

The example has one l) which is the key signature of F major or D minor.
e Play the melody and listen if it sounds like a major or minor key.

The melody in the example is in a minor key, so the key is D minor.

¢ Another method is to look at the last note of the melody, because simple melodies
usually end on the tonic note.

The melody in this example ends on a D, so it is in D minor.
¢ Find the triad that fits in with the last note in order to check the key signature.

If the melody ends with an F chord, it is in F major, and if it ends with a Dm chord
it is in D minor.

e |fthe 7th note is raised — which often occurs in a minor key - this will be indicated
by writing a temporary accidental in the melody.

The melody contains a temporary accidental (C#) which is the sharpened 7th degree
of a D minor scale, confirming the key of D minor.

It is important to note that it is possible for a melody to end on another note apart
from the tonic, and on another chord apart from the triad that is formed on the
tonic note of the key.

Text book: pages 1819
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| Harmonizing and arranging an accompaniment ® [-V7—1

4 Harmonize the following melody and complete the given accompaniment for
plano.
e Restrict your choice of chords to I and V7 in root position (p 13, eg 3).

e Label all the nonharmonic notes that occur in the piece using the standard
abbreviation ‘p’ (passing note) or ‘n’ (neighbour note); see p 21.

T~

A T o SN
PN B I IR B R S i |
b i e e s :
)
CO ) BN iii
i v . 4 2
724 € L 4

T
o T L DN
G e s e e 2
)
—t
2R

Schubert: ‘Zwolf Deutsche Tianze’, No 5 (Original: D major)

5 Harmonize the melody on the following page and complete the accompaniment
for string orchestra — using arpeggiated chords and including a tremolo in the
instrumentation of the vl. 2 and vla.
e When repeating a bar you can use the repeat sign shown in b 2.
e Restrict your choice of chords to T and V7 in root position.

e Label all the nonharmonic notes that occur in the piece using ‘p’ or ‘n’.

Text book: pages 14-21




CHAPTER 1 ‘

Harmonizing and arranging an accompaniment  [-V7—1

Ob.
VI. 1 - ‘|
i i .
[ fan Y/ i o i p3
A\ i \ i i < \
)]
V1.2
[a)
17 S )
y S W J i \ V.4
Gl e e Z
5 w | N 8 8 —
e - @ - @ simile
P-PpP
oy E—
“¥3 | y Z— 2 V.4
/s r ) P S— v
A N Ay

Ve .&Cb. unison

b
J

P
N

&Q’:)

N
T

4

Haydn: Symphony No 97, III Trio

6 Complete in four-part writing using the least possible movement.
¢ In the chord positions of I-V7-1 in the exercises below, the note in the upper

voice will remain stationary and function like a pedal point*. Use the domi-
nant 7th with the 5th omitted as you did in the previous exercises.

With the tonic in 5th position (ie the 5rd in the melody):

c G7 C b F7 Bb A E7 A
A | L4 8
1 1 | | Ll 1T ) |
1y | | o T | [
[ fan Py v | | Ll bl | |
A\SVJ 24 a2 (o) O ' G" ‘;J o
¢ g | ©
' R
. | | Tl
. 1 L e LT
e [7] O Iy = Py b 171
| =y v | ~ ‘1 bl [#) O
—F | f | f
1 v:o1 B: I V7 I A X V7 I

Also write these progressions in C, B and A minor!

* a note that is held while the chords change.

Text book: pages 14-21
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| Harmonizing and arranging an accompaniment ® [-V7—I

Harmonize the following melody which consists of an A- and B-section, where
the B-section is in the relative key. Write a waltz accompaniment for symphony
orchestra.

e A section (b 4-11): Start on I in the position of the octave (exercise 3b, p 304)*.

® Bsection (b 12 to the end): Start on I in the position of the fifth (exercise 6, p 307).

Allegro assai vivo Verdi: from ‘La Traviata’, Chorus of Spanish Matadors

Tenor (choir)
(VL Fl, Ob, Cl)

b

_—

Llel

Eas
, .

Fine

o
.—__ ‘

~e

D.C. al Fine

* Verdi uses the dominant without the 7th in the original (this is replaced
by the Sth in the voice leading exercise which you completed on p 304).

Text book: pages 14-21





CHAPTER 1 ‘

Authentic cadence — voicing

8 Write a chordal background for each progression below by completing the au-
thentic cadences using voice leading with the least possible movement.
Use the first example as a model and follow the voice leading of V7-T as described
in exercise 3 ie using a dominant 7th chord with the 5th omitted.

IE' With the tonic in 3rd position (ie the 3rd in the melody):

G7 no 5th
c F\G7 ¢C D G A7 D B> Eb F7 Bb
n Y L
g il L I?J
p . LAl 1 T
N b 1V
\.)U =
g % %10 © 2
— ‘ # ‘ ‘ PR —
. | T | L =y i | Py WL | | |
d loi | | [§] L | | | ~F T = | | Py
| = T | = [#) |1 | | 7
o ° l ¢ g @
G 1oV D: 1 IV V1 1 B (R |

Also write these progressions in C, D and B minor!

IEl With the tonic in octave position (ie the tonic in the melody):

F B C7 F G C D7 G b ab Bb7  ED
A Y L
g T ) LIl A
p 1 by |1 N
[ fan Y L Zdy)
A\SV4 O '
D)) 2 ® |8 7
L | n | A |
L o m— — o — — o —
by | - [#) |0 | a | NG| | | =
v | el Lo} = | Py vV | o e
o o c l & o
1OV V1l & 1 IVV Il B 1 v vl

Also write these progressions in F, G, E, A minor and A major!

With the tonic in 5th position (ie the 5rd in the melody):

c F G7 ¢ D G A7 D B> Eb F7 Bb
A 4 L
1 o1l T
Ll iy
[ fan Py bl |14
A\ o >4
1y o 4.8
I F, I E——t
g I i D — i i P g . I
(vl | | [§) Rl 1 | | | ~F T = | | O
| = b | = a |1d e [ | ~F
T = g @
¢ 1 vV 1 D1 IV V7 I B 1 v v7 1

Also write these progressions in C, D and B minor!

Practise playing the cadences above on the piano. It would be an advantage to
be able to play them without looking at the music. You can further develop this
skill by playing them in all keys.

Text book: pages 14-21
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| Analysis

9 Analyse the harmony of the following music examples. Label each new chord
using Roman numerals — but not the bass notes, where applicable.

Schubert: Minuet, No 8, Trio (b 1-8), ‘Zwanzig Menuette’ (D41)
Schubert: ‘Zwei Landler’, No 2 (D-V 679)
Haydn: Piano sonatina in F major, Scherzo from ‘Sechs Sonatinen’ (b 1-8).

1 O Harmonize the following melodies. Notate your choice of chords using chord
symbols (A7 )* above the staff, and Roman numerals (IV)* below.

e Play the melody and chords, or sing the melody to your own accompaniment.

e Use I, IV and V7 with the root of each chord in the bass**.

o e °

A5

i N - — ; — m N 1
. — N = —— = E— ——— \ y 2 1
\SY | r e e
D <

o
v d

%>

ol
iy
)

Haydn: Symphony No 60, V

* Explanation of the following symbols in the workbook: ( IV ) = analyse using Ro-
man numerals ( A7) = notate your choice of chord using chord symbols ( /7 ) = play the
music example.

** In the original score, Haydn uses IV with the Sth in the bass, which functions as a pedal point
(a note that is held while the chords change). The last dominant 7th chord has the 3rd in the bass.

Text book: pages 14-21
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CHAPTER 1 ‘

Harmonizing I, IV and V

Presto
@ A 4 ! . _ - . .
D — T
[ fanY Q| P | } - I [ el | | |
A\SVJ [o 2" AN |l [ | | | | | [ | [ |
' | N x ——

=
=

i

®-

T ls
o

A ]

Mozart: Divertimento No 14 (K. 270), Presto

(Original: B? major)

Hints preceding the exercises on the following pages

Earlier exercises have included unaccented nonharmonic notes in the melody, which
usually do not cause problems in finding suitable chords. Accented nonharmonic
notes require more careful treatment. It may be useful to read pages 20-21 under
the heading ‘Accented nonharmonic notes’ before beginning the exercises.

Method:

Study the melody and identify each appoggiatura and suspension. These are rec-
ognisable because - apart from being accented — they form a stepwise descending
(sometimes ascending) motion to the note of resolution.

As the appoggiatura/suspension is a decoration, and the note of resolution/target
note is a note of the chord, you may disregard the appoggiatura/suspension in the
harmonization. In the following melodic figure:

think in this way: and play/write in this way:
ap
b———. /S R—
H—e L &) .
D D)

N

*

N3
9

* Mozart uses G/D as a decoration of the primary chord in connection with the note B in his
original score.

Text book: pages 14-21
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| Harmonizing and arranging an accompaniment

1 Harmonize the following melody and complete the given accompaniment for
piano. Bars 2, 4 and 6 contain accented nonharmonic notes as discussed on the
preceding page.
e Utilise the voicings you practise in exercise 8.*

e Usel,IVand V7.

e Label all nonharmonic notes using abbreviations; see p 21.

Qlﬁ 'S‘Ah j ih i3iAh j J’

N
I_
N

i 2 ;
% |
ﬁii !
= /\
T D T
O ¥ .b |
7 - — P - L P N
; o o - o o 73
i i <
By}
S O E 7 2
1 p3
1t i <
[
T m ]
9
n 4 m | | — Gl
7 - P =i
y  S—iat o o
fes—
O
S Sz
i
O 3
7
1t
/\ /—\
A m | | I
® =i = i = N
A ! o Y o 4 | o >
frs— p3
A\8H) <
)
O] E .
o W ¥ 2
1 p3
1t i <

Schubert: Ecossaise from ‘Acht Ecossaisen’ (Deursch—VE[;z. 977)
(Original: DP major)

* Schubert varies bars 9-14 with Iin 3rd position (eg 8a) — in
order to return to octave position (8b) in the last two bars.

Text book: pages 14-21




CHAPTER 1 ‘

Cadences in major and minor

1 2 Play the cadential six-four and the cadential suspension below on the piano in
all major keys up to 3 sharps and 3 flats (in a minor key: 2 sharps and 4 flats).
Increase the number of sharps and flats later, so that you will be able to master

all keys.

o All the positions are notated below. Initially practise/write only the 1st and

2nd cadential patterns in a and b.

El The cadential six-four*:

Also practise these progressions in C minor.

c/iG G7 C
0
{r~ o [ S o
7 8 8 g g
o 2 (3 @
o 7 | 7 | (o) ) [7] |
s I | | | | | |
e | | O | | O | | [§) | | [§]
[ = | | [ - | -
& = = =
io1
C/C: V4 : 3 I
[
the bass with an octave
leap or a repeated note
IEl The cadential suspension*:
Also practise these progressions in C minor.
C Gsus G(7) C
0 — —
Z Oz — [o BN N 7] = O
[ fan ey el O | S~y bl o O Py
A\Sv © (@) T8 o | bid S h=d S
o N | ¢ F ©
orF
| | |
— i —r— —f—
e a | | O a | | O (7] | | O
| = | -~ | =
d o d
8§-7
Cle: 1 Va4-3 I

I
the bass with an octave
leap or a repeated note

* see also p 17, eg 4 and 5.

Text book: pages 22-25
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Cadences in magjor and minor

13

314

Complete the excerpts below in 4-part harmony using a final cadence, with the
voice leading of V4-3 and V43 as shown in exercise 12 on the preceding page.

* Notate your choice using chord symbols iz the boxes and Roman numer-
als below the staff. Note that D4-3 and V3 in the example is regarded as
two chords (requiring two boxes).

e Choose the type of cadence you prefer if several alternatives are possible.

A7 1A%

Mark with a tie if the note of preparation has
been used. This applies to all the examples.

Note that the example ends in G major! ‘

3

)
i

| INEA )

™o
s

al

G

]

r"
In L

2

m
#

r I  —

J. S. Bach: Christmas Oratorio, No 12 Chorale

EL e =

=]
>

K Y— YR
| S
| S
| -
iy
119

)4 - T
1

J. S. Bach: ‘Vater unser im Himmelreich’, BWV 102
(Original: C minor)

J. S. Bach: Cantata No 18
(Original: C minor)

Text book: pages 22-25




CHAPTER 1 ‘

Cadences in major and minor

I

u =T ~
e — ‘ —
d| ([T ——e—— -
A\SV} | P o |
ST
i dle S v -
C\: w1 IP —
2 . e —— i
! r—— -
J. S. Bach: St. John’s Passion, No 15 Chorale
5
n | | \ | | ‘ ,
Y 1D [ [ | | | [ I |
g b {° | | | | P | | | -
E [ {an WL A |- & = ] v = | =
D —¢& o 4 & 17 4
o r P [T [f "

-9
[ Wi  1EEN

:

ZFFH

A = I
L I

€

Schubert: String Quartet No 14, I

31 /’_——\ /\
[ N —
e
* ﬁ cresc. ° ¢ P
p
g ; Ib'ﬁ 0

Beethoven: Piano sonata, op 26, [

Analyse the harmony of the following music examples — but not the bass notes,
where applicable.

1

Schubert: Minuet, No § (b 1-16), ‘Zwanzig Menuette’ (D41)
Schubert: ‘Siebzehn Landler’, No 3 and 16 (Opus 18, D 145)

Text book: pages 22-25
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| Cadences in major and minor

1 5 Find suitable cadences in the music extracts below.

e Use from the previous exercise:

Vi3 -1
Also use: IV-V7-1
I-V7-1

The latter is used when V §3 -1 cannot be used, because the cadence is preceded

by V7; see p 25, eg 4.

e Note that the melody in the cadences also contains nonharmonic notes
(appoggiatura), which is resolved by ascending or descending to a note of
the chord. Identify the nonharmonic notes, using standard abbreviations.

A7) (Iv) (]I

Bb F/EP  BbD ’

Haydn: Piano sonata No 5
(Original: C major)

F c7
3
O — — _—
b e S e e, T
Y ‘ |

Schubert: Wiegenlied, op 98, No 2
(Original: G major)

Dm D7/C GmBr  Gme

— I / o —_
Hh_ * e e - Pe e, .
2 o o [ | | | I
C y A=Y | | | | i e el [l Sy | I |
{(r\N iy | | | | I | | I | | ' [
A\SY; i — ] I i i 7
Y
Mozart: Piano concerto No 20, III ‘
G G/B ‘ ‘ ‘
29
N # e o ..
o o o = ! ! | ! pxﬁ;q:’:
o | 1 — | I — P
il | [ bl
Py} — e ~

Haydn: Symphony No 88, IV
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CHAPTER 2 ‘

Chapterz

Complete the four-part chord progressions below with the ‘least possible move-
ment’, see p 12-13.

1

Hints:

When working on the voice leading of chord I followed by II, and other chord
progressions which form ascending seconds, it is important to make sure that the
three upper voices move in contrary motion compared with the bass part. This is
to avoid the occurrence of consecutive fifths and octaves (see ‘Parallel octaves
and unisons’ on p 184, and ‘Parallel fifths’ on p 185).

parallel motion in all voices causes use contrary

parallel fifths and octaves

motion instead *

Fa | ) /
pd ] y.a f
O 5 ] 5 -
B3] 3 o 2
£ | oy |
S 2 ) — 2
C Dm C Dm

When working on the voice leading of chords a third apart, for example I-VI or
IV-II, keep the notes that are in common in the same part, while the other notes
move to the closest note of the chord:

o— 1
z =
C Am
D Em G A F  Gm Eb F A Bm B> Cm
N
v J | ©
y .4 s by ey ~F
N O ~F [ L
ANV} P=Y
Y]
€3
) O
P
B> Gm E Cm F Dm A Fm A Fm D Bm

N
iy f
y 4 |
[ famY | O DO
\;ju O bo P2y 1o
fa Y
)
d

* an exception is in the deceptive cadence (V-VI) when the
7th degree of the scale is in the melody, see p 80.

Text book: pages 28-33
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| Substitute chords — secondary triads Il and VI

2 Practise playing the chord progressions below on the piano in all major keys up
to 3 sharps and 3 flats. Increase the number of sharps and flats later, so that you
will be able to master all the major keys.
Voicings for turn-around can be found on p 37, eg 2.

[-VI-IV-V7-1
I-VI-II-V7-1 (alternatively, II6 can be used, see p 331, eg b)

Also practice playing the chord progressions starting from the tonic chord with

the third/fifth in the melody.

Hints preceding the exercises on the following pages

The notes which I, IV and V7 have in common with other chords provide the basis
for harmonic variation. The melodic movement above these common notes — which
can be decorated by passing notes, neighbour notes, appoggiatura etc — provides
the possibility to vary the harmony:

the 1st and 3rd degrees of the scale

C Am

hH

7 n

.. ™ [ ] I}
{rN O Py [ ] bl ]
A\SV} )24 © O r v ]

03] © g o o

1 VI
the 2nd and 4th degrees of the scale
Dm G7 -

H "

i n
. & & 1
{rN (8] o 12V ¥ 11
L\SV2 Q (0] o ©O ° 7 i

) O § e O

I \4
the 4th and 6th degrees of the scale
F Dm

fal s

¥ n
V4 (9] o 27 1l
N (8] (8] & O had 1
A\SY O (0] & (0] b ]
PS] O o & @

v II

For an example of how to use these substitute chords, see p 31, eg 2.

* Melodic movement including the notes in brackets also
works well. Chords IV and II often have added notes, espe-
cially at a cadence, for example in C major: F6, Fmaj7 or
Dm7, see p 74.

Text book: pages 28-33
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CHAPTER 2 ‘

Secondary triads in major keys — Il and VI

Harmonize the music examples a-b. Use the primary triads, as well as suitable
secondary triads.

* Read ‘Hints’ on the preceding page, as well as the information on secondary
triads in the textbook (p 28).

® You can work in two alternative ways to prepare for the exercises:

1. First do some preparatory work such as the technical exercises I a-b
and II a-c starting on p 321.

2. Start harmonizing the melodies using the tips on the following page
as necessary, which refer to the numbers (D) in the examples.

A7) (1v) (3

41
fH# A S T i T\‘ I }' F I T\Q ]
) T e w — i \ i i - > |
[/anY % =3 1 - T \ \ i \ o |
©O—4 ; - | O \ \ i 1
¢ [
P
@)
s D TN e
n 4 ) e o — )
7 - T » f - { ll N N
i : o ) i 1 \ 1 73 1l
—p—F—p | i i i \ 1 < 1l
A\SV; | 7 — | 1 i i < i
) | r | ‘
cresc. S

Schubert: from ‘Letzte Walzer’, Op. posth. 127

@ (The simple ‘folk’ harmonization by Gluck has been notated under each stave as a reference.)

s ®
) | | S
Y T 1 T T Py 1 f I P
y S S— ¥ 1 T T d ° 1 [ T 1 ]

v -
! |

¢ F le7 [

y ® ®
) | |
Y1 I I T T T T 1 T " | |
ﬂ P F I I 1 | | Py 1 I I 1 | I | i |

I ] ] Iui = | 1 1 1 N1 1 1 1 | N |
A\SVJ 1 1 a 0 1 | o o—°* o | i | ~X) i |
P T 1t T hd —_° [
F c7 F

Gluck: Musette (from Armide)
IF YOU NEED HELP

... with sections marked with numbers ® — ®, see next page:

Text book: pages 28-33
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| Analysis

@ For the 1st or 3rd degrees of the scale, see ‘Hints’ on p 318.

6-5
® V43 cadence.

® Technical exercise Ia-b (especially b ‘Expansion of V7°)* together with IT a-c (p 321-322).

It is important to remember that the technical ex-
ercises are of a general nature. This means that
some examples are not directly applicable to the
actual melodies or to every situation, and it may be
necessary to make adjustments to suit your choice

of chords.

4 Indicate each new chord using Roman numerals (you do not need to indicate
if the bass is not the root of the chord, we will deal with this in a later chapter)
and make a fundamental bass analysis by notating the root of each chord and

the intervallic relations on a separate stave, in the way described on p 33, eg 2.

Mozart: Piano sonata in D major (KV 284), III, b 1-4
Mozart: Piano sonata (KV 545), II (omit the chord in the 3rd bar, 3rd beat**)
Mozart: Eine kleine Nachtmusik, Minuet, Trio, b 1-8

* In the last bars of melody (b), it is better to put the third in the bass when using II to
harmonize the melodic movement F§-G.
** for analyse see p 135 eg 2.

Text book: pages 28-33
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CHAPTER 2 ‘

Technical exercises: Substitute chords

I Which alternative chord can you use instead of IV in these chord progressions?
See ‘Substitute chords’ on p 28? See also the first chord progression.

@ F Bb c7 F
\
D G A7 D
Y
]
Bb Eb F7 Bb
\
]
G c D7 G
Y
]

@ How can I and V7 be varied in the chord progressions below, so that the har-
monic rhythm increases? See ‘Substitute chords’ on p 28 and ‘Expansion of V7
to I[I-V7” on p 30. See also the first example.

I V7 I
N — N —
F F C7 Cc7 F
Y Y

can become:  F ‘ Dm ‘ ‘ Gm ‘ F

Eb Eb Bb7 Bb7 Eb

can become: EI? ‘ ‘ ‘ ‘ |:| El7

can become: A ‘ ‘ ‘ ‘ |:| A

Text book: pages 28-33
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‘ Technical exercises: Substitute chords

II Harmonize music example a-c. A7) (1Iv) (3

e Use the technique to vary chords I and V7 which you practiced in exercise Ib
on p 321 and which is shown in eg 2 on p 31.

I V7 I V7 I
e || N
A 4 *
e e s B s —— B —1 : I
I T [N 1 [
e e e
S P ~

Haydn: Sinfonia No. 72,1 *

@ e Use a turn-around to give weight at the end of a phrase:

Note F major! I %

Bb c/mb FIA  C7E ‘ H

A - ) » - £ ® -

@ i - ud T i —®
B e B i i I .|
VLA Y R S S S Y S A N Ry == I ————— |
\;}/ 4 4 —F \ T

Haydn: Sinfonia No. 78, III

e A shortened turn-around preceding the half cadence:

Haydn: Sinfonia No. 75, I

* In bar 3 of the original score, Haydn uses added notes from the
subdominant related chords (II$ and 1I7), as well as chord I with
the third in the bass.

Text book: pages 28-33
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CHAPTER 2 ‘

Secondary dominant chords in a major key

5 Harmonize the chord progressions below in four-part harmony with the chords
in root position. Place the chromatic line in the same part.

Hints

The resolution of the secondary dominant chords occurs in the same way as for the
dominant chord. There are, however, special voice leading problems that often occur
in the movement towards a secondary dominant chord. It is not unusual for this to
occur by introducing an ascending or descending third; for example:

C-A7-Dm (I= V7L -1I)
C-E7-Am (I-V7/VI=VI)

The chromatic notes that occur between the first two chords are placed in the same
voice, which fits in with the voice leading principles of ‘the least possible movement’.
This avoids what is called ‘cross relations’ (see p 183).

placement of the chromatic
movement in the same part

o] A7 Dm c E7 Am
Fa}
i I [
Y A T T
[ fanY =i . = (8]
N O B = 8 gt g
© B e o
I | |
0 T T I I
¥ . —
7
1 Voo I V7ol
-y X

It is not unusual for the seventh to enter by an ascending leap and then to descend,
ie the stepwise motion occurs indirectly, as shown in the first example below.

Suggestions for completing these exercises:

. decide which secondary dominant chord you will use

o write the chromatic movement in the actual part

. write the V7 with its resolution, guided by the chromatic note and the voice
leading principles you practiced on p 304. See also the introductory eg below.

v’ v’ v’ v’
N> >
G E7 Am D Em F Gm Eb Fm
A
\J
(~— 7. P & Py =
AV IR 4 - no a i
e - —
0% . 8
/: i
v’ v’ v’ v’
G B7\’ Em  Bb > Gm F > Dm A > Fim

Text book: pages 34-35
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' Harmonization using secondary dominant chords

6 Harmonize melodies a-b below and on the next page, using the secondary domi-
nants, as well as other chords.

e Remember that the aim of the harmonization exercises is not to use every
secondary dominant in each melody, 2 or 3 would be sufficient.

® Read ‘Hints’ on p 327-328, as well as the information on secondary dominants
in the textbook.

® You can work in two alternative ways to prepare for the exercises:

1. First do some preparatory work such as the technical exercises III a-d
on p 327-329.

2. Start harmonizing the melodies using the tips below as necessary,
which refer to the numbers (D) in the examples.

.

£

/

P S ot S —
e — e e R ——— ——— —
o * | —
0y T C I
C. M. Bellman: Epistle No. 67
@ The 2nd and 4th degrees of the scale (p 318, ‘Expansion of V7).

@ The 3rd and 5th degrees of the scale; see ‘Hints’ as well as technical exercise
IIlc and d on p 329. Note that the technique in III ¢-d is similar, but not di-
rectly applicable regarding the choice of secondary dominant.

® Preparatory secondary dominant (provided that the chord you choose for (®)
1S correct).

Text book: pages 34-35
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CHAPTER 2 ‘

Harmonization using secondary dominant chords

[} Pl | °
A e e B> ™ B S — I — E— S—
@ [ {an WA — P o ] i i 1 f py |
47 Ll i \ | - i i - i < ]
’y — \ ' ‘ |
©) @

alternative: ®

(®)
f\g @ ‘ , | LN Y
Y T > I | | T | | | | | I |
6 bl: P t P = & | | | | V |
| o |
A\SVJ | NI | | [ v ] v |
Py I ~ [ |
13 T L @ |
—————+—
s> — \ \ T \ \ I — P —] P i |
A\SVJ | T I T T I 1 I I b [ 77 AS 1 ]
‘ ‘ 1 \ =

Heinrich Koch: Minuet

IF YOU NEED HELP

... with sections marked with numbers @ — ®:

Rememberthat the exercises below do not provide the specific
answers, but show the general harmonization technique.

@ Technical exercise Illa (p 327).

@ Teg:?nical exercise IIIb (p 328). Harmonize b 8 to imply a half close, using
Vis.

® Technical exercise IIId (p 329). Same conditions as @.

@ For the 3rd and Sth degrees of the scale, see ‘Hints’ on p 328 (the choice of
chord is determined by the next bar).

® For the 2nd and 4th degrees of the scale, see ‘Hints’ on p 318 (also Ib on
p 321).

Text book: pages 34-35
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| Analysis — composition

Analyse the harmony of the following music examples. Write the Roman numer-
als for each new chord — not the bass notes where applicable. Note that C/G - G
= V43

Schubert: Quintet in A major (Die Forelle), IV (b 1-20)
Mozart: Piano sonata No. 7 (Kv 309), Rondo (b 1-19)
Schubert: Landler, No 13, ‘Sechzehn Lindler’ (Op 67, D 734)
Schubert: Walzer, No 3, ‘Erste Walzer’ (Op 9, D 365)

8 Compose melodies or pieces (for example different dance forms like a minuet
or trio section in a minuet) where you use primary and secondary triads as well
as secondary dominants.

Text book: pages 34-35




CHAPTER 2 ‘

Technical exercises: Secondary dominant chords in a major key

Hints preceding the exercises on the following pages

To develop a harmonization so that a quicker harmonic rhythm — and a richer as
well as a more forward striving piece is obtained — secondary dominant chords can
be added in the following way:

V/IV

V/IV is the easiest secondary dominant chord to use because it is just a tonic chord
that has been turned into a dominant chord, ie the tonic chord with an added minor
seventh (eg C7 in C major). Each I that is followed by chord IV can be turned into
V7/IV. However the melody may not retain the seventh degree of the scale (provided
that this does not function as a neighbour note).

v/vV

V(7)ofV can be placed before V(7) orViig, provided that it harmonizes with the notes
of the melody and continues smoothly from the preceding chord. At an expansion
of the harmony, V(7)ofV can completely or partly replace the greater part of the
diatonic chords. Normally it constitutes important melody notes of any or several
of the scale degrees below:

a continuation to G(7) scale degrees 1, 2 and 6
or C/G-G(7) needed
A D(7) .
i ya— n
y 4 {3} pra—_—1|
[ fanY ) P O b i
L \S — e o —_ 1l
Py TS o O ()
V7lof V

III Harmonize the following melodies. A7 g

@ e Schubert uses chords I, IV, V7 as well as V7/IV in his harmonization. Find the
subdominant chord and prepare this with V7/IV in the previous bar.

—
e m—— ) ] | > @ S, —i—
i o - i 1 i |
7 — . i \ i |
A\SV A1 1 i i I S — — 1 — 1
fo o —
Y o I I
mf
cadence
64 P — 1Ir
é E ;‘ ; %‘ﬁ —— i i - y 2 u |
i — i i 1 ps n |
A\SV ‘ \ S— 1 i \ I — i i 1 < i |
Y | ' —

Schubert: Symphony No. 2, Minuet, Trio

* melodic movement containing the major 9th of the
chord is also possible (see p 33, eg 2, b 2)

Text book: pages 34-35
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| Technical exercises: Secondary dominant chords in a major key

b

e Here Schubert uses chords I, IV, V7 as well as preparing V (in bar 8) and IV
with secondary dominant chords.*

[ ! , |
7 0 ) T, — - — —m|
R e ol o .
& 41 i o ] i P —— 5&'
ORI i i R
VLI
p
D
5
N | | | |
I — i I - i i —
WP—F — 1 ) o o
i 1 R E—— 1 1
Py \ I———
\Y

Schubert: Symphony No. 5, Minuet, Trio

Hints preceding the exercises on the following pages

The secondary dominant chords V/II and V/VI often replace certain chords. You
can work out which scale degrees there are in common with the primary triads, in
the same way as for the secondary triads; see below. What is different here is that
the secondary dominant chord normally has an obligatory resolution because in its
capacity as a dominant chord it strives to resolve to a chord that is down a fifth.

V/II and V/VI
With V/II and V/VI the possibilities to replace the tonic or dominant chords respec-
tively is shown below:

normally requires a
resolution to Dm or D7
scale degrees 3 and 5

9]
>
N

o

)7 ; n
4 Py & 1}
N O O O r ) v 1
A\SY b4 24 o [ ] ~F ]
) RS 18 o @

._‘
<
N
3
=

normally requires a
resolution to Am (F) or A7

D>
(0]
~
m
~

v
000
»
.

@QI
g

v’ V7IVI

Naturally any note that occurs in a secondary dominant chord can be a melody
note. However the chromatically altered notes occur mainly in the inner parts or
the bass, and not in the melody.

* In the original score, alternative bass notes are used, but here the notation
of the chords in root position is sufficient for the purposes of this exercise.
** the melodic movement containing the minor ninth also functions well.

Text book: pages 34-35





CHAPTER 2 ‘

Technical exercises: Secondary dominant chords in a major key

® Develop the harmony given in ‘Level 1’ (compare p 321, eg 1b), notating it
in the ‘Level 2’ boxes using chord symbols. Increase the harmonic rhythm

even further to ‘Level 3’ using secondary dominant chords (see ‘Hints’ on
p 327-328).

Level 1: | v’

Level 2:

.

4 # D) |‘\5|9 \ }r - T o P - 1
ﬁjjli | i \: itﬁ_ |1_L '_!._ﬁ_'ﬁt

V1+F
I r {/ 7 I -

gt —— —
Tt

@ e ExpandIVinb 6 to two chords in ‘Level 2’ (compare p 321, eg 1a). Continue
to prepare each chord using a secondary dominant in ‘Level 3’ as in the ex-
ercise above. Note that V7 in this example expands to a V§3 cadence. Also
harmonize b 1-5.

G e E=sEEta=== |
[ I 1 | N I I ] [ N
') o I | — [ ] I ‘IH | [ | — [ | ‘H

Level 1: v \'%& I

Level 2:

‘Die Sonne scheint nicht mehr’
Level 3: (from Brahms™ ‘Deutsche Volkslieder’)

Bk ]
QL

[ INEE

NEEE

‘Das Feuer kann man l6schen, die Liebe nicht vergessen,
da Feuer brennt so sehr, die Liebe noch viel mehr.

Text book: pages 34-35
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| Technical exercises: Secondary dominant chords in a major key — 111

IV Harmonize the following melody. Read ‘Use of III in the textbook regarding the
harmonization of the scale degrees 8-7-6 in the melody (see p 30).

Dvorak: ‘Song to the Moon’, Rusalka, 1st act
Original: G

E Larghetto

40
3
H| . ; — ]
* L_a E} k [ 1} F P F ﬁ. & i I I Y] |
2 H—"— ref—e o ]
P L 4 t i
O Mond, ach  nicht—— S0 ei - le

~ele

A ,
0 T N ; T i T
| i) i ) = ———
e 4 e 5 T e, e =, o
\/

mein—— Schatz wei - e

@ Which alternative chords can precede VI in the example below so that every
chord is part of a cycle of fifths? This can either occur with III (see p 37, eg 1)
or with the help of V7/VI. See the first example:

Bm
Em-Am-D7-G Bm-Em-A7-D

B7

Dm-Gm-C7-F Gm-Cm-F7-8b

LI el
L

* In the original score, Dvorak uses V/II without
directly resolving to II.

Text book: pages 34-35
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CHAPTER 2 ‘

Cadences in major

9 Practise playing the cadences below on the piano in all major keys up to 3 sharps
and 3 flats. Increase the number of sharps and flats later, so that you will be able
to master all the major keys.

e The positions that are most often found in connection with cadences have
been notated here. It is important that you gradually practice the rest of the
positions as well.

El 117 and V7/V (both with the third in the bass):

the dissonance M2 is formed
with resolution to m3

the seventh is prepared the seventh is prepared
G \Aamc'/D D7 G G azcdi b D7 G
A | | | |
7 — ] ] !
& ¢ 7 7 o [ ee  Eam—— o [ e
Y F - 8 le r F H S |e
r r opt. r -
| | resolution | |
e . . .
i 2 14 \ ) 14
oo Py \ 1t S
fo} o o
G: 1 ns ve-’ I IV v -7 1
Y
6 6_5 .
116 followed by V or V43:
G Am/CD7 G G Am/C G/D D7 G G Am/C G/D D7 G

K>

4 | | [
)

@éj
Qe

Q
eelo)
CIEY
q

[\
eolo)
g
i
Q

N
eelo)

DB e —— ) —— —
- P i E— —= D I CA—— D . ——=
. | © ’ — © . g ©
8§ -7 8 -7
G 1 II°* v7 1 I 1me viz3 1 I 16 v§z§ 1

I
the bass with an
octave leap or a

repeated note

Note that the form of the cadence in the 2nd and 3rd examples above can also
begin with Am/C on the strong beat of the bar, ie that Am/C - G/D - D7 - G in

4/4 can have the rhythm JJJ | o and in triple time JJJ | J.

To create a strong phrase ending, it is common to finish with a descending fifth in the bass, but this
means that in the first three examples, all the voices move in the same direction, see ‘All parts in
similar motion’ on p 183.

* symbol in accordance with the method of notation using Roman
numerals. Normally however it is described as the chord Cé6.

Text book: pages 36-39
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| Cadences in a major key (116, 11$) — Tonicisation

1 O Harmonize the melodies a-b below.

® Read ‘Cadences in a major key’ on p 38 and “Tonicisation of V’ on p 40 in
the textbook (omit ‘Tonicisation of IV, II, VI and IIT’).

When harmonizing a melody, it is a good idea to choose the key for the end of
the phrase, which will act as a guide for the cadences. This is applicable to all
harmonization, but particularly in a chorale (b).
® You can work in two alternative ways, as we have done previously:

1. First do the technical exercises V-VIII starting on p 334, as preparatory work.

2. Harmonize the melodies, using the tips below as necessary.

A7) (1v) (J3
E (In b 1-2 and 5-6, Mozart uses one chord per bar.) Mozart
Andante
fa) | | @

N
17— ) i N —— — A N — E ]
g i N | f D!
- o 1
8 1 E—
o @4 [4

|

@ Technical exercise V and VI, starting on p 334. (In the Classical period, these ca-
dences were often used starting on I with the #hird in the bass.)

@ Technical exercise VII and VIIla-d — especially b (without V7/VI) and ¢ (starting on
p 338).

Text book: pages 38-41




CHAPTER 2 ‘

Cadences in major (116, 11¢) — Tonicisation

@ Choose the cadence at the end of the phrase with a view to possible tonicisation.*

A
<

L1
B

| THER

|

]

o
o/

[\ \[<

:
BER.
T

N

~
@f
[ JENY
j,

ol ®

N

¥

«
[ TN
[ JNEE

N
A1l
N

[ TS

@ ~
:
TTe
e
o
*:;;ﬁ

‘Du Lebensbrot Herr Jesu Christ’ (‘Give praise and glory unto God’)

@ Cadence (see p 331, also technical exercise V). Analyse bar 8 without a pivot chord.

® VI often precedes or follows V. I-V followed by VI is one of two basic ways to har-
monize the melody 8-7-6 (p 30). The other way is found in technical exercise IVa
(p 330) — you may choose which alternative is most suitable.

® Reverse the cycle of fifths from the final chord in the phrase — which must be I in
this case (see p 37, eg 1 or p 330, technical exercise IVb).

@ Utilise the secondary triads IT and VI, so you can ‘save’ the primary triads for the
final cadence — with the exception of the note Bb.

* For a simpler exercise, harmonize the melody using two chords per bar — unless indicated otherwise —
instead of the usual note-against-note chorale harmonization.

** for a more advanced harmonization, see p 55, eg 2.

Text book: pages 38-41
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| Technical exercises: Cadences in major (116, I1¢ and V7/V)

v

Choose from the concluding phrases a-e below one of the cadences which you
have practised in exercise 9 on p 331 (V7/V can be omitted). Notate your choice
in the boxes using Roman numerals and complete the given piece by adding a
bass and two inner voices.

* Choose the type of cadence you prefer if several alternatives are possible.

¢ Note that V$3 in the example is regarded as two chords (two boxes), despite
6-3 - .
the fact that 473 is a decoration of one chord.

been used. This applies to all the examples.

Mark with a tie if the note of preparation has ‘ ‘ ‘

v) ([
a| (E—r———

CNEE R

]

S RVIPET

TTele

o

J. S. Bach: Cantata, No. 36, last phrase

|

RO

@
N
e 3 Y
| 188
QL

at

J. S. Bach: St. John’s Passion, No. 56 Chorale
Original: A major

e | e
TTTe e

Notate both inner parts in the ‘ ‘ ‘ ‘ ‘ ‘
upper staff.

5

| |

I J— T =i [ J i i ]
lﬁr g =
]

;/|

Beethoven: Piano sonata, Op 10 No. 2, I
Original: A flat major

q
o)

Q.

O [z

QO
a3
& &
| T
TN (e T el ||

J. S. Bach: Cantata, No. 56, ‘Ich
will den Kreuzstab gerne tragen’

T

Text book: pages 38-39




CHAPTER 2 ‘

Technical exercises: Cadences in major (116, I1$ and V7/V)

o]

ir

20

[a) ” & | \ K K h q N
i o (3, | N v 17 [/ | N
P T A0 T &f [7] [ ] { T
[ fanY [o] al 7 7 \ a
\;)\J (6] T 1 v v

\ o

OO . I £ » P - e o @ 0

* 4 V) - | - P v al IR . [7]

d T [ 2 | |l |l [ ®1 Wi FAE " B I

| 4 T J] 1]

e ¥

Mozart: Piano sonata No. 2, II (KV 280)
Original: A flat major

VI Werite cadences using the formulae you practised in exercise 9 (p 331) as well as
the technical exercise V on the preceding page.

* Note that the melody in the cadences also contains nonharmonic notes which

is resolved down to a note of the chord. Identify the nonharmonic notes, using
standard abbreviations (app., s. etc).

A7) (]I

A7MO1/E
D/F} G Em D

[ JNNN
L EEN

IV ) | [ I | I [ | I [
Ll e, 00 o .,
[y

Haydn: Symphony No. 31, III

G7/B C

19 E i%f tr
g b ) | [ | | | A I I I
- [ | I

170

Schubert: Zwanzig Menuette, No. 10

Text book: pages 38-39
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| Technical exercises: Tonicisation of Vin a major key

VII Practise playing the chord progressions below on the piano in all major keys.
You may begin with a cadence to establish the introductory key.*

Hints

See below for common ways to modulate by the tonicisation of V, notated in C
major. The pivot chords are marked with a frame.

©) direct (I is later perceived as IV in the dominant key)

D7 - G
@ via VI which pivots to Il in the dominant key
V or V7/VI can be inserted
C major: VI
C - (G/BorE7/B - A <D7' G
(G/B or E7/B) m G/D-D7-G
G major: 11
@ the fifth in I moves to the sixth, creating VI6 which pivots to 116 in the
dominant key
C major: VIe
G/D-D7-G
c - Amc < o7 4
G major: 116

—

@ the tonic note remains when V/V enters, and creates a V7 in the third
inversion which resolves to 16 in the dominant key.

Cmajor: 1

C - D/C-G/B

| G major: IV I \

Am/C can be inserted

More alternatives are discussed in the section ‘Mixture in a major key’ on p 84.

* A prerequisite is to study the section on
bass parts in Chapter 3.

Text book: pages 40-41
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CHAPTER 2 ‘

Technical exercises: Tonicisation of V in a major key

VIII Harmonize music examples a-d on the following pages in order to practice the
tonicisation of V according to the ‘modulation types’ on the preceding page.

e Write the pivot chord twice in the analysis on two levels in the way shown
on p 41, eg 2 and 3.

v) (3

E e A sshorter tonicisation like the first example is usually analysed using Roman
numerals, without a pivot chord or changing key.

Haydn: Sinfonia No. 76, IV

Allegro, ma non troppo use modulation type 0]
I I - % S S -
y A o | | ¥ g |1 | [ [ [ [ | o 1] | e
N7 D U | | | & 11 | ! [ ! | [ A [ |
\é\} T | ! | | | [ [ [ | i
P 'I

@ Haydn: Symphony No. 85, Romance

Allegretto
no chord no chord no chord
A |V L1 | P
AL ey
Py C— ﬁ:\__/i ;' A I e \ .
P
modulation type @ (including V7/VI)
5
A | ‘ |
U T —— T I i
y |
|24

"

L ]
Mw

3
Qlll

no chord

Text book: pages 40-41
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' Technical exercises: Tonicisation of Vin a major key

11

12

Schubert: from ‘Letzte Walzer’, Op. posth. 127
T —

I 2
H-4 § e |/|.—\1|._ = 1' F |f ]
G T T I — i ——— i i i \ - Py ]
{rs % =i 1 71 T I i i i o |
\'ju 3 ] - | — i i i i ]
P

use modulation type @

>
=
BER.
Tre
[
3

T

Schubert includes a chromatic passing note which appears in the third
beat of bar 5 (5-§5-6 from the tonic).

Allegretto Haydn: Sinfonia No. 78, III
57
| I X

F— - i \ — ) |
A - | i i — [ |

A\SV; [ S| T 1 i I —
— — %_I—i—l_‘—‘—l

P
modulation type @ turn-around (p 28)

\Q) v 174 14 T [ — T < i |

Analyse the harmony of the following music examples. Indicate each new chord
using Roman numerals (you do not need to indicate if the bass is not the root of
the chord, we will deal with this in a later chapter).

Schumann: ‘Freisinn’, Myrten, Op. 25
Schumann: ‘Soldatenlied’

Piece suitable for harmonic reduction, see p 206:

Schumann: ‘Wilder Reiter’, Album fiir die Jugend (Op 68)

Compose melodies or pieces using the primary and secondary triads as well as
the secondary dominants. Write cadences and tonicise V in the way you practised
in the exercises.

Text book: pages 40-41




CHAPTER 3 |

C h a p ter Neighbouring chord in 1st inversion

1 Play the chord progression below on the piano in all major/minor keys.

(Cm) (Cm)
c G/B G7/B c
. T
\J
y .1
[ fanY
A\SV4 e
e S
o K, X7 O
o | ]
J O I | |
d a = c{ (9]
C: 1 Ve V¢ I

2 Write a bass part according to your harmonization in exercise 10b on p 311.

e Complete the given rhythmic patterns in b 1-4 and 5-7.

e Use the neighbouring chord which you have practiced in exercise 1 as well
as the principle of ‘strong ending’; see p 45, eg 3.

v) (/7
Mozart: Divertimento No 14 (K. 270), Presto
Presto (Original: Bb—major)
1
f ﬁ ) -
y SR> T s W ®
[ {an [ ) Py Py el | I
A\SV (o) YV | | | | | |
D) l ———
p S
i q
0 7] 7] 7] [
i ! [¢) Ji Wi 7 I [ | I
o] Y 1 i ;
1 2
a g . . e r tr .
et I - N
&a ﬁ‘ l : | I \P \? \? ] =I i ./4
D) S E— — ——
): # ‘ -
L] I N &
W L [ 1 i
& &
& &

Text book: Pages 44-47
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| Passing third

3 Play the chord progression below on the piano in all major/minor keys.

(Cm  cm/Eb) (Cm)
c CIE G G G/B G7/B c
. R
\f
[ fan )4
A\S V. ¥ Py
) Z O S
o K7 [e)
| | . .
. | | O f | |
0 I 7 | | |
prd (s} | P = O
- 5 &
C: 1 I° \Y v Ve V¢ 1

4 Practice using a passing third in the bass between chords a fourth or fifth apart,

as shown in the first example below and exercise 3 above. See also p 47, eg 2.

G7 C D7 G Cm Fm
‘ | |
i | T T I o3 1 o i
7 — 1o Iz ] = — f
) 1 i i 1 I i i
1> 3 1
Em B A7 Dm EP Bb
i - T i ||7O il
—)— \ T S IEY.T ) i i
| o T O [t i i
\ —© T 1 T— i i
i T

Text book: Pages 44-47
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Triads in 1st and 2nd inversion

5 In the following example you will practice the spacing of triads with the third or
fifth in the bass in four-part writing. In example b you will practice closed and
open position as well.

El Triads with the third in the bass — 1st inversion chords:

e Double the fifth or the root* — in those cases it is possible, double the melody
note at the octave in the manner shown in the first chord. Remember that you
may when necessary double at the unison, ie that two parts play the same
note; see p 53, eg 2.

D/Ff Em/G F/A GH  DmFF C/E BbD amic  Abc  EbG

[a)

7] T N

y 4 o O (o] 5o |

[ fan W O © PN s O 72X 8) T
A\SY © PPN

e [J O P

8
L o
oy &~ O o O
LI = © (o] o
7 o © () O
O ©

IEl Triads with the fifth in the bass — six-four chords:

e Add-asclose to the melody as possible — the two chord notes which together
with the melody form a complete triad. In this way the chord is spaced in
closed position and the fifth is doubled in four-part writing, which is also the
most common®*, Then, spread the chord by changing to open position.

D/A G/D F/C Am/E Bb/F
p  close open
¥ S Py T I
7/ © © o o O O [Py b
[ fanY © © O O il PO
A\SV
Y,
—©): S S o o)
7 © © O O
o o (o] (o]

* see also ‘Doubling the third for voice leading purposes’ on p 208.

** gee alternative under the heading ‘Double’ on p 53, eg 1.

Text book: Pages 52-53
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' Passing 9 and § chords

Add a bass part built on stepwise motion using passing § and § chords in the fol-
lowing music examples; see ‘First inversion in stepwise motion’ on p 46 (eg b) and
“The passing § chord’ on p 48.

e Except for the ending cadence, the bass should entirely consist of stepwise
motion and move in the same direction in both exercise a and b.

IV) (J7) as well as figured bass symbols.

2]

Shape the bass so it follows the rhythm of the chords.

Haydn: Sinfonia No 60, II

Andante stable ending
G D Em G C G G Am D7 G
VLI-2 |
h H > | —
" -] 7 —
[ fan g — — = P m— T '&F f T
\')\}  —; _.JL - — —o 5 o 3y . X‘{ _.t
1 - 3
p | — = |”
e OO, S )
j O S m—
L /—
3
Ve.&Ch.
G:
Figured bass: aﬂ;";ﬂ;’;é‘r')"" =

@ Use octave leap/repeated notes when necessary.

Haydn: Symphony No 31, IV

Moderato molto Em G A D A G D/A A D
Db Nia e # R
7 IV ) N T |- °
RS e e e EE e == N
) —_—~ = == A
4 ~
. [>) I
Wl A e ] I
DAL Y / I | ™
b S § } &
I stable ending with typical I
octave leaps *
D:
Figured bass:

* see ‘Hints’ on p 344.

Text book: Pages 46—49
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1-3 and 3—1 movement

if the 3—-1 movement works together with the melody — see below.

Add bass parts to the following phrases in order to practice passing third (1-3)
as well as 3—1 movement in the same manner as shown on p 35, eg 3. Determine

Hints

3-1 movement and the passing third (1-3) can sometimes be seen as alternatives to
one another. In one situation however the passing third may create parallel octaves
between the melody and bass — directly or indirectly. In this case, the 3-1 movement
can present an alternative solution (and vice versa):

F c7 Instead: F c7
hH 1 ; L ™1 .
YT ] T T T YT T T I T
b I = | ) 2 5 I T I o |
OGN e e =
D} o 0] o
. e * e r
< f 1 R - 1
v 1 T Va T T
1 > 3 3 o 1
bass moving
with melody in
octaves

As shown in the examples above, the 3rd in the bass is normally avoided if it occurs
in the melody.

Note that in some of the following examples, both alternatives are acceptable.

‘ Text book: Pages 46—47

D7 G Dm A7
Qﬁ | - ] i O N o ———— A
' | [ | ‘I I I 7 |er [\/ | I \[ I
S ® {@—“ J_J_J_i__d_
ot 9.
71 P |
Bb7 Eb E7 Am
QII’) K p— OE m
e "N a,et e s
A\SVJ v ﬁ_d_i # [ A\SVJ =| =|IH' 1 | |
1Y) o 'Y R
Fea RN olﬁl'
P P
Py
D7 Gm C7 F
Ol — — — I i |
e e e i i o o o ® | ® 4 @
Y} — — |
)
R—a
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' Bass part in a cadence

8 Expand the exercise of the passing third using an octave leap, increased activity
towards a cadence and filling.

. . rhythmic ‘push’
Hints: before the cadence

example of filling using the ar-

passing third octave leap peggiating 91 chord (the note G)
- 1 f r 1
. | l |
o P e d i = —
[ ] T T I 1N I |
I é I L—L IhY i)
C C/E Fé C/G G7 c
the passing third can be invert- the ‘fill’ can even
ed downwards when required occur ascending
1 1
|
| —]
[ ] ] T ]\
N 4

Even if the octave leap and rhythmic ‘push’ are common, they are not required
as arule!

El The rhythm in the first two examples in a) is identical with the example above.

G Cé G/D D7 G Am Dm Am/E E7 Am
952 } : -t ; : :
D/ i i i i i 1]

3 I i T I i i

Bb  Ebe BYF F7 Bb F B C7 F

[ — I I ] I I n
ey Do > i i o i i 7l
P N /- i i T i i i
P—f i i TP i i 1
descending \
passing 3rd

IE The bass movement above occurs also without the subdominant; see the intro-
ductory example as well as p 47, eg 2 (the ending, b 6-8).

GmB C C/G G7 C E/GE Am Am/E E7 Am

the rhythmic ‘push’ is
activated earlier

variation

Text book: Pages 44-47
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Writing bass parts

9 Werite a bass part for bassoon for the melody below (suitable range is approx. D
two octaves below middle C — middle C [D2-C4]). Assume an inner part that
complete the chords. Add Roman numerals according to your choice of bass notes.

e Suggested rhythms: |J ) Tand| d 2 lorl J |sometimes ﬁﬁﬁ( J\)
for increased activity:‘ LoDlorld DD

e Use passing 3rd, octave leap as well as patterns you practised in the preceding

exercise.
Mozart: Serenade No 12, IV (KV388)
OI!’) [ N.N " — o L — —
GvVoie Tt L [P e
o ——— — =
e 1 D)
(O P N 7}
DA ™ N /R
P—p—f
C I \Y% I A%
Gm Gm/D D7
A | Py P hw' e Uy P
Py | — a® i I
#FEP—-—P—F P—d i i i i i i [} 7
i i 1 — = I [ I I I | 4
A\SV i i i i ! ===
Py [m——— —
]
ST
N
Py

\_(
.
<
PN
|
Leln
o

NOTE!
(CD\ :
ST (D7/F8)
A | i | o o ® o @ o N
b | I | | r I Jl » 7P (7] \’\‘
'\S\u 2 I e | “i' —
) b o e
b | | Ll
|2y ] 1 I
7
ORI VIV
Ab
n | oy . Com'se)
. o ———
N s T e e e T G
A\SVJ | | | | | | | |
S}  m——— — R | 1
— T
e 2N
P
I A% I VI 1% v 1

Text book: Pages 44-47
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' The 3rd as a leading note approached by a leap

l O Write a bass part for cello for the melody below (suitable range is G two octaves
below middle C — middle C [G2-C4]). Assume an inner part that complete the
chords. Notate the bass part using half notes (interpreted as repeating eights; see b 1).

e Use 1st inversion chord for each chord symbol that is circled, while all the
other chords are in root position.

e Throughout the whole piece the bass leaps down to the 3rd in all 1st inversion
chords, except for bar 6-7 (AB—F), where it ascends chromatically; see p 46.

IV) (J7) and figured bass symbols.

Corelli: Christmas Concerto Op 6/8, IV
Chords in tremolo is used as an accompaniment

2
Tt
— (13
«©
o
m
.
W@
@]
3

A . NG
| B — N = Py -
A N N ¢ W — 2 . Z— y 2 4 ud y 2 ) [ —— 2
 fan WA S O/ D3 P . S— 3 > E—— f
A\SV P — A S—| < s @< P2 P s—
© & V f
. . | & simile
-« L pd i
ST — i Cd
P il . W b 7 i
P P =<
B 1
: . (root position 6 *
Figured bass: 1) pumber) 6 E
5
Nl N f 1 N | |
Y T T N | ] | | | |
N Y P~ I 2 P o ¥ y J w v 2
ANV D 7 v I PN v v & PN
A\SV + P < 1 <
Ca|
Cmmr
i |
P
1 2 I
Ab B> E> B> E>
3
A | T T
T ~ . i ~ 3 ] ——
AP [ — = I — 3 - — 2
s> i- N & hd N ® —
A\SV - o ¢ P . - P —
D -
o
&y
ST
Nl
Py

* indicates that the diatonic note Ab is raised; see ‘Figured bass’ on p 200.

Text book: Pages 44-47
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Dominant 7th chord in 1st and 3rd inversion

1 1 Play the chord progression below on the piano in all major/minor keys.
You can further develop this skill by playing them in other positions.

E o @ o
G7/B C G/F C/E
fa)

\J Py
7~ A [§]) Py [§]
[ fanY s | 24 =y
A\SV.§ O~ AR 24 ~ ¥
Py \ZASS O o
fa Y P
J O ~ [HrAX 0]
i P2 [§]

C: V¢ I \'8 I°

1 2 Resolve the following dominant 7th chords with the third (a) and the seventh
(b) in the bass.

e Add the two missing notes directly under the top part, in order to form a
complete 7th chord together with the bass note; see b 1. Resolve the chord
as shown in bars 1-2 in example a and b.

E Dominant 7th chord in 1st inversion (the third in the bass):

the dominant with the 7th in melody
all four notes f 1

G7/B C D7 Gm F7 Bb c7 F E7 Am  B7 E
A
v =y | Py
p 1 e [#) O by 7 O I
[ fanY o o O O T O O [P
o— o © PN o fo
Y

2.9
&3 = I
J O | O ~F . P O
i [#) by gy | P> 2

i I Py O PO P2 O i

ﬁ() ﬂ'

C: V8 1

@ Dominant 7th chord in 3rd inversion (the seventh in the bass):

the fifth in V7 leap down a fifth to the
fifth in the chord of resolution

all four notes

G7B C c7 Fm Ev A B¢ Eb D7 @ A7 D

o)
7 p=N
y 4 Y o) I ©
r~~—% Py o _ 7O i O O
SO— e Py O © bo o
M) o o | Po o
0 i O ¥
OO A ST 7] T - o . s
7 P P O i O o f
PO 170 DO Py ©
o
4 6
C: Vz 1

Text book: Pages 50-53
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 Increased tension in the first half of the second period — V3

13

Werite a bass part for the melody below and model the rhythm as shown in the
example. Add the relevant figured bass symbols to the Roman numerals accord-

ing to your choice of bass notes.

® Mozart only uses the root of the chords, apart from b 151-152, where he
introduces a dramatic effect by utilising the third inversion of the dominant
seventh chord which you practised in exercise 11b; see ‘Dramatisation created
by the 4 chord” on p 50, together with p 47, eg 3, b2 (C/BE).
Allegro Mozart: Haffner Serenade, Rondo, IV (K 250)
3
V1. 3 e
Wy, Lo, N o ® ap ;
Yy 4w o) | | | [ [ e il ) » |l ] | I h
W LV . | 1 [ [ I 1 | 1 | | | [ |
[ fan A b | I [ | b Y | [ |
A\SV ) 1 [ i) [ |
o
Ve.&Ch
i
" W A y 2 y 2 ¥ 2 ¥ 2
AR I/ & & & &
LA 3 € € € AS
e 1 A4 1
o e~ A s, e
4 o ® 0P o oo, PP, |
Yy w ¥ [ | | |l I ] I | | [ e I | | ¥ I ] |
Y . LA [ | | | | | | — [ [ I | | ] I [
N | | | — [ b [ [
A\SVJ - [ d
B
e B 2 2 P
: < < <
\'4 1 \& I

Hints preceding the exercises on the following page

It is common to avoid the root of the V7 in the bass within the phrase, in order to ‘save’ the
root for a final cadence and attain a stronger ending. One of the two leading notes of V7 —the
third or the seventh — can be placed in the bass.* Choose the alternative that matches the

melody — especially with regard to the note of resolution:

when the melody resolves to the
third of I, put the root in the bass,
which is preceded by the third in V7

when resolving to the root (or fifth) of
1, put the third in the bass, which is
preceded by the seventh in V7, but...

... in this example, the root can also
be preceded by the third in V7.

0 T | 0 —f s » O ——fr »
e p—o—— b | I I |- I I
[ (an W I Il Il [ {an W T T T

ALY ] Il Il A\SY.4 i A\RY.]

D} I I D) DY

> ~
raY ™y O S AN rayy Py
e o (O < Y S
L } T 14 v I [
3 - 1 7 - 3 3 > 1
6

F: V¢ 1 F: Vi 1 F: V§ I

* The fifth of the V7 chord can also be used, which will be dealt with later.

Text book: Pages 50-53
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Leading-note motion

1 Werite a bass part for the following melody to practice leading-note motion

while resolving the dominant seventh chord. This is explained in the hints on the

preceding page. Add the relevant figured bass symbols to the Roman numerals
according to your choice of bass notes.

e The technique can be used for all dominants containing the seventh — with
the exception of the cadences.*

* Haydn primarily uses the rhythm: JJ

Haydn: Sinfonia No. 66, III, Trio

Nl [ ] .
17 ) ] o 5
%Y ) P = - |
N7 — 1, ® 1o <4 ] ® ]
A\SVJ | ] 1 I I !
® yiiob | ! —
Bn. rp
1y S S
Lo I p > | ¥ ¥
bK< < <
Ve &Ch b
B v \4 I A
C7noY/G
T T
(<" — jud e
A\SVJ | | ] |
) : ! ] I
o —
L i J—
7 5 I
P |
vV V71 Ie A\ |
(VIIS/V)
, B Bh7
/—\ /"—\
A o I T~ /\Q
T+ . s > P j
[ £an W4 | 1 I ] e ] |
A\ ' ] ‘ I ] I
rS) " \
.«
ST ¥
R I
V7
\7A" VIV V 1 e, IV
13
n | ) o o
\Jy T 17 | — I’ I’ f — ¥
l\5 ) i i E——— O e B e e R F €
Py W u, N |
.«
()
75
\A I \& I e \Y I
Text book: Pages 50-53 * In the original score, the seventh appears in bars 9-12 in an inner voice.
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‘ The dominant seventh chord in 3rd inversion

Practise playing the chord progression below on the piano in all major and minor
keys. Both (a) and (b) are common in open position; see exercise 16b below.

1

In major and minor:

C G7/D C/E C G7/D C/E
[a)
g
y .4 [$)
N OO — e
A\SV — A AT OO — —— G
¢ S %+ | 8
10 10 140 10
| |
—©): | P o S —
,0 ........ lfl ¥0 ...... lfl
| |
C 1 vi 1° I vi 1°

also played in reverse order: 16 —V§—I

1 6 In the example below, resolve the dominant seventh chords with the fifth in the bass.

e Using the four notes of the seventh chord, add the two missing notes just

below the melody, so that the chord contains all the notes. Resolve the chord
in the way shown in bars 1-2 in example (a) and (b).

E Dominant seventh chord as a 3 chord (fifth in the bass):

all four notes

G7D C G7D C E7 Am D7 G Fi7 Bm c7 F
H
i |
5 (o) " L& 2 e Py bo
N & . - . P O ~F 1O ~F VT O
Lo e o P O
® @ &
® . Py
‘): o @ o © O o
7 © (o] © O 1o o
o T o ©
. 4 . .
@ Resolution of the V3 chord to I6 with an ascending seventh:
all four notes
G7/D CIE A7 Dm Cc7 F G7/D C/E D7 G B7 Em
. & P5
) o o o)
7 ¥ Py (o) ©—T O ©
p . P2y O 0O ~7 O ~ O
‘@—.7‘.7"7[;7 O — @i S
)
-t P o —T®
% & O © — Py O
O 17 Py
e

* The 1st and 2nd voices move in consecutive fifths (d5 — P5), which
is acceptable in this particular type of voice-leading; see p 186.

Text book: Pages 50-53
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Avoid V in root position in chord progression [-V—1

Hints preceding the exercises on the following pages

In exercise 14, you learnt how to avoid the root in the bass (especially in the V7 chord) within
the phrase. This will now be expanded to three chords, including the Vé chord. V7 in the
chord progression I-V7-I can either function as a neighbour chord or passing chord. This
creates stepwise motion in the bass (see also p 51, eg 1): ***

I Il
N T
I Voo 1 1I°vE 15 I Véd I 16 v§ad'l
Vv Vi (viré)
Examples 1 and 2 can also occur with the bass movement in the opposite direction.

The leading notes in the dominant may also enter via a leap:

vl 1 1 vi o1
or:V?
When the first and last notes are not the same, in this case the root and third of the chord
respectively, this forms an incomplete neighbouring movement, (see eg 5 and 6).
When choosing bass figures, consider the following:

e if the third of the tonic is in the melody, this note is usually not used in the bass.

e the melody and bass often create thirds, sixths, octaves and in the V7 chord, even the
tritone (or sometimes a ninth for increased tension).

e the melody and bass can move in parallel or contrary motion.
Despite what has been said above, there are many examples in the literature where the root

is used in the beginning or within the phrase, for example the bass in eg 3 on p 45 begins
with all the chords in root position (I-V7-I), which is quite common.

used by composers of the Classical period or later

B

indicates V7 with the root omitted, see p 54.

B

* another commonly-used method to avoid V in root position is by utilising a pedal point (see p 52),
which in this case means that V7 is played with the tonic in the bass:

230 Vil R r; ’_‘ﬁj Y

A 1 .
"X\ :L’."b’v‘ 3 .}‘ g : — Mozart: Piano concerto
ANV g2 3 ‘P ‘\ 5 No 22, I &

Lonl
[ =7
<
A =
kad

=1
&
N
n
N
N

Text book: Pages 50-53
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' Avoid V in root position in chord progression [-V7—1

1

instructed otherwise.

Werite the bass part in examples a-d. Use the bass figures notation shown on the
preceding page (1-6) with the intention of avoiding V in root position — unless

As a guide, certain exercises have been marked ‘stable’ if the root is in the

bass (see ‘Strong/weak endings’ as well as ‘Stable/unstable’ on p 44). All the
examples below begin with the root in the bass (‘stable’), which is the most
common - but not imperative.

The bass figures 1-6 can be combined so that the final note of one figure

provides the starting note for the next, as shown by the brackets.

Analyse using Roman numerals in exercises a-c.

E The bass follows the rhythm of the chords in example (a).

Allegro vivace

Mozart: Concerto in El’ for horn, Rondo (KV 495)

N Cm G7 cm  G7 cm Ab G
O |!7 Yo i f N f
. - ¢ — T ] T N ] —— T
 /an WA I I i N i ) i T T g
\SV g i NT® ot r pm g @ T ®
o o ol ﬁ"“ o o ¢ o

P
« rl
-\
DA P N
P
e — |
stable

b

Andante

In this example, the brackets sometimes indicate where the first and final chords
are not identical (b 3-4, C-E7-Am). Write the solution in a similar way.

C G7 C G C Dm/F G
1
Fa
| S— X ~
D) PN 7] ¥ | -7} N Y] Y7 T
N i A i N 1 1\ 1 [T 1 i/ I [
ANV §l (] A (] 7 P I
o S * >/ . v . . o
Vd
L () ] [7] 7] 7] 7] (7] N ! ; ud
i \}/ lil 1 7 I 7 7 1Y Ji [ [
" 17
Cc G7 C E7 Am F G
3
o \ \ \ \ A A
7 J N N N N Y Y
[ (Y] )] (Y] 1] (Y] |7 (Y] [ ] (Y] [ ] (Y] [
[ fan WP™| I P 1 & 1 " o i & I & i [
o L L i T
‘) 0] . 0] LY . . 0
) (
0 (7] (Y] (%] (7] 7] N (7] I
i i I I i I Y I [
s
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Beethoven: Piano Sonata, Op. 14 No. 2, II

Text book: Pages 50-53
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Avoid V in root position in chord progression I-V7—I

Note that the bass in b 2-3 is chosen in reference to the 2nd note of the melody
in the bar, because the 1st note is a nonharmonic note. Shape the bass so it fol-

lows the rhythm of the chords.

Allegretto " " :
sempre legato Ab Eb7 Ab Eb7 Ab
A1 ' [ |
Y P T M
O——4— 5 ——— ~ ! P
¢ ¢ v | | l i
pp
T ——
L — 3 1
s Ab EB7 A|7 Eb7 AI’
o M | ]
GRS
—_—
Comn -
i
7 51
P p

Schubert avoids the dominant in root position for the
whole section, not even at the end of the phrase (b 7-8),
which is unusual.

Shape the bass using the rhythm below the staff.

Schubert: Impromptu, D. 935

Agnos

Adag}“’ E B7 E B7 EBElB B7E BZEA B
49—%{#14—% %L ——— N

! | [y & & I
bt jde T et e

) ~ oot 7

P

s
W O PR

/‘%IH

stable stable

Beethoven: Piano Sonata No. 3, II

Text book: Pages 50-53
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' Avoid V in root position — double-neighbour chord

Hints preceding the exercises on the following pages

V7 in the chord progression I-V7-I can be expanded so that it appears in two inversions.
Both halves I-V7 and V7-I can be interpreted as ‘question and answer’ in a melody.* The
dominant acts here as a complete or incomplete double-neighbour chord, see eg 7-8 and
9-11 respectively.

= i\ T T H
T 1)
I vl vl I ve vl I Vi vi I¢
" ve V¢ vé
(VILs) (VII6)
(19) (1)
ya | } |,J } Tt } 1‘ - | il
F O UI =i : )er Hif)la }A‘ 0‘ H
T 1T T —
I vi Vi 16 1€ vi vé 1
\&
(VIL$)

The following bass figures often utilises variations of the above, but moving to the root in
V7 makes it somewhat stronger:

o) | i T | —1 i T ] il
F O T T T T T 1T T =i T T T I
~ e e——r ——=—
I ve v’ o1 1 vy v
V¢ \4

Another variation of the above that is often used is transforming I-V7-I to I-II-V7-I. The
bass is written so that the tonic note is retained when II enters, which creates a‘g‘ chord with

a resolution down to the third of V7.

Choir

3

[ LN~ S~ Jart: Av
6 £ 7 B P IV P S F s oo u verm o
h ir i
O P ETRRIDEL ] iy
strings

N Jd ) N I

e - —r 7—p —

[ 1 1 [ 1 | | 1

D: 1 16 & 1

* Although the rhythmic division according to the ‘question/answer’ pat-
tern above is common, the tonic can also be introduced when the bass
moves from the root to the third in eg 7, 10 and 13. This changes the
emphasis; see p 45, eg 2.

Text book: Pages 50-53
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Avoid V in root position — double-neighbour chord

1

Write a bass part for the following examples using the rhythms as shown in the
score. Use the bass figures (7-13) notated on the preceding page with the inten-
tion of avoiding V in root position. Analyse the chords using Roman numerals.

Haydn: Symphony No. 44,
Allegro con brio

Em B7 Em
V1.
LA 3 ~ P |
y, i € f . o } — o —
o HE S I S SO B I T S Y R R
PS) g ® [ ®*fe o g —
L] “
L S ¢ y 2
Z ! A W] &
€
Ve.&Chb.
) SN o o | - o
Y or AR
-
repeated notes
Haydn: Symphony No. 89, IV
Vivace assai F c7 F
— . .
1 o
i oo o o f F F ]|.- i \"r_ T\._ ﬁ
y | I I 1 | I | | I— "4 [7]
{rs—7— 7 T T Lot — — 1 7
& 74— T
S Sz
. L) JEN N N N
| A & Y 2 ¥ 2 ¥ 2
L h B e PN PN PN
P24 € € € €

Use the alternative found in ‘Ave, verum corpus’ by Mozart on the previous page

(the last music example in ‘Hints’).

Haydn: String quartet, Op. 20 No. 5, III

Adagio TN —— —— — S
m ‘r . T T .
0 s o I | l I - P | ——
: ® o @ o o~ ®
A\SY, o)
¢
raY] o P— Py
y O @ ot
Z 5 Q] 1 T
O] r— v

staccato

\

continue using the same
rhythm, with repeated notes

Text book: Pages 50-53
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| Double-neighbour chord — stepwise bass

1

2]

Write bass parts for exercises a-b, using the technique you practised in the pre-
ceding exercise.

e ‘Dramatise’ the first half of the second period (b 5-8 in both examples) in two
different ways:

A more gentle way, starting on the third of the tonic, as well as an ascending
bass, cf “The 1st inversion chord as a method of dramatisation’ on p 189.

Haydn uses this rhythm more or less constantly | ¢ J 1 ¢ |

Haydn: Symphony No. 88, II

Largo
N _# P! | | Qfﬁ |
7 - S— T — Py I — { ot i
A
) ‘ : ¥
OO S }
G’ 3V I J
D R /.
t—4—=<
D: 1 A\ I
5 — (E7)
N # T e » . y
” A — ud I ] x'—P_F o
y S - | | ] — [ ) [ . S ¥ B—
{rs—t— I i ‘ — | i ] { 1 0 7
A\SV, | t ——— \ Vl/ "4
o } — ! ¥ !
—_— Sz P —— )
ﬂzlﬂﬁ
¥
I v viivvg I3 I

A more dramatic way, starting on the V3 chord, as well as a falling bass (see
‘Dramatisation created by the 3 ch(jrd’ on p 50 together with eg 3 on p 47).
At first, Mozart uses the rhythm: | ¢ & ¥ | then provides a contrast in bars 5-6

using longer note values with legato phrasing.
Mozart: Divertimento No 13, Trio (KV 253)

1 Ob.

- — . .
0 b o3 . _ . » o re 2 f Pee
2 o | @@ i — o "4 1 =
/. WA /S N D N A 7 [ f |
A\SY - 7 — 14 7 ‘
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sempre p
Bn.
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Ly IA
d k> 3
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5y — @ ® @  —— I T @ b AN |

[ £an N4 N | | ] | | [ "4 | L AL = &
ANSVJ N | |74 | [ L4 | | |
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]

CE?)

=Y

V
7 7 _
Vi W Vi, v e Vi oo

Text book: Pages 50-53






CHAPTER 3 |

8-7 motion

20

21

Practise playing the chord progression below on the piano in all major and minor
keys. You have already encountered 8-7 motion arising from the dominant chord,
which is notated in eg (a) and (c). However, in eg (b) and (d), the motion arises
from I in major and minor respectively.

E @
G GF CE c CB Am G GF cmeb Cm CcmBb  Ab
A |
\J 17
.. O K S ] (9] Hh 1 TP N § ] O
N )24 O O (8] v L 24 O O (8]
{58 o 8 o o
D) © © S ©
3] 17} i f 1 17} I i
O Il | O i [ [ | |d S ¢ ] Il )i
1 I [#) =i by | I I [#) <
1 I O V¥ 1 | O
v v | CR ¢ V Vi o gt 1 13w

Werite a bass part for the following Handel extract, which consists of a melody
accompanied by a continuo group. Note that the melody and bass function as
two-part writing — which differs from four-part writing technique.

e Use the 8-7 motion you practised in the previous exercise wherever possible in
this exercise.* The note of resolution creates a third or sixth with the melody,
which guarantees a full sound.

e Use 1-3 or 3-1 motion to attain fullness of tone between the melody and bass.

e Handel uses this rhythm throughout the piece: J -b .

Handel: Aria No 36, ‘“The Messiah’

Larghett
arghetio Gm  DSuSp7 Gm DSus D Gm c F Bb
VL. 1 o
f Llr) , ) B ——— -'rl ! { - ] N - £ i ————N
les?—Q 1 1® . o o 05 o
A\SY o "4 i - D} ‘
) ' " — v
: -
A N« B -
P i
B —
C;I?[Si?lua 4-3inthe
bass
; Eb cm D Gm GmDD Gm
A | N A
AP = #F N[ f o Tpo = N <
e T e e e e
Py) il T \ o _
@
— £ .
e /) > i y Z—
Z 5 14 b i
\
‘normal’ phrase ending
with an octave leap
Text book: Pages 50-53 * the original score uses 5-7 instead of 8-7 in the 2nd chord of b 1.
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‘ 8-7 motion

2 2 In the next music example, write a bass part for cello and double bass (sounding
an octave apart). Haydn uses a relatively high register for the bass part (Eb below
middle C - Eb above middle C, with the exception of Ab in the last bar).

e Use S-Z gnotion for all the dominant chords with the seventh —including V-V7
and V43,

e To complement the rhythm of the melody, Haydn uses:

in bars with little activity (including repeated notes in b 16) PRy

— often as stepwise movement (1-3 or 3-1 with a passing note, eg in F minor:
F-G-Ab or in reverse AIJ-G—F).

in bars with activity in the melody: | JJ lunless instructed otherwise

(b 15-18).
Haydn: Symphony No. 49, III
1 VLI-2
A | e T
N ) e @ T+ T T % o |
O— 4 . — Ldigﬁj—(‘—F e
T T I Ny .
S P
S LT
If/‘ [ I
£ 1 v v - V1 \Y I
. Bbm  BPm/Db
A | T |
Y T b | N N \ Py | | N N
P 1 | 2 | y 2 y 2 (7K » e - al | y 2 y 2
NV D o PN PN | | | = v [ ] é é
\\U w AY AY } l 1 i -
S
: i | I -\'
e
vV - VI IV n v - v’ I
NOTE!
11
A |
#ﬁf ™~ P — y £ e _ @ ]
(&) — r ‘ — < I e R e
.) — I | I

3
)

e

7 d
vV }
\Y I v - V7 1 e 16
15
A | | | | |
A5 — —— ] ] ~ ‘i' —
77 i —— = i c—=¢
Py) | - | 1
€3 [ 1
Je 1T
DA =N
V—1y
8 - 8§ - 7
me  ve -3 1 me Vs - 5 I
4 - 4 - 3

‘normal’ cadence in the bass + filling

Text book: Pages 50-53





CHAPTER 3 |

Writing bass parts

2 3 Write bass parts for the following melodies:

C. M. Bellman: Epistle No 67, p 324.
Gluck: ‘Musette’, p 319.
Heinrich Koch: Minuet, p 325.

Text book: Pages 50-53

359



360

| Composition

24 Compose melodies including a bass part:

2]

Compose two melodies and add a bass part. As a model for the two exercises
you can use practice examples 19 a and b on p 356. Use for each composition
the following guide lines:

e a noncadential introduction (I-V7-V7-I)
e ‘dramatise’ the first half of the second period using:
composition 1: an ascending bass starting on the 3rd of the tonic

composition 2: the 4 chord based on V7 or V7/IV

Use stepwise/chromatic motion in the bass in a composition for piano. Utilise
techniques in the way you practised in the exercises 6a-b och 20. It is important
to add one or more inner parts in order to get a complete sound when playing the
melody and bass.

Compose a melody including a bass part using 8-7 motion as well as 1-3 or 3-1
motion — with or without a passing note. Write the composition as a melody
accompanied by a continuo group with the melody and bass functioning as
two-part writing; see p 357 exercise 21 (also 22). Use the same instruments as
in exercise 21.



CHAPTER 3 |

Incomplete dominant

2 Name the root of each of these incomplete dominant 7th chords, with respect

to the following chord of resolution, see p 55, eg 1:

Df° - Em Ffo - Gm GEe - Am
D - Eb G° - Ab E° - Fm
cfe-pD A°—Bb Af°-Bm

Hints preceding the exercises on the following pages

Below follows a summary of basic voice leading principles of the Vg (VII) chord. On
the following pages you will be working with all steps in detail:

the 3rd in melody resolves almost without exception by step

voices containing the doubled note —the 5th or 7th —resolve stepwise in contrary
motion (can also move by leap, see below)

to achieve a complete triad in I, the 7th rises when the 5th is doubled
in order for both the 3rd and 7th to be resolved correctly as leading notes require

doubling of the 7th
incomplete chord of resolution
leap in an inner part; see next point

the parts in the incomplete dominant 7th chord usually move by step to the
chord of resolution. However, similar to the resolution of the V7 an inner voice
can move by leap, eg

from the 5th in V9 (VII) to the 5thin I

from the 3th in Vg (VII) down to the 5thin I

resolving the incomplete dominant to I in root position:

the inner parts often move in parallel with the melody in close or open position
when the 3rd is in the melody

resolving the incomplete dominant to I in 1st inversion:

the 7th often ascends, but can also descend resulting in a doubled third

the consecutive 5th (d5-P5) occurring when the 7th in the melody rises to the
5thinTis accepted (the melody and the bass move in parallel 10th); see ‘Perfect
5th — diminished 5th and vice versa’ on p 186.

Text book: Pages 54-55
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' Resolution of the incomplete dominant 7th chord

2 6 THE INCOMPLETE DOMINANT 7% CHORD WITH THE STH IN THE BASS

The 3rd in melody and doubling of the Sth (bass note):

¢ Add the two missing notes directly under the top part, so that the upper three
notes form a dominant 7th chord with the root omitted. This will result in
a doubling of the bass — ie the 5th — which is the most common. Most often
the seventh rises to the 5th of the chord of resolution.

G7mot ¢ A7not  Dm  Ebznot  Ab g7not Emyab F7not BbD
(C/E)
A C/E
¥ ] i o } I
N O O O 1< ~7 | by
e - - had Py PO O i
% ...... —o—-o © PN 8
o ® g
L P O O S T ; ; S
Z ~ O - =~ h o | | O =~
i PO o 70
cve 10I°
(VII®)

E The 3rd or 7th in melody and the doubling of the 7th:

e When the 7th is doubled one of the 7ths continues to its natural resolution,
while the other will move freely to the 5th in the chord of resolution. If the
7th is in the melody this solution is most often preferred.

G7mol C(E) G771 C(E) D7M1 Gm C7mol F/A E7nol  Am Bbynol gD

H |
o O b I !
t5—S Y Py A4 8] o [e) X0 ) P
----- - 0 Py %0 o I”U O
'Y e &
o o
— — £
g = O .
—©): ° (o 0'111 A X 8 )
[e) © [e)

0

the root or the 3rd can be
used in the bass without
changing the upper parts

The 5th in melody as well as the doubling of this:

¢ Add the two missing notes directly under the top part, so that the upper three

notes form a dominant 7th chord with the root omitted. For a complete triad

in I allow the 7th ascend, except for the last example where a descending 7th
can be used, resulting in a doubled third.

doubling of the 3rd in I

G7me1 ¢ G7mel G/E B7mel Em  D7nel G/B Eb7nol Abic Fiznot Bm

)

y I .

/o1& ) SN o7 ) o | 1o o
[ (an Wi d Py O Py PO —Tpo
\;BJ o —© ©

e 2% @2

—€): o

o Pey O ¥ 0o I ¥

7 © o © i PN bo o 1 fo PN

O © PO 1 ©

Text book: Pages 54-55
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CHAPTER 3 |

Resolution of the incomplete dominant 7th chord

@ VOICE LEADING USED TO A LESSER EXTENT

The 3rd in melody and resolution of both leading notes:

e Bars 1-6: In order to achieve a correct resolution of the 7th, the doubled 5th
leaps to the fifth in the chord of resolution.

The 7th in melody rising to the 5th in I (the bass moves to 16):

e Bars 7-12: The 7th is doubled and resolves down to the 3rd in I, which gives
rise to doubling of the 3rd (or by leap to the root in I). The acceptable con-
secutive Sth (d5-P5) that occurs can be camouflaged by the complete sound
of the three voices moving in parallel 1st inversion chord (including bass and

melody in 10th).*

G7M01 G/E  F7not Bbm  Bh7not Eb G7not G/E C7not F/A A7MO1 DmiF
) |
\J | O PO [
7 O O h-o ~ b o [
o o | o — P o o 1O
% ..... —~ o—o °
'_ e, o '
.. d5 P? (@)
o o | ot Hho T & —e0 - — o [ ©
=~ I ] O IF)O e
C: vy 1 A2
6 6
(VII ) (VH ) can also occur with the
root in the bass *
2 Play the cadences below containing the incomplete dominant chord on the piano
in all major/minor keys.
Am D7nm01 G C D7nel G C D7nmol G
L) ‘ |
\y W | | I I |
7 w | | | | | | O
[ £an | | Py | | O = 7) =4
ARV = 7 © = [ BN houd = [ 2 ©r
Py S - O f f ...... O r |
L o et e ) | ,J ..... O ‘J 19[ """" o
o —
e ' [#) (7]
© © i ‘0 © i |9 ©
n vy 1 v V¢ I v ve I
(VII®) (VII®) (VIL®)
Analysis in C major: VI Vg/V v I V2/V v 1 Vg/V A\

(at the tonicisation
of the dominant)

The chord progression is often used at the tonicisation of the dominant shown

in the 2nd row above.

* see ‘Perfect Sth — diminished Sth and vice versa’ on p 186.

Text book: Pages 54-55

363



 Resolution of the incomplete dominant 7th chord

2 Use in the following music examples a suitable cadence you practised in the
previous exercise.

@ e Notate in 4-part harmony:

25 TN e
A | | | | | , |
7 S | | | | | | | |
& a = | I | |
jéﬁ hd 14 77 i i 7]
7 7] 7] & i
Y | | \
PN F§ é °
. | | =
e | S | | | I
LA — I

Schumann: ‘Ein Choral’, Album fiir die Jugend, Op 68
(Original C major)

@ e Use the cadence formula at the tonicisation of V.

|
3

9
.

A
g

Haydn: Symphony No 54, III, Trio

e Complete the broken chords in vl 2 and vla and use the cadence formula at

the tonicisation of the dominant.

N . ——
VI.1-2 D
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Text book: Pages 54-55
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CHAPTER 3 |

Analysis

2 9 Analyse the harmony of the following music examples:

Schumann: Album fur die Jugend, ‘Soldatenmarsch’
Schumann: Album fiir die Jugend, ‘Ein Choral’
Mozart: The Magic Flute, Aria No 2, ‘Der Vogelfianger bin ich ja’

Text book: Pages 54-55
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Chﬂp te7’4 Expanding I and V7

1 Practise playing the chord progression below on the piano in all minor keys up
to 2 sharps and 4 flats. Increase the number of sharps and flats later, so that you
will be able to master all the minor keys.

Voicings can be found on p 59, eg 3 “Turn-around in C minor’.
I-VI-IV-V7-1
(alternatively, I - VI - 116 — V7 — T can be used, see p 373, exercise 4b)

Also practise playing the chord progressions starting from the tonic chord with

the third/fifth in the melody.

Hints preceding the exercises on the following pages

The notes which I, IV and V7 have in common with other chords functions provide
the basis for harmonic variation. The mode of application is the same as in major.

E the 1st and 3rd degrees of the scale
Cm A

n | *

YT n

y AT 17 & |
D7 o (L —
A\§V b2 4 o o __® (%7 1l

D) S 8 o @

I V1
Fm6 the 2nd and 4th degrees of the scale
DmSF  Dm7YSF a7 .

O T lf) Py i
y S| L4 [ 9,54 8 b @ 1
[ fan W) 7] o] 4O o () 1® 1l
A\ 7 ] 8] ire) o © pa— 1l
D) — e O °

o
e ¢ V7

116 is nearly always used in 1st inversion, while II7 occurs in all inversions.

* the notes in brackets also function well in melodic movement. Chords IV, II and VI often have
added notes, especially at a cadence, for example in C minor: Fmé, Fm7 or Al76, A|7A7, see p 74.

Text book: Pages 58-61
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CHAPTER 4 ‘

Secondary chords in minor — VI

2 Harmonize music examples a-b. Use the primary triads, as well as VI (or other

chords).

e Read ‘Hints’ on the preceding page, as well as the information on secondary
triads in the textbook (p 58).

® You can work in two alternative ways to prepare for the exercises:

1. First do the technical exercises I a-b and II a-d starting on p 370, as
preparatory work.

2. Harmonize the melodies, using the tips below as necessary.

A7) (1v) ([3

1T

Schubert: Sechzehn Deutsche Tinze Op. 33 No. 10

the former is a
neighbour note,
while the latter is a
reaching note *

IF YOU NEED HELP

...with sections marked with numbers @ — @:

@ The 1st or 3rd degree of the scale, see ‘Hints” on the preceding page.

6-5
@ V33 cadence.

* alternatively the note D§ can be interpreted as a note of the chord, see subV7/V’ on p 114.

Text book: Pages 58—61
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| Expansion of I and V7 (116, I1¢ and VI)

@ Lullaby

N | | e | — ‘ —_—
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.) [ J
4 ®
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 fan i p.3 - ™

A\SVJ & o AY |

o d . d
7 ©)

h — p——

7 - f ) s B A B T e— —
y S ma— S S O S NS S f 0, [ Teee—— \

10 (@) ®
A T re— f I | \ \ i —— T i |
4 —— i i |
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Norwegian/Swedish folk song

® Technical exercise [a-b (especially b) together with Ila-d on the following pages. Also
study ‘Hints’ on p 366 — in particular the footnote regarding ‘added notes’ in VL.

Remember that the technical exercises are general.

@ (Advanced tips: II7 in root position (see eg b in the left column on p 60), there
. S . . 6-3
is an implied continuation to V7 or V43.

® If you have chosen to harmonize the last part of bar 11 using A7 (for alternative
solutions, see @) this chord can be suspended in the final bar, ie A7/D-Dm.

Text book: Pages 58—61




CHAPTER 4 ‘

Secondary triads in a minor key

3 Harmonize the Schumann example below. Use primary triads as well as second-
ary triads.

e Read “Use of Il and PVIT’ on p 60 (PVII = V/III).

e Harmonic rhythm: eighth notes as well as quarter notes.

A7) (1v) (13

Schumann: ‘Armes Weisenkind’, Album fiir die Jugend
Original: A minor

Langsam ®

1 2
3 /\
A | o [ v——""q N
i " : = e D e s |
[ fan W i [ ) P ﬁ': . ®
A\SY) i P A T
Q) v il
Fine
6
0 ||r) r ) I — N ]
Py ] f e Py ) g |
#@ e \ i T ud
i \ p— 1 i . T R
') L_r [ ———— 7
s Langsamer
O ||r) - - > — ]
T+ ° — s |
'y \ ‘

D.C. al Fine

@ The 3rd-4th-5th degrees of the scale: Complete the technical exercise III on
p 372 (only some sections are directly applicable).

Text book: Pages 58—61

369




 Technical exercises: Expansion of I and V7 (116, I1$ and VI)

I Which alternative chord can you use instead of IV in these chord progressions?
See ‘Substitute chords — VI’ on p 58.

E cm Fm  Cm/G G7 cm

E<_

Dm

9]

m Dm/A A7 Dm

D+

Gm Cm Gm/D D7 Gm

Em m Em/B B7 Em

D¢>E%

@ How can I and V7 be varied in the chord progressions below, so that the har-
monic rhythm increases? See ‘Substitute chords — VI’ on p 58 and ‘Expanding
V7 to II$/116-V7’ on p 60. Write both alternatives, II$ and 116, as shown in the
first example.

| V7 |
N e N,
Am Am E7 E7 Am
Y Y
can become: ~ Am ‘ Dmé6 ‘ ‘ E7 ‘ Am

Dmenob

Bm Bm Fi7 Fi7 Bm

can become: ~ Bm |:| ‘ ‘ ‘ ‘ Bm

Fm Fm c7 Cc7 Fm

can become: ~ Fm |:| ‘ ‘ ‘ ‘ Fm

‘ Text book: Pages 58-61
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CHAPTER 4 ‘

Technical exercises: Expansion of I and V7 (116, I1¢ and VI)

Before starting the following exercises, it would be an advantage if you worked in
parallel by playing the cadences included in exercises 4a and b on p 373.

II In the music examples a-d, expand the harmony by varying V7 and I-V7 in the
same way as in eg Ib on the preceding page and the hints in the box on p 366.

e Develop the harmony given in ‘Level 1°, notating it in the ‘Level 2’ boxes.

A7) ([3

Level 1: I \' 1

El Level 2: D D

Ziemlich schnell

Ich such im  Schnee ver - ge - bens nach ih - rer  Trit - te Spur,

WO sie  an mei - nem Ar - me durch - strich  die gri - ne Flur,

Schubert: ‘Erstarrung’, Winterreise Op. 89 No. 4

IEI Level 1: 1 V7 I
Level 2: ‘

Moderato
29
7 . T i T S — I T N I —
G e— e
<€ - o I e o —
P

Haydn: Sinfonia No. 53, IV
Haydn varies the bass notes on the 3rd beat in bars 29 and 31, while all the
other chords are in root position. Notate your suggestions for the bass notes in
the bars indicated.

e Use a turn-around to give weight at the end of a phrase:

I v7 |
Andante o .
Em Am Em/G B7n01/F} ’ ‘ ’ ‘
12 3 r
(4 Em— — ‘
e e e =
H—ea; L= et

Haydn: Symphony No. 4, 1
Original: D minor

Text book: Pages 58—61
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| Technical exercises: Expansion of I and V7 — Secondary dominants

@ e Use a turn-around to give weight at the end of a phrase:

I V7 I
Bb D7/F} ‘ ‘
11

Nl | ,
Y 177 Py [ | | i |
6 b F F = | | | i |
~ [ = i |
A\SVJ | | | [ el i |

[y ‘ ‘ ! N

J. S. Bach: ‘Christ lag in Todesbanden’ Cantata No. 4
Original: E minor

III Harmonize the melody below to practice using secondary dominants in a minor
key, as well as harmonizing the 3rd-4th-5th degrees of the scale, see p 60.

A7 I\Y%

® Write the example in 4-part harmony (close position*), with the root in the
bass moving in contrary motion with the melody, using register transfer (an
ascending octave leap in this case) as necessary.

* Notate the secondary dominants in the boxes, with respect to the chords
written above.

e V as a minor triad is written VI?.

Cm /’ EB /’ Gm / BE Carl Maria von Weber:

‘Der Freischiitz’, Overture

Molto vivace
va . . = =
77 8 . .. . . . =
N | , , | | | | |
17— " ; T i i I i i i
e e e e e =
| PE
‘ |
b 1 '
€ B e

* See p 12 (the augmented interval that occurs in the second voice in bar 78 is found in Weber’s original score).

Text book: Pages 58-61
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CHAPTER 4 ‘

Cadences in a minor key (116, I1¢ and V7/V)

4 Practise playing the cadences below on the piano in all minor keys up to 2 sharps
and 4 flats. Increase the number of sharps and flats later, so that you will be able
to master all the minor keys.

El cadences using II7or V7/V (both in first inversion).*

the dissonance M2 is

the seventh formed with resolution to m3

is prepared the seventh is prepared
Cmé6
Gm\(Am7b%c)/D D7 Gm Gm \ A7ck D D7  Gm
Nl | | | |
7 I —) ] i i
— F\ 7 [ = = L | = =
j@ﬁ’ 7 — o oo s = 7 —" Pe——
Py r F """ # g ‘Lij r qF f q 8 -
alt.
‘ r ;lfe;olu- r
%Y 1) 4 i ) 4
P i o i t i S
ot | © | o
g 1 m¢ vs-7 I I vé  vs-7 g
~— Y

IEl cadences using 116 or 116~V §:3.**

Note that the voice-leading of 116 continuing directly to V7 (bar 1) is different
from the corresponding chord progression in a major key (compare p 331). This
is because in a minor key, voice-leading from a descending to an ascending lead-
ing note is avoided (see ‘II6 och 1%, p 62).

the 6th degree of the scale descends

(AmP5/0)
nos no5s no5
Gm Cmé D7 Gm GmCmé Gm/D D7 Gm Gm Cm6 Gm/D D7 Gm
A || | [
Y T T I I
e o 4 o
Py [ L= 2 ¢ e e |[* U= 2 83
Co| | (@) | |
i 7 4 - 2 T I I
v P I O o I | O o | | Py
o ‘ o o ‘ = © o | = [e)
8 -7 §-7
g: 1 [IY v’ I I 16 Vg - § I I 16 Vg - g I

|

the bass with an
octave leap or a
repeated note

* using chord symbols, the first inversion of 117 is written as IV
with an added sixth (in G minor: Cm6).
**116 is written Am~=5/C or Cm6noS,

Text book: Pages 62—63

373



| Cadences in a minor key (116, I11$) — Tonicisation

5 Harmonize the melodies a-b below and on the next page to practice cadences
and tonicisation. (A7) (IV) (J3

e Read ‘Cadences in a minor key’ on p 62 and ‘Tonicisation in a minor key’ on
p 64 in the textbook.
e As before, you can work in two alternate ways:
1. First do the technical exercises IV a-d and V a-c, starting on p 376, as
preparatory work.
2. Harmonize the melodies, using the tips below as necessary.

IE' Harmonic rhythm: change chords every other bar, or every bar, or sometimes on
each quarter note. (It is possible for a chord to continue for more than two bars.)

can be interpreted as a nonharmonic note (reaching note)

9 ‘ @)
n#
1 A S s S W W : [ ———T T — ]
A R S f D O B B 2 o T — |
1 f o 1 ] |
gl i i | i \
hd 1 | §e
s, , ® ®
n 4 o | | | | pr—
Y ] Py T | IS A N A | I 1 | NS NS A SN A N N SN S N N 1 T ]

]
Y p— T T T e— T  —— T ]
f I T T —— I — 1 1  —— r ) o T |
I —— T —  —— 1 —® T |
o T T | ]
hd T T v
28
n# * it is possible to resolve the dominant as
AV . ] ) T T Y Il | . N .
y | ) o T —1 1l | an deceptive cadence (B7-C), see ‘Deceptive
[ fanY I 1 | I 1 1 | . N
\J} & I I i ﬁ.l 4 1 | cadence leading to the 6th degree’ on p 80.

C. M. Bellman: ‘Minore’ Epistle No 73 (2nd section)
@ See ‘Hints’ on p 366, the 1st or 3rd degree of the scale (expansion of I).
@ Technical exercises IVa-d and Va-c, starting on p 376.

® Determine the goal of the phrase, and prepare this with the appropriate secondary
dominant, see “Tonicisation of IV, V, VI and bVIT (also applicable to III) on p 64.

Remember that the technical exercises are general.

Text book: Pages 62-65
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CHAPTER 4 ‘

Cadences in a minor key (110, 11$) — Tonicisation

IE Note that the chorale below is in a major key. This example will give you practice
in changing between a major key and its relative minor, cf eg 2 on p 65. The
changes are closer together in that example.

(G)

>
®

P,
K
T

1i
T®
e
1T
N

|

™
HEL )
T

T

S
L
N S
17T

i

‘Herr Christ, der ein'ge Gott's Sohn’
(J. S. Bach BWV 164)

@ Cadence, see p 373 (eg a).

® Choose a goal for the phrase. Starting with the key of G minor, tonicisation can
occur via a circle of fifths (see p 382, exercise 8, No. 3 or the music example in the
right column on p 64).*

® Starting from Bb, descending thirds can be used (eg 2 on p 37 including II).

@ Choose a goal for the phrase. Exercise 8, No. 1-4 (especially No. 2), in connection
with the technical exercise VII, will give you hints on how to modulate from a major
key to the relative minor (starting on p 382).

* The chord of Bb is the goal of the cycle of fifths,
which can be in first inversion in order to ‘save’ root
position for the fermata in b 4.

Text book: Pages 62—65
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| Technical exercises: Cadences in a minor key

Choose one of the cadences, which you have practiced in exercise 4 on p 373,
to finish the phrases a-d below. Complete the given piece by adding a bass and
two inner voices.

IV

e Choose the type of cadence you prefer if several alternatives are possible.

6-S - . .
® Note that V43 in the example is regarded as two chords (two boxes), despite
the fact that §3 is a decoration of one chord.

e Choose between the following cadential alternatives — notated in C minor in
this example:

Fmé6 - G(7) - Cm
FménoS — (Cm/G-) G7 - Cm
D7/F4 - G(7) - Cm (can be omitted)
! ~
A | | , [remmaay -
v | | [ | [ [ y
E @ E | [ [ [ ‘J I I
- o |
o T v
)y . S } .
DA "N o b1y P el [ ]
4 [ hif [ 'II
\ [ \
J. S. Bach: “Vater unser im Himmelreich’, BWV 102
(transposed up a major 2nd)
Mark with a tie if the note of preparation has been *
used. This applies to all the examples. ‘ ‘
R ~
n 4 | | . .
i —
o — 2, 4
Fr i -
Py
N
| T~ ]
J. S. Bach: Cantata No. 4, ‘Christ lag in Todesbanden’
N
- | | . —
™ \ o o \
{rN r b b (2K
A\SVJ - Py I
ST

.

L

J. S. Bach: Chorale No. 88

* finish with the major tonic, called the Picardy third,
which was common in the Baroque period, see p 88.

Text book: Pages 62-63




CHAPTER 4 ‘

Technical exercises: Cadences in a minor key

C

J. S. Bach: St. John’s Passion, No. 7, last phrase

Werite cadences using the formulae you practiced on the preceding page.

* Note that the melody in the cadences also contains nonharmonic notes which
is resolved down to a note of the chord. Identify the nonharmonic notes, using

standard abbreviations (app., s. etc).

A7) (]I
A7 Bm
Allegretto
v 7 | ‘

I - T [ Pe—— i
e e e
A\SV ] - i 7 & [ ] @ P \ i -
Py, T I ~ N ® o i

S Sz
Haydn: Symphony No. 52, III Transposed
GIF Cm/E> Cm GmBb ‘ H ‘

Andante

Beethoven: Piano Sonata No. 19, 1

cm/eb Db/F G°7 Fm/Ab ‘ ‘ ‘
Allegretto
85
A | I | - 4 - i
1 1 —F ® @
N — —— 72— 9 ——
\SV, ! S~ %:‘:s 74 -

Mozart: ‘Komm an mein Herz’ Konzert-Arie (KV 374)

Text book: Pages 62-63

* see footnote on the preceding page.
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' Cadences in a minor key — chords based on the 6th degree

6 Practise playing the chord progression 1-7 below on the piano in all minor keys
up to 2 sharps and 4 flats. Increase the number of sharps and flats later, so that
you will be able to master all the minor keys.

Hints preceding the exercises on the following pages

A particular type of voice-leading is necessary when connecting IV6 or VI to V, to avoid:

1) consecutive fifths and octaves 2) moving from the flattened 6th to the sharpened 7th (A2).

The following principles are applicable to four-partvoice-leading in all examples below:

1. First notate the bass.

2. Write the part that moves in parallel tenths or thirds with the bass - if this is not already
in the melody, as ineg 1.

Applicable when using VI:

3. Add the parts so that VI is a complete triad with the third doubled as a unison or an
octave.

4, The two voices that do not participate in the basic movement in parallel, rise to the
nearest root and fifth respectively.

unison doubled third

F E Am F E Am
A @ | @ I |
y.a ] — a—— o)
6&— & S — 8
o ? i "
|parﬁ:lel F r 61 J
lenths
A B ERENE
e * 7
T T T T
T T T
a: VI v I VI v I

octave doubled third

Applicable when using IV6 after applying the first two principles above:

3. Decide which note — the root or the fifth — is most suitable to double, as a unison or
an octave, to make a four-part chord.

4. The voices which have the doubled notes move in contrary motion to the nearest note

T
L

of the chord.
the small
doubled fifth (most common) root notes depict
T P commonly
Dm/F E Dm/F E Dm/F E used decora-
@ tions *
Fa) | | ‘
)7 4 n T i = [#]
.4 T T T T n
f fanY I I - 7 L. I - PR [#] L. =
NN ——¢ i
thirds n f F f !i
parallel
e ] oy J 4
raYy % U=
R -2 1 —— —
T T T I T
T T T
v

=
EN
<
=z
o
=
EN
<

Eg 6 below shows that the third sometimes can be doubled in IV6, and continue on
via a tritone leap to the fifth in V, occasionally with melodic movement via the root.

. Parallel movement in thirds/tenths is also used in 117 with the 6th degree of the scale
as a bass note, see eg 7. As this chord has four notes, there is no doubling.

doubled thirds seventh chord
f 1
Dm/F E Brn7}’5/F E
(AMVE)
hH @ [ ] @ |
.. & i T
{5y = {7 o — =3 o WL —
& f e e
B tenth i ! ! =
enth In
parallel TN d5
R 4 J
&: =P 27— =F 77 =
% i % i
- - - -
veé \Y mn \Y
* alternately eg 4 can be decorated with 9-8 (the notes E-D) or preceded by
V17, while the decorations B-A in eg 5 are sometimes inverted as B-A. Text book: Pages 62-63
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CHAPTER 4 ‘

Cadences in a minor key — chords based on the 6th degree

7 Harmonize the melodies a-b below and on the following page to practice writing
cadences, and also tonicisation in b.

¢ Read the textbook regarding the Phrygian cadence at the half close, see ‘Chords
based on the 6th degree’ on p 62 as well as ‘Hints’ on the preceding page.

e As before, you can work in two alternate ways:
1. First do the technical exercises VI a-c on p 381, as preparatory work.

2. Harmonize the melodies, using the tips after each melody, as necessary.

A7) (1v) (3

El Harmonic rhythm: change chords every bar* or every quarter note at a cadence. The
harmonic rhythm can also increase (eighth notes), for example before a cadence.

Fa) [ [ — My,

U T o T — 7 i Pe— I T —— ‘ ]
\ f gl i i ) i N —— | ! i |
\ i I — i \ i i f — \ \ |

— 9o 4 i —— I ™ E—
® v he @
5
[ | [— @ ; |

k3 *
9 *) )
h A A
i 1 | N [ T — [ y N [ T — |
g b I 1T [ I | el [ I [T I [ | el |
[ fan WL | P [ | | | | | | | | | | [ [ |
\\OL/ é- A \! .. v -

T

C. M. Bellman: ‘Minore’ Epistle No 73

® Technical exercise VI a-c.

@ Cadence (for example exercise 6, eg 7 on the preceding page)

* the third note in bars that have four
eighth notes can be interpreted as an ap-
poggiatura (app.).

Text book: Pages 62-63
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| Cadences in a minor key — Chords based on the 6th degree
— Tonicisation

First of all, choose an appropriate cadence at the end of the phrase, keeping in
mind possible tonicisation.*

H # ‘ | | @ @
7 B > W— T 1 i - i - . \
y, > — i 1 | Y 1 i 1 f |
jud o P — i |
@—A—I]—d—’_‘—-d 2 i I ® o o \
o/
5
H ¥ ‘ | ® | | ,
7 - Py - \ - \ - Ty
T |l 1 I - | | 1 I |
f——F i o » d ) [ = i |
A\SV I | ! [ ¥ I I ] I |
¢ ' ! N

|\ SEEYE)

| THES
Ll
QL
QL

: T
: i
€ |
w—o—‘—‘_' [
o/
13 ® ~
n # . | | .
JF [ R | L
O " E— I — r — it — |
(3] [ \ \
17
) ‘
7 — — T \ — I — Ty
y Sai— Y - i i - i - i |
[ an i ud - o i — ] - i |
\\SV 7] i g 4 ] r ) i+ i |
o | ) =
—/

‘Jesu, du mein liebsten Leben’ (J. S. Bach: BWV 356)

® Cadence, p 373, eg 4a

@ It is possible to use the nonfunctional chord progression I-III between two phrases
in a minor key (see ‘Hints’, second last line on p 382).

® Cadence, p 331, eg 9a.

® Read ‘Hints’, p 378, eg 3 (and 5). The note B in b15 can be interpreted as a stepwise
descending appoggiatura to the note A, so that the whole of b 15 will be harmonized
by one chord.

* To simplify the exercise, harmonize the bars containing three notes (quarter notes) with one chord (or
two) instead of the usual note-against-note chorale harmonization.

Text book: Pages 62-65




CHAPTER 4 ‘

Technical exercises: Chords based on the 6th degree

‘ 71 In example a-c, use chords based on the 6th degree (VI, IV6) for a Phrygian
cadence at the half-close.

e Use the voice leading principles that have been given for each of the three
chords on p 378 and notate the version you have chosen in four-part harmony:

A7) (]I

notate two different cadences

E using chord symbols: E

J. S. Bach: ‘Da der Herr Christ zu Tische safs’
BWV 285, Transposed

=

A b T W Y e Y A R | |
G R :
:&‘r JlﬂnJﬁil \J

I‘f? I’lll‘lr

J. S. Bach: Chorale 281
Transposed ‘ ‘

)

Y
y
S

8

04—
A
e

AN

B

%
1

el el el

s Y1 YHER

]

B

J. S. Bach: Cantata No. 2 ‘Ach Gott, vom
C Himmel sieh darein’

Text book: Pages 62—63
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 Tonicisation of I1I and return to 1

8 Practise playing the chord progressions below on the piano in all minor keys.

e TItis an advantage for the melody to consist of scale degrees 3-4-5 for the first
three chords in egs @ and @. It is also suitable to start with the 5th degree of
the scale in the melody in egs @ and @.

Hints

Here are the usual ways to modulate to and from the relative key, notated in A minor.
The pivot chord is marked with a frame.

@ via V/III to Il as well as directly back to |
—G - C - (B - Am
@) via V/lII to lll as well as back via V7
E7/GH*

ok V7 can also be preceded by,
-G - C E7/B Am for example IV, 116, IV6 or VI
E7 *kk

@ cycle of fifths via V7/lll to Il or altematively back via a chromatic bass using V7

 —
S + one of the ways back to the
A minor: IV c tonic shown above
Am - Dm - G7 <
C major: 11 E7/G§ - Am
L |
@ via VI which pivots to IV in the relative key (often in first inversion)
—
A minor: V16 C/G-G7
Am + one of the ways
P —— ) o/B C  back to the tonic
E ” shown above
C major: 1V6 G7

In eg 3 above, the harmonic movement is not completed to the goal III for the lower
way. Despite this, the relative key is quite apparent. The chord progression can be
analysed without the pivot, as follows:

a: I v V7l \ZANN |

Note that tonicisation can occur more freely between the phrases or sections, eg:

first phrase second phrase

Am  Am  E7 E7 ][ a7 C G7 ¢

The bridge to III can also occur directly via VI, see p 64.

*  Baroque period or later.

**  Clasgical period or later. As E7/B with the root omitted
ie V6 (VII6) also in the Baroque period.

** Romantic period or later.

*

Text book: Pages 64-65




CHAPTER 4 ‘

Technical exercises: Tonicisation of Il and return to 1

VII Harmonize the following melodies to practice tonicisation of III in a minor key.

® Use the harmonic pattern for the tonicisation of III and the return according
to examples O-@ on the preceding page.

El e Shape the tonicisation in b 3-4 from the melodic movement 3-4-5.%

Grieg: Lyric Pieces, Ballad, Op. 65, No. 5
A7) (1v) (J3

Lento lugubre

modulation type O or @ for movement
back to the tonic which reappears in b 5.

R R N —
— Tt —

B O I .

— ===

5
N
b
SR
o,
el
Q|

modulation type ®), second alternative
(analysis without pivot, see comments)

5
| . | , ,
T I | sl I | I | I I I N ]
y ] — - i I — — T O — y 2 |
Vv « 1T g | P I I I | | INT I PN ]
P A N 7 ) o 4 - N — < |
PY) e M A =S
cresc. dim

IEl e In analysis, notate the pivot chord on two levels, as shown in examples 2 and
3onp4l.

e Complete the background in vl 2 and vla — now in whole notes.

A7 v

Haydn: Symphony No. 44, 1

use modulation type @ (without returning to 1)

Allegro con brio D E [
A J 15 ) ‘ J_ =

T

Vla.

* Grieg utilises the possibility to vary V/III ie that V7 in the relative key
becomes H—Vg (VII6) with an increased harmonic rhythm as a result.

Text book: Pages 64-65
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 Tonicisation of 1l and IlI in a major key

VIII Harmonize the melody below in a major key. v) (3

® Avoid the dominant/secondary dominant chord in root position except in a

cadence.
prepared half
cadence
—_—
n | 5 N N
Y 1D o T K K T Iy T qu:\
_& Ay - [ P [ [ [ - 1\ > | o
LOREAT Ty /R B R/ R R I R AR
) 7V 7l v 79
Ein Ting - ling liebt ein Mid - chen, die hat  ei-nen An - dern er -
tonicisation of II
8
Al AN — N R N
V ) P [ 1Y 1\ N NI 1\ Al [ y
[} | [ [ | | |
NV D [ i | | ] = | |
A\SVJ 1 I/ 1 17 ) ] Il =I
Py 4 4 v 1 V7 7
wiihlt; der An-dre liebt ei-ne  An - dre und hat sich mit die-ser ver-mihlt

Schumann: ‘Ein Jiingling liebt ein Midchen’, Dichterliebe XI

I >< Practise playing the chord progressions below on the piano in all major keys.
You may begin with a cadence to establish the introductory key.

Hints

The tonicisation of III normally occurs according to two basic principles — notated
here in C major:

@ directly (where | is later interpreted as VI)

Em/B-B7 - Em
C g7 - Em

@ via VI which pivots to IV in the mediant (lll) key

V or V7/VI can be inserted
: \ C major: VI |

C - (G/BorE7/Gf) - Am ——— EMB-B7-Em

B7 - Em
E minor: IV |

| J
secondary authentic cadence in E minor

Text book: Pages 40-41
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CHAPTER 4 ‘

Tonicisation of Ill in a major key

X

Harmonize the music example below in order to practise tonicisation of I ac-

cording to the types of modulation shown on the previous page.

® Notate the pivot chord on two levels, as shown in examples 2 and 3 on p 41.

) (3

Larghetto

Adolphe Adam: ‘Le Postillon de Lonjumeau’, Aria, I

Doch nein, nie kann ich has - sen, den noch im mer ich lie - be Das
modulation type a
|
37
A LTy
Q_q.P F T e ]
I [ [7] ¥ 2 [Y] |
N Y T 1 I Py I ]
A\SVJ ] ¥ IV 4 [ 1 I & ] 1 1 [ L4 [ [ AY ]
|4 4
Gliick wir' nicht zu fas sen, wenn bei mir er nun blie - be.
lead back to the tonic key
41 '
T~ -
. [ o Py
c ) . R ) 13T & =
[ fan WA 1. PR ) [ I 1] i | I I |74 [ I
\')U | B \[ v V) Z T | I’/ i | [ \r/ L4 LT |
Wird er michwohl er - ken - nen? Lie - be auf neu
Wird er flir michent -bren - nen in

* Adam uses chromatic decoration in bar 37: F-F§-G- Gb

Text book: Pages 40—41
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Tonicisation of V, IV and III in a minor key

9 -

Decide which keys Beethoven chose as the goal for the tonicisation. End each
section with V§3 cadence. *

¢ The introduction of the second part of the piece is analysed in the simplest
way by modulating to a new key, and then returning to the main key at an

appropriate place.

A7) (1v) (13

308

A | |
A2 —] — —— | ——— —
(GRS =) &2 e e s i e
PY) T 4 T o - cHT 4T

N of P
1 2

313

OI!’)L\ T \ /3\| %
R = e T

[y) R . . o JHJH'

f S

317

QllﬂLII} | II T 1 l\: ]
G — 7 e R =
\Q)V 1 i — L . — L

yid sf P

322

N1 — |  — |

A pr— * s e
<P b o T : o . |
A\SV) . . | - |
)

2
Pl | | s
|

Lo s N
\\SV; - . o

)

Beethoven: Piano Sonata No. 23, Op. 57

* The chords are in root position in Beethoven’s original manuscript,
with the bass and chords using the same rhythm as the melody.

Text book: Pages 64-65





CHAPTER 4 ‘

Analysis — composition

1 O Analyse the harmony of the following music examples. Use Roman numerals
for each new chord.

Schubert: Minuet, No. 4 (b 1-8), ‘Zwanzig Menuette’ (D41)
Beethoven: ‘Fuir Elise”(t 1-26)

Handel: Saraband

Schumann: ‘Wilder Reiter’, Album fiir die Jigend (Op 68)

1 Compose your own melody using tonicisations that Beethoven chose in exer-
cise 9. Use Beethoven’s form and chord progressions as a basis for your own
melody, or write your own free composition.

Text book: Pages 64-65
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| Incomplete dominant ninth chord

Before beginning the following exercises, you should read the introductory facts on
ninths chords on p 108, as well as completing exercise 9 on p 431.

1 Name the root of each of these incomplete dominant ninth chords, with respect
to the following chord of resolution, see p 67, eg 2:

Df°7 - Em F§e7 - Gm GEe7 - Am
Dm7b5 - E Gm7bs—ab chm7bs—p
D°7 - Ebm G°7 - Abm E°7 - Fm

Em7bs—F Am7bs— b Gim7bs-a

1 3 If the diminished seventh chord is not followed by the tonic or a temporary

tonic, it can be more difficult to determine the root of the chord. In the exercise

below, organize the notes so they create a seventh chord consisting of stacked

thirds, ie the notes are either in the spaces or on the lines; see the example below.

Notate one alternative. Choose the root of the chord in the same way as in the
exercise above.

lines spices
———

G°7 cio7
Based on:  A7-9

1 4 In bars 3-5, Mozart prepares every upbeat with a diminished seventh chord
(Vb9 or VII°7) or alternatively the half diminished chord (V9§ or VIIe7), as a
dominant or secondary dominant related to the chord to follow. Choose suit-

able chords.
A7 ﬂ not
Bb F7/IC BMD F7ic Bb FIA F Bb
lh | | ir .- - .
YRS S YD S B o I S )
| [l | —— 1 | ]
[ | a2 T | S—— |
i / ! R
sf sf
Gm Eb Cm7 F BYD BbF F7 Bb
ol .
v ]

H—r—P—P“—P—FIDA - o | \\Fif" )r. H—P;‘
\

) —

-S:f Mozart: String quartet, KV 458, Minuet

Text book: Pages 66—67




CHAPTER 4 ‘

Resolution of the incomplete dominant ninth chord

Hints preceding the exercises on the following pages

Page 66 deals with the basic principles when resolving the incomplete ninth chord.
Before commencing the following exercises, which involve V|,¢ with different notes
in the bass, you may consider these points:

if the fifth is placed below the ninth, the fifth will rise to the third in the chord of
resolution.*

the above cannot occur when the fifth is in the melody, or in close position
with the seventh in the melody.

there is only one way to resolve the bass, because the third, seventh and minor
ninth are all leading notes, and when the fifth is in the bass, it must rise (point 1).

the third and the ninth — and above all the minor ninth - resolve almost without
exception by step.*™

the fifth is relatively free, except for the situation described in point 1.

the seventh can sometimes rise (as in V7) — normally not in the bass.

1 5 The incomplete dominant ninth with the third in the bass

E ® Decide which dominant ninth chords will precede the tonic chords given in
the introductory example below.

e Ifthe chord of resolution is a major triad, the dominant ninth chord with a major
ninth is used, while the minor ninth is used when resolving to a minor triad.

e Eliminate the root in the dominant ninth chord, creating V},§ or V9. Complete
the given melody and bass, and resolve the chords.

Based b
et Lot | | | |
=B°7 ‘ Ccm ‘ G ‘Am ‘ Eb D Ab
Fa)
7] p= . T
y 4 © i o=y
{rs O P2 P=y PO
\Qu O o —
[ e f ﬁo 1O - O
7o i © (O
C: Vg

* sometimes falls to the fifth in the chord of resolution, see p 392.

** can resolve by falling to the seventh in the next chord in a cycle

of fifths, see ‘Chromatic diminished chord’, p 194. The major

ninth is quite free as a melody note; see ‘Resolution of V9, p 108.

Text book: Pages 68—69
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| Resolution of the incomplete dominant ninth chord

@ The incomplete dominant ninth chord with the fifth or seventh in the bass:

Remember that the fifth of V[,g rises in the bass

b

Based
on: G 7

=D°7 Cm/EE Fm Dm Em Bm Gm

©

@J%‘)
o0
]
0
o
=
o
=
!

e [,2
o) i O o
LIPS PO P T
Z T ' 1O O
0
¢ Ve I¢
bs

The incomplete dominant ninth chord with the fifth or seventh in the bass in
open position:

e Asin the previous exercise, except in open position.

Based
sl | G |
Bm775F| G/ Bb ‘Cm ‘ F Ebm A
G NI 6] l’)() |
ﬁp" . = be = o
)
®.. -
Se-o—t1r © ©
7 o) hd
C: vy 18
3

@ The incomplete dominant ninth chord with the minor ninth in the bass:

e The following voice leading exercises take advantage of the fact that the in-
complete ninth chord with the minor ninth in the bass leads to the cadential
§ chord — which in turn continues on to the dominant. In the introductory
example, the seventh rises so that it is possible to allow the bass to be doubled
in the usual way in V§3.

Baivc)d ﬂ
O

=Abo7 CiG G Gm/D D D/A A Em/B B
) | | |
u i i i T . T
G2l : 8| | ‘)
S o—=b 2 3 #
[ @ ® o
e PP o] i
Je | 207 |
- i f 9 77
' I Ldlid |
! [
0
C: V2 Vi3
“)1) 4-3

‘ Text book: Pages 68—69




CHAPTER 4 ‘

Resolution of the incomplete dominant ninth chord

1 Choose the dominant or secondary dominant for each notated chord of resolution,
and write the V},9 of these dominants in the boxes. (Both composers have chosen
to only use the minor ninth, whether the chord of resolution is major or minor).

@ e Continue the two oboe parts which begin in bar 301. As the section is written

for three voices, the fifth which is less important has been left out of each V},9
chord ie the note D in a B°7 resolving to C.

lead from the note C#

D/F}
Presto 8va

A 4 L
7%

lead from the note F#

C/E B/DY ’ ‘ A/CE /  GB

b
!

| 1NN
ANV

A
G Sed
=
==
q .
&l

Haydn: Symphony No. 92, IV

E e Complete the example by adding three parts below the melody, beginning in
the treble clef. (Note the bass clef in bar 27).

b b
Moderato Cm Bvm A

25

A | I
o P
o —r e e e e
\‘)U I ! — | I | | i I
P
O b
o ;i 5 o
A\SVJ
Y]
ab Fo7  GmPs C7E Fm C7E Fm Db7"s
A 1 | [rm— \ | ./:x‘
e P —— | | — — o
&) i — ¥ ¢ * | T J 4 by @ |
3 [ - Ge =
| e |12
o | I
AR 7 ' 7

Chopin: Mazurka Op. 24 No. 3

Text book: Pages 68—69
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| Resolution of the incomplete dominant ninth chord

Hints preceding the exercises on the following pages

When resolving the incomplete dominant ninth chord written as stacked thirds, there
are two ways to avoid consecutive fifths between the falling ninth and the fifth in a
lower voice in the chord. The first way is to let the fifth rise to the third, resulting in
a doubled third (a), which you have learnt in a previous exercise. The second way
is to let the fifth in the chord leap down a fifth to the fifth in the chord of resolution,
resulting in a doubled fifth (b).

the resolution to V has
alternative 1 alternative 2 only one alternative: the leading
note cannot

B°7 Ccm B°7 Cm Fio7 G be doubled
1@ ® ©
” ] T T — Tl
y = 11 11 o mm 17934 |
4 P T i 3 1l
_@—L;S—g i (83 8 i 1
© doubled doubled 5 5  doubled
5 > 3 thid s g fitn P fith
o O o = o
ﬁ 1 T (8] T#e (0] m
Ly T T r.1 1
ol to o -y o] T—* 1l
Ly 2 L I Ll 1T 1]
Vi3 I Vi$ I g v

Alternative 1 (with a doubled third) is not normally used for the incomplete ninth
chord with a V/V function, because the leading note in the chord of resolution V is
not usually doubled. In this case, only alternative 2 is applicable; see eg ¢ above.

1 7 Mozart uses V,9 with the third in the bass (b 2 and 7) in the following chorale piece.
He uses the voice leading with the descending fifth in the way described above.

® Notate the bass according to the chord symbols and fill in the alto and tenor
parts — first in close position, then in open position.

remember that the fifth in the tonic must be doubled before as well

as after V|,9; see the voice leading in example b above root doubled
Larghetto ° ©
8 Dm cle7 Dm open
close position iti
A 4 | | | | | position
Y T 5y i i I — I ]
[ =0 ¥ | N
w@ & PY & b8
)
_Qz D)
T &)
IS A
2 )
Dm/F Gmé Gheo7 A
5
bl | L J
¥ .| P P 77 “
), @ y 2 b y 2 y 2
[ fan - Py Py
A8V A AS €
Y
e O
5
V

Mozart: Requiem, Agnus Dei, VI

Text book: Pages 70-71
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CHAPTER 4 ‘

The incomplete dominant ninth chord in a cadence

1 Play the cadences below on the piano in all major keys up to 3 sharps and 3 flats
(in a minor key: 2 sharps and 4 flats). Increase the number of sharps and flats
later, so that you will be able to master all keys.

e The inversions usually found in connection with cadences have been notated.
It is important to practice the other inversions at some stage.

[a] V8V and V3V (VII7/V) followed by V§3:

practice in both major and minor keys, as well as IV
as an alternative IV as an alternative

minor: Gm Amb5/C ci°7 Gm/D D7 Gm

bs
major: G Am/C cl7z am D7 G Am/C Cim7 GID D7 G
) | | [ |

7 - 1 . I
Y, S by
[ (an i o0

0]

Q
ool
(q :\
[ "]
[\
eelo)
‘ﬂ 1\

[ 1NN
L

0

0

T I
| [
o o
§ -7 8§ - 7
G 16 W VH/V VE-S5 T I° MEVS/V Ve -3 T
/ (VH7N) octave leap in the (VH7/V)
m bass ornecl) trgpeated e o8 ok am

Alternative introduc- %
tion including Hgas \ o
well as the melody

and bass in parallel Z %
sixths:

IEl V,9/V and V9/V leading directly to V in an authentic cadence and a half cadence:

practice in both major and minor keys

major: GB G Cm7 Dsus D7 G minor: GmB® Am’C CH7 D

minor: Gm/B” Cm  C8°7  Dsus D7 Gm  major: G/B Am/C Clm7”s

D
A | | .
)Y B | [T
VA oy 1T
[ fanYild | I O oo 1 (0]
&) ﬁ qj\_, ! oree : g
y Tg e [8e ] * [° T

, | m , | |
o | | | | Lo | | |
e b 4 d o
a
g I IV VNV VI I G: 15 I ViV v
(VII7V) (VII'TV)

Text book: Pages 70-71
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' The incomplete dominant ninth chord in a cadence

1 9 Complete each example below with a half cadence.

e Use the 2nd formula which creates a half cadence in eg 18b on the preceding
page. Note the other possibilities in a major key (Cﬂm7|75 and C§°7)!

A7) (]I

not
@ F Gm C7F Gm

o) S P~ . !
7 [T | [T | I | | I I [ | P —
@ E F I 1 |
- . T . . . v
g ee" v = -
P f
Beethoven: Piano Sonata Op. 49 No. 1, 1
Transposed

Mozart: Piano concerto No. 11 (KV 413), IT

20 Complete the following phrase in four-part harmony for mixed choir.

e Write a chromatic bass part from the given notes until the first chord in b 8.
The example starts in F major but ends with a suitable cadence in D minor.
Write diminished chords above the chromatic notes, which function as sec-
ondary dominants of the diatonic chords that follow.

C/E F
o) | L | ) . )
K } I I I i : J. S. Bach: ‘Herr Christ,
& & | | I T der ein'ge Gott's sohn’
A\SY) & @ BWV 96

chromatic bass

Text book: Pages 70-71




CHAPTER 4 ‘
Harmonization using the incomplete dominant ninth chord

Hints

The 6th degree of the scale is usually harmonized using IV (continuing to I or V) or II (con-
tinuing to V). The incomplete ninth chord creates new possibilities. Here are some common

alternatives in comparison with the harmonization using IV-V*. Other inversions of the
chords can also be used.

6th degree of the major scale in the melody 6th degree of the minor scale

F ¢ Fb7 6 c7 ¢ Bm7’Sc Fm Cm B°7 Cm

& 8 -5 0 0
v o GV T3 Vil e IV 1 VI
N .
also V53 see other alternatives
’ onp 63

Vb(g) and V7 are identical except for one note, which means that ng is often used as an

alternative, and like the secondary dominants, it can also replace other chords. V7, Vb(g) and
Vb(g) ofVI have three notes in common:

) i ) 2nd, 4th and 7th
in major and minor degrees of the scale

only in major — normal

ly
B°7 G7 g7  resolves to Am or A7 %
by R
b4
e

Vi v7 Vb of VI

recol

ol

@#i)

o

There is yet another possibility that can be added to the long list of chords harmonizing the
1st and 3rd degrees of the scale, namely vgg of V:

Am F Dm7 b7 AME E7

a1 VI v Vv V; :
(VIT7V)

See page 327 and 328 for the notes that the secondary dominants have in common for
more possibilities. There is also a demonstration of the ninth in the dominant seventh chord.

* C°7-C in the example is explained on p 134.
V9 is another possibility, see p 426.

Text book: Pages 70-71
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' Harmonization using the incomplete dominant ninth chord

2 Harmonize the following two extracts from ‘Liederkreis’ by Schumann, where the
harmonization of the 6th degree of the scale varies according to the interpreta-
tion of the text. Choose from the alternatives shown in the box on the preceding

page (first example).

v) ([
Nicht schnell Schumann: Liederkreis Op. 39 IV, ‘Die Stille’
1
Hu A A . —
- oy ] 9 o °
) yr v Yy | A A 4
Es  weil und rit es doch kei - ner, wie mir so wohl ist, so  wohl! Ach,
no chord
5
N« IS A \ ————
v ] ? ' ) N _ I 2 N I | N [
‘E\E i! 17" 4 7 - q®
wiiit” es nur Ei-ner, nur Ei - ner, kein Mensch es sonst  wis - sen soll!

e Schumann uses a tonic pedal point in the bass of both phrases.

Schumann: Liederkreis Op. 39 111, “Waldesgesprich’

Transposed
Ziemlich rasch
traditional harmonization of the 6th degree of the scale
17 Fr v
[a) | F ; } | o] A
[ [ | [ [ [ [ INT A |
) [ [ | [ | [ | |/ -~ [Y] N
@ 14 i 5 o ¥ [ - F i
Py [
GroB ist der Min - ner Trug——  und List, vor

alternative harmonization of the 6th degree of the scale

21 A '
[a | ) | | a1 A
Y 10 I N [ [ | [ [ | [ 1N T
2 b I ¥ 2 [ [ | [ [ | [ AN
- H
D) |
Schmerz mein Herz ge - bro - chen ist,

Text book: Pages 70-71






CHAPTER 4 ‘

Harmonization using the incomplete dominant ninth chord

2 Beethoven utilises, at the end of the ‘Pathétique’ sonata, the alternatives to vary
the 1st and 3rd degrees of the scale according to the pattern shown in the last
example (with IV7 omitted) in the hints on p 395.

A7) (3

Allegro molto e con brio

299 . .
N | | | h"

17 P I ! . T o p—
PN Ea—— e - I |
A\ T IH' i P 'q \l 1 ! 1

& . ' . .
p . .
tonic pedal in bass (8ths in octaves)

303 o o e P e

O | T - R — ')

Y 1D | | @ | I I q
y - | | =11 ¥ I 2r—S— = ¥ =1
[ fan W) | S - . & . i |
\.)u 1 1 < - 1 < \il. < I ‘|L < i |

cresc. Nid h

the chords are connected using
passing notes in the bass

Beethoven: Piano Sonata Pathétique Op. 13,1

Analyse the harmony of the following music example. Write chord symbols for
2, 3 each new chord.

Schumann: Myrten, Op. 25, No. 12, ‘Lied der Braut’, No. 2

Text book: Pages 70-71
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Chﬂp ter 5 Cadences using IV’ and 117

1 Play the chord progression below on the piano in all major/minor keys.

Izl cadences using IV7(—IV?) in major/minor:

the 7th often descends to the 6th and can be regarded
as an appoggiatura of the resultant chord IV 2

major: G CA7 C6 G
) i D D7 the voice leading of IV7 can occur without 7-6.
minor: Gm Cm7 Cmé Gm In order to avoid consecutives between the 1st
A | | I and 3rd voices, the latter descends by a P5:
BRI B
[ (an Wz 4 9 5 o oo o !
g 1~ g & 1 4
) 8 le 0} 2
i r 8l SR
alt.
| | | resolution ot -l } |
D e e e s 10 o=
7 (]
Y e PN
) The note E canalso move directly
to C, which is the 7th in V7.
g I IWIV§VET  d
6
(IL3)
IEl cadences using 117:
C (Cm) can also precede Am7 (Am7b5)
minor:  Gm/B? Am7P5 I Gm/B? Am7)5 S
major:  G/B Am7 G GB  Am7 G
H_#
|V )
V.4 ! O
1S |~ Py - = o
A\SV/ e e
o &7 8 O
g | ‘ |
e YN . [ [ [ [ I I
Jeo ¥ [ [ = [ | =
A | [ b P | b
e 7 Py L 7 Py
G I¢ 17 \ 1 ¢ 1’ \Z )

Choose one of the cadences above to finish the phrases a-d on next page. Com-
plete the given piece by adding a bass and two inner voices.

e Choose the type of cadence you prefer if several alternatives are possible.

Text book: pages 74-75




CHAPTER 5 ‘

Cadences using IV7 and 117

Mark with a dashed tie if the note of preparation
has been used. This applies to all the examples.

) ([ ‘

) 4,2 R T e Y -, 7
E \SV f — s (o ,ﬂ P —
) ' [
J 4 J4dJT)
o — I _i

J. S. Bach: ‘Herzlich lieb hab ich dich, o Herr’, BWV 340

(transposed)
? = ~
o) | | | | | , .
7 | | | T 1 [ I [ [
@ gy H ¥ [ i [ I
(N7 o > P |
\Sv ud ud hd [ )
D
Q_Y—A—h: - ) ’ o ®
BT | | ¥
L — i i i e
I | | —
J. S. Bach: St. John’s Passion, No 9
. )
| I
| |
= |
e a
J. S. Bach: ‘Du, o schones Weltgebiude’
Cantata No 56 (transposed)
Name the chords using chord symbols:
no 1
G A7/G  D/F}
398 T T
N 4 ~ | L [N
IV - . = I [ | [ ]
@ g "1 fle 2 [ = [ 1 = i [ |
F (W 1 D, VW | I a | o [ [ I
A\SV, v I | 1 1 [ & | [ ]
o \ f [
P

Schumann: Symphony No 2, IV
(transposed)

Text book: pages 74-75
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| Cadences using 117

Harmonize the following music example:

e Schumann uses a harmonization that was common in the Romantic period
in b 1-6, utilising the cadence II7-V7-1, which is repeated and then used in a
sequence; see p 398, exercise 1b.

¢ Find a suitable cadence at the end of each phrase using the bass notes given
below (b 7 and b 9). Vary the bass in bars 2 and 4 so that the rhythm is even.

Leise

A7) (1v) (3 O#uo i o |
%Fu;fﬂ 1] | — 1

{?

[
Cim775 cto7 ‘ ‘ ‘ ‘ ’ ‘ ‘ ‘ F¥E  Bm/D
h7 # A
R - Y — « S ]
" 1 = —+? L L 5 J\
Bass line:  C4 D E Ed jt]

Schumann: ‘Ich will meine Seele
tauchen’ Dichterliebe op 48

E
c#m7bs cto7 ‘
9 3
I ] P I
A8V — L i i T i i
w
ct D E Fé B

Find a way to vary the last two bars of the following example, by utilising the
‘Romantic’ cadence you learnt about in exercise 1b, p 398.

15 Ob o
I X ———] - ‘ ]
. i 0] — | |
Ge— , m—— 2 |
) I I P - ——
P dolce ‘ L J

Tchaikovsky: Swan Lake, Introduction

Text book: pages 74-75





CHAPTER 5 ‘

Sequences

5 Practise playing the sequences below on the piano:

tonal cycle of Sths in major (see p 76, column 1).

FA7 Bm7l’5 Em7 Am7 Dm7 G7 C

o]
-
I o = O
;\\I |l \\_/\D |l |l [71 [#1
O e
|
e d—d ) |
3 I —— ————f—,
[ T T T T

T

CI IvV7 VIl II7 VIZ 7 V7 1

Also practise playing this example and the one below in close position start-
ing with the fifth in the top part of chord I. The voice leading is calculated
by moving the top part down an octave.

tonal cycle of Sths in minor

Am Dm7 G7 CA7  FA7 Bm7Es E7 Am

f
o | Ea——

| | \
[ T T T
s & | E—T—]
I [2) o L, 21 <y
[ 7 .2
| I S A e
|
| J’“J ‘/—\ ‘ | | |
[ =4 o) (7} ~ = |
[t Commi f 154 1) <
I T | T 7 T I
i u w‘ 1 f 1 ‘V I <

a I v/ vl m’ v mw’ v’ 1

real cycle of Sths (see eg 3, p 77).

C B7 E7 A7 D7 G7 o}
P i | | | |
1 a L= 1292 ¥ - I
.4 o i »a oo =i [$]
R R R R A
L e B e S
) | f o r 4
I { I ‘F’ { (8]
f l
C: 1 v’ v’ v7 v’ V7 I
S~ Ny

Also practise the real cycle of fifths in three parts (leave out the tenor part)
throughout the whole circle.

4th — 2nd sequence (see p 78, column 1).

C G Am Em F C Dm G7 C
o) | |
b i i i T
y 173 121 [} = T T
B /o S — — — | i i
o 1 1 ¢ ° 4 2 4 8
© o
&
ﬁ: I £ = 77 14 i
u i I f i z & i o
I H } i T =

C 1 v v w1 nm v7 I

Text book: pages 76-79
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| Sequences

6 In the examples a-c, use a tonal cycle of fifths (a-b) and a real cycle of fifths (c)
according to the pattern you learnt in the preceding exercise.

e Choose the key first and then find the sequence in the melody.

A7) (1v) (1

El Contains two sequences. One or two chords per bar.

Hindel: Sonata No 1 for flute, piano and violoncello
‘Hallenser sonaten’ Original: A minor

Fa) | | -  mam——]

S Ca— R — S —|—— ———
M‘-_&_‘_‘_l;%d I — | I — j |
P3) l l ' I !

O —rb— ] } o ] e — |
69 s P F I 2 | = | g | I |

[ & [ ] I = & = ]

A\ V] AS I I [~ I I e 1
D) | !

IEl The cycle of fifths begins after several introductory bars which are not built using
the harmony of the sequence.

Allegro vivace Handel: Suite No 14, Courante

fia. o \ — 1 T . ;
[ P [
jm% ‘e, o, - ;
| T —— p——
- oo e e
6—— e, -
-§§
o d ir
| U e [ | N T
N A A | | I. H\I.
Pl —— Ew———;

Text book: pages 76-79 ‘




CHAPTER 5 ‘

Sequences

Use a real cycle of fifths (see p 76 and eg 3 on p 77) in the example below based
on dominant 7th chords — one chord in each box. Add two voices to the melody
using the chords as a basis.

*  Go backwards through the cycle of fifths, starting with the target chord C/E
in b 249, then notate the chords using chord symbols in the boxes.

e Supplement the melody using the 3rd and the 7th of each dominant chord
as shown in b 245 and continue the voice leading to the interval of a 6th in
C/E as you did in the preceding exercise (3—7 and 7—3). You can also work
backwards in this example.

He
e
He
Le

Mozart: Piano Sonata (KV 283), III
C/E :

L

e

e

Hel | ] 7
"N h7

-
~J

N

Text book: pages 76-79
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| Sequences

Harmonize the following melody which can be found in the last 8 bars of Schu-
bert’s German dance (the score of the A section is on p 367). Complete the piano
accompaniment from b 17. Write the voice leading of the offbeats using the least
possible movement.

e Bars 17-21: Schubert uses a cycle of fifths where the dominant chord in bars
18 and 20 occur as an incomplete ninth chord, while the other chords consist
of diatonic triads.

v (VID) (VIT)
aa  V Vh) N Vi3 .

17 = | = -
A= —
o | ! | !

B
e e [
|

21

n > = |

i I . ﬁ ! P l >
ANSV .4 I [ [ I [ [ I [ I I —* e
Y} ! | ! ! | ——]
<)
Zd

decresc.

Schubert: Sechzehn Deutsche Tinze op 33 No 10

Find a suitable harmonic sequence with regard to the direction and interval be-
tween the pattern (b 41-42) and the two repeats (b 43-44 and 45-46) comprising
the sequence in the Haydn example; see ‘Other sequence constructions’ onp 191.

A7) (1v) (3

4

WA
O]
Al
Ll
|
Q[
.
g NN
.

@@;"<>

cadence

1T
Q[

N,

1T
™
™
e
TN

Haydn: Symphony No 80, Minuet

Text book: pages 7679





CHAPTER 5 ‘

Sequences

Find a suitable harmonic sequence with regard to the direction and interval
between the pattern and the two repeats comprising the sequence in the Haydn
example; see p 78.

e Find a cadence in bars 23-24.

e Create a stepwise bass using notes of the chord up to and including the first
box (cf p 78 and p 79, eg 2).

v) (3

Allegro assai

A | i - . === T ——
B/ E—— r— \ e e T N
2L e IIW' 1 %
PY) | [ ——
J
20 L.~ TY Y
ullr) %} L%f 1
] I
I

___“-

%r ! Haydn: Symphony No 39, I

1 O Analyse the harmony of the following music examples:

1

Mozart: Piano sonata No 15 F major (KV 533), Andante, b 95-102
Vivaldi: The Four Seasons, Op 8, IV, b 23-26.

Compose two melodies each containing a tonal cycle of fifths, one in major and
one minor key.

Text book: pages 76-79
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| Deceptive cadence

1 Play the deceptive cadences below on the piano in all major keys (a) and all
minor keys (b).

IE' Deceptive resolution in a major key:

alternative resolution
(only in a major key)

406

C/E Dm/F C/IG G7 Am C/E Dm/F C/IG G7 Am
bt | &=
[ @ N T e & g O
£ — C—$ 1o ¢ 4 I p_
.) | I © — @ | ............. O
: | ——— i o !
d | | | o | | | I N
| | 1 PEENE . S BX 6] | I | P2 IR S ~ O
, ] o—(§®) ] ‘ (5o
8 - 7 8 - 7
C: I me V¢ - 3 VI Cre mé v§ -3 VI
alternative with a
chromatic passing
note, see p 82.
IEl Deceptive resolution in a minor key:
CmEP DmbsF CcmiG G7 Ab  cm/EbDmbsF cmic g7 b
J
o f 2 T
PY) | | © | ......... S
OO | P [7) f - 7 ¢
° r 1 | a— | |
i —— ! P E—— — ! P E—
6 6 A 6 6 ¢ -1
R U | R 4 S VI 16 T Vg - VI

Text book: pages 80-83




CHAPTER 5 ‘

Deceptive resolution

1 Practise four-part voice leading in a deceptive resolution in open and close posi-
tion in the example below in the same way as on the previous page.

e Resolve both leading notes in the complete dominant 7th chord as though
the subsequent chord were the tonic ie with the 3rd ascending and the 7th
descending. As well as this, allow the 5th in the dominant 7th chord to descend
by step to the 3rd in the chord of resolution — which will double the 3rd; see
b1 in ega and b.

use an alternative resolu-
tion (descending 3rd)

El With the 2nd degree of the scale descending to the 1st:

G7 Am c7 Dm A7 B F7  Gm B7  Cim
A close close open close
y.a o T +ts
{rN O i
S — — — 24 e o ) o
¢ $ ol < O
) o o (8]
7 o o (o) © to o 1o
a C_ O 7 O

&
# doubled 3rd

all four notes " -
alternative resolution

(only in a major key)

IEl With the 7nd degree of the scale ascending to the 1st:

e In the last two exercises voice-leading and spacings is not affected by a chro-
matic passing note in the bass.

(G§o7) E°7 Bo7
G7 Am D7 Em B7 c Eb7 Fm  Bb7 Cm
N close open close open |
A . P Py PO
(~o— = bo —
HO)o— Py 1o © ©
)
mc#;‘ ho) S — =
L] Pay O DO 0o 7 | N
d el Pas O | by by O
o bok
|
all four notes doubled 3rd

Text book: pages 8§0-83
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| Deceptive resolution

1 4 In the music examples a and b, use two deceptive resolutions, one after the other.
This will require the use of a pivot chord as shown in the music example.

A7) (1v) ([3
Izl e Complete using 4-part harmony in the key of E minor and write deceptive

resolutions by allowing the 3rd of D7 to descend, and the 3rd and 7th of B7
to resolve according to leading note principles.

o o [

9
%ﬁltﬁﬂ J J‘ i J‘ i J.S. Ba€h:v(3anta.ta
=t — e
o [ |
EﬁiJ—'l . »
et o -
= 0 r
D: V¢ 1 IV veé e

N R

G I° \

pivot chord

El e Complete the piano piece and design deceptive resolutions for Bb7inb1 (using
a chromatic passing note — see exercise 12a) and G7 in b 2 (with the correct
leading note resolution). The number of voices can vary, which is common
for a piano piece.

your own choice of
cadence (close position)

e B7 a7 Bh7/EP EV
Largo
1
A e | | —
Y 1 I ! | [ I | I |
g H | (e I | [ | [ [ [ ] [ |
Ghe , i . —
D) v Z v o .
mf
B D e s
Hh | N/ &
P <
<
B ‘ E ‘
Chopin: Largo, ‘Minor Works for piano’
pivot chord

Text book: pages 80-83




CHAPTER 5 ‘

Deceptive cadence — ‘Linking chords’

1 Play the chord progressions below on the piano in all major and minor keys.
It is a good idea to combine these by introducing the deceptive cadence using

exercise 12 as a basis.

Hints

Some common progressions arising from the chord of resolution in a deceptive
cadence are notated below. The chord that functions as a ‘linking chord’ between
the chord of resolution and the repeated cadence is marked by a box (eg 2-5).

@ directly to the dominant ie without a linking chord:
the cadential g can be omitted
(this applies to all the examples.)

vV vi3or

@ the bass descends a 3rd to a position ® chord eg:

viooovi | IV(II6) o VB /V | v -

@ the bass descends a 5th to a position @ chord eg:

viooovt |I7) | v§i-r

@ the bass descends a 4th to chord I in 1st inversion:
T
\ZRY | I6 + cadence (usually II6 - V7 - T)
@ the bass descends by step/leap to a secondary dominant followed by

its position @ chord eg:

vV | VIIVee VYIVE | v-ovr-d

Note that deceptive resolutions can occur within a phrase and therefore do not
necessarily need to end with a cadence.

* occurs also as VoIV (VII7/IV). V7/1I or VLI (VII7/II)

can be used in a major key if the position @ chord is II.

Text book: pages 8§0-83
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| Deceptive cadences and linking chords

l The following music examples uses a repeated ending. Resolve the first ending
using a deceptive cadence, and the final cadence using the tonic chord.

e Also find a suitable ‘linking chord’ to follow the deceptive cadence; see ‘Hints’
on the preceding page.

A7 v ﬂ Mozart: Horn quintet (KV 407), Rondo

IEI Allegro

= Bb/F BP/AD Ebig

hH

Y
A\SV

Y

cadence with a deceptive resolution linking chord final cadence

Beethoven: Serenade op 25, III

IEI Allegro molto Dm a7t
23 _ . .
n . | - ) o o -
"
ANV Yy Y1 , 1 ]
Y
cadence (includingVi:g ) with a deceptive resolution linking chord
26 . cLite & : -
e ; . .

0 T Py T |’ ‘g — ﬁ T |' —— A —
(GRS B — i *f - e %‘ —)
o — I ‘ ‘ I
) ,

Text book: pages 80-83
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CHAPTER 5 ‘

Deceptive cadences and linking chords

Allegro cadence with a deceptive resolution
Et°7
172
WA o 0 o0 o P
i Wil . [ FT®Tr®]
£ "1 2 o o o o | o | | | [ | |
[ fan WU FFFFEFEITE | | | 1 | | | | |
A\SVJ | | | I I [ [ | | | T [ [ [ ]
3 =y e
linking chord Mozart: ‘Haffner
Serenade’, Rondo, IV
176 -
n # A o o o o P o
Y wil . [ N B Y N | e [
g "1 o> o o o o | o [ | | || [ [ I [
[ fan W1 v FFFF = [ | ] 1 [ [ I [ I [
A\SV | | | I | I | 1 [ I T
e - — \ — \
1 The following music example uses a deceptive resolution of the dominant chord
immediately preceding the final cadence in order to save the tonic for the final chord.

e Study ‘Hints’ on p 409 regarding the linking chord, which in the exercises a-b
below may be considered to be part of the cadence.

A7) (1Iv) (3
Gm/Bb A°7 D7 ‘
9 /‘ . .}
y Y ) | | | 7 [ | | | | Ll [
[ fan YL X | | [ | | | ! | | 1
\!)V 5 3 | T | ' [
S
Mozart: Symphony No 25, III (KV 183/173dB)
Em/G D/A A/G D/Ff A7
5 T
N 4 ./——.\ el o 4 J& P o
¥ #& 3 F F | | Y | | | |l » | IP=
| | 1/ [ | | | | ~
[ fan) b I/ | | | | ' | 4 | | | | | [
A\SVJ E2 3 T | | T [ T | [ !
Y

Mozart: Symphony No 25, III Trio (KV 183/173dB)

Text book: pages 8§0-83
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| Deceptive cadences and linking chords

1 8 The following music example uses a repeated ending. Resolve the first end-
ing using a deceptive resolution, but prepare the final deceptive chord with izs
secondary dominant; see ‘Chromatic movement 5—§5-6 in major’ on p 82. Try

both alternatives:

1:  chromatic movement 5-§5-6; see eg b (left column) on p 82.
2: the dominant of the key (F7) is substituted by the secondary dominant
of the chord of deceptive resolution in b 22.

e Avoid root position in the dominant chord — unless it is necessary.

Schumann: ‘Ein Jiingling liebt ein Madchen’ Dichterliebe No XI, op 48
The section of the melody preceding this example can be found on 384.

A7) (1v) (3
stepwise parallel 1st inversion chords leading to F/A
F/A
N | 17 ‘ °
| o [ P Py I | ]
= = | P | |
] ] | & | |
| 4 I ) 1) 17 L/ "4 "4 | ! |
1 v 4 4 f ? |
Das  Maid - chen nimmt aus Ar - ger den er - sten be - sten Mann, der
shape the ending
Alt. 1:
Alt. 2:
Azl | rit. "
£ - e e — 1,
[ fan WL ] | ) I | I = i "4 1] ) 1 | | | I
A\SVJ ¥ 1/ Wi [ 1) D) L4 [ L7 L/ I
Y] ' y v 4 4 |4 ' 4 |4 4 |
ihr in den Weg ge lau - fen; der Jing - ling ist i - bel d’ran.

1 9 Write a deceptive resolution of the following dominant 7th chord — not to VI
in this case, but one of the more unstable chords described on p 80 under the
following headings:
Deceptive cadence leading to IV6 and V/V, p 80.
Deceptive cadence leading to §4th degree, p 80.
Deceptive resolutions of Vg, p 82.

cont.

* In the original, Schumann uses only two of the three notes of the chord.

Text book: pages 80-83




CHAPTER 5 ‘

Deceptive resolution

Example (in major):

F/A V6
V,9/V with the 5th in bass (VI$/V)*
W,9/V with the 3rd in bass (VII7/V)

Fimbs | TI7/11I

o
\I
m ul >
3 IS
\I

III (preceded by the dominant in 3rd inversion)

Exercises:
A7 < Eb7 <
D7~< Bb7 <

L DL
L DL

2 O Analyse the harmony of the following music examples using Roman numerals
for each new chord.

Haydn: Sechs Sonatinen, No 1 in D major (Hoboken XVI:4), Minuet
Haydn: Piano Sonata No 4 in D major (Hoboken XVI:37), Finale, b 21-28
Schumann: ‘Volksliedchen’, b 1-8, Album fur die Jugend (Op 68)

2 1 Compose melodies containing deceptive resolutions with a repeated ending —also
within the phrase.

* V@/V (VII6 /V) is also possible in this case.

Text book: pages 80-83
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' Chords using the b6th degree of the scale in major

Hints preceding the exercises on the following pages

The principles below apply to the voice leading in subdominant chords using the flattened
6th degree of the scale followed by chord I or V in a major key:

e By flattening the 6th degree of the scale in a major key, this will function as a leading
note and descend to a note of the chord that is the 5th degree of the scale. This note is
not normally doubled, but there are exceptions; see eg 6 on p 378.

2 Harmonize the following short extract from Brahms ‘In stiller Nacht’, and then
arrange this section for 4-part mixed choir.

¢ Find a suitable chord containing the flattened 6th degree of the scale in eg 1
on p 85 (chords 2-5) to use instead of harmonizing bars 1-2 with chord V.
Explain the difference.

Brahms: ‘In stiller Nacht”
Etwas langsam

A P ! 74
7 B F— f T o — f I K i i
by | [y ] ] | [ | | I [ I I
{77 7 o J - P | \ P = =
A8V Z o 0 & < &~ e G Z
’ i
In stil - ler Nacht, zur er - sten Wacht, ein
_q: | D] —
O P> ) =
N> )
P A
T T
3 T . . e e—————
A | , ° | | ‘ .
gy T ] | | | | |
y A i - | i i i
/N v D P & - |
A\SY, ) 4 Py - i 77
o 1
Stimm be - gunnt zZu kla - gen,
= Z
d by |
Py

Text book: pages 84-85




CHAPTER 5 ‘

Chords using the b6th degree of the scale

2 3 Harmomze the following melody and use a suitable subdominant chord contain-
ing the b6th degree of the scale. Note in particular the harmonization of the 2nd
and 3rd degrees of the scale in eg 3 on p 85.

A7) (1v) (3

}

L ]
[\

Schubert: ‘Zwanzig Walzer’ No 3, Trio

2 4 Harmonize the following Haydn excerpt. (A7) (IV) (7
e Haydn utilises bVI which is a more dramatic way to harmonize the flattened
3rd degree of the scale.

® Bars 5-8: Complete the harmony from b 5 by continuing the background,
consisting of the bass (in octaves) and an inner part.

Un poco Allegretto

—

S 3 ——
P
5
[a) | | ) [—
i 1D | | | | | | | | N
y AT | | | L 1 1 | | | I y 2
[ fan WAV | | | P ‘ v | | &
A\SVJ =| I b =| 1 | d A
() — ~.L o DS & — NG,
V1.2 J
—-
)' [ T2 y 2 -
A S| & I
Vb < ]
o
Vla. Vc. Kb
avoid chords in root position Haydn: Symphony No 91, III

Text book: pages 84-85
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| Chords

using the sharpened 6th degree in a minor key

Hints preceding the exercises on the following pages

The voice leading of subdominant chords containing the sharpened 6th degree of the scale
in a minor key — IV} and T145 followed by Vor V3 (VII6) - is applicable as follows (the main
method of voice leading in the 18th century):

the raised 6th degree is regarded as a leading note and rises to the raised 7th degree
(for an example of an exception see eg 4 on p 87 as well as ‘Sharpened 6th degree as
a passing note in a minor key’ on p 192 ). This note is not doubled.

#6 and #7 often move in parallel 3rds (10ths) with one of the upper voices. The parallel
motion can be increased so that more notes are included: 5—# 6—#7—8 (see the example
in exercise 25a).

7
if the 7th is used (IV §) the voice leading is the same as in V7 ie the 7th resolves down
to the 5th in the dominant (see the example in exercise 25b).

if the 9this used, it is prepared and descends to the 7th in the dominant (see the example
in exercise 25c) or remains stationary. In the case of the latter, it forms the root of the
dominant chord.

2 5 Complete the exercises a-d in 4-part harmony. Notate your choice of chord using
chord symbols and practise playing the exercises in all minor keys.

e First of all choose the chord to begin the exercise — which is dependent on
the given tonic chord — and then notate its bass note.

e Then shape the bass using the sharpened 6th and 7th degrees of the scale
resolving to the tonic (applicable to eg a-c). Complete the two inner parts.

E Subdominant major in 1st inversion:

E D/Ff E7/GIAM Gm Em
b | - | .
\J a P - | I | |
e Py [ b [#] by Y A |
&4t 8 ok g -
A
dle
i i —
| —
a: VmIVe Ve I
\ﬁ/—/
v
E Subdominant major as a 7th chord in 1st inversion:
Or: Eb/G
Cm F7/A G7B Cm Dm Fm
fa} ‘ | , | |
i\ | | | | | 1 )
.4 I | | | a bl |
N 1 4 | a d L PO

te O
;j r g3

Aq: & O
Lr(h)r(h)i’ ©

i 6 6
c I ™IIVs Vg I

Text book: pages 86-87




CHAPTER 5 ‘

Chords using the sharpened 6th degree in a minor key

Incomplete subdominant major as a ninth chord:

no i

EbG F9 G7B Cm Bm Fm
A | L
v ] | | | | | JI| | |
| [ [ | | 1L & al
[ fan | a | | J| | | bl v O
ANS VAN =Y b4 Iy ey Lo & |
Q) P ’v f 'S M —— hd O
WEJ—‘ ©
<~ e o
¢ I8 mivy v 1
V1)
d| s
no 1
Am Bm E7/B Am Gm Em
A | | , |
v ] | | | | T |
y 4 | = | [e] | | by en | |
%ﬁ? e o
...... M - T

s
e =
|f’ O
a: 1° 1 v? oI
(VII®)

2 6 Harmonize the following melody. (A7) (IV) (3

e Schubert utilises the subdominant major to add colour, which does not lead
to the dominant of the key in this case; cf the Grieg example on p 87 (eg 4).

At the end of the Grieg example (b 19), the subdominant major (F7) pivots

to y7/ bVIL Schubert shapes the ending in a similar way, but chooses to pivot
IV} to a secondary dominant leading to another chord. Which chord is this?
The very distinct cadence (V3 ) in the last two bars will reveal the answer.

¢ Notate the analysis of the pivot chord in two keys in the same way as in the

Grieg example.

H ¥ H_ - H.
i = —— o B ) — T
Py — I ——— — —
pp
H ¥ [om—
: — ~ ; |
0 i I i — lP_ H < H

Text book: pages 86-87

Schubert: Zwanzig Menuette, No 12, Trio

417



418

| Changing a chord from major to minor

27

28

29

Harmonize the following melody. The exercise is built to some extent on a type
of chromatic motion described under the heading ‘Changing a chord from major
to minor’ on p 88.

e Complete the 2nd part beginning in b 16, which will form chromatic motion
in its entirety. From b 17, Chopin utilises a slower rhythm ( 2. ) in order to
slow down even more in bars 21-22 ( jvJ ). Harmonize the section by using
the two voices as a guide.

A7) (1IvV) (3

Chopin: Valse, (Oeuvre posthume)

Analyse the harmony of the following music examples. Write the Roman numer-
als for each new chord.

Schumann: ‘Nordisches Lied’, Album fiir die Jugend (Op 68)
Schumann: ‘Mit Myrten und Rosen’, b 1-16 (Op 24, No 9)

Compose melodies containing mixture as well as chromatic motion as described
under the heading ‘Changing a chord from major to minor’ on p 88.

Text book: pages 88-89




CHAPTER 5 ‘

Nonfunctional chord progressions — chromatic mediant relationships

3 In order to counteract the inherent resistance thatis found in nonfunctional chord
combinations, you can utilise an inversion of one of the two chords; see p 91,
eg 1 and 4 as well as the solution to the 1st example below.

G B7 Em G C D7 G
B7/F4 G/B

D F§7  Bm D G A7 D

Bb D7 Gm Bb Eb F7 Bb

Db F7 Bbm Db Gb Ab7 Db

3 l Notate a progression using chromatic mediant relationships starting with the
given chord; see the description under the heading ‘Chains of triads a M3 or m3
apart’ on p 92 as well as the 1st example in a and b below.

E Ascending chromatic mediant relationships a M3 apart (dominant direction):

E] L
I
I

E Ascending chromatic mediant relationships a m3 apart (subdominant direction):

HH
L

Ml [l
L]
L]

Text book: pages 90-95
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| Expansion using position ® chords

3

Develop the chord progressions below by expanding the number of position ®
chords that are already given. Make use of the left column on p 98. The first
example in exercises a-d below shows one possible solution.

e It is important to check your solutions by playing them. Following the basic

principles of choosing chords from left to right in the chart is no guarantee
that all possible combinations sound good.

Two position ® chords in a major key (the 1st is given):

@
C: cC | F |Fms | 67 C
D: D | G6nos| . A7 D
F: F | B | . Cc7 F
Three position ® chords in a major key

@
C: c | F |Fes | DR | a7 C
Eb: Eb | oAb | | | Bb7  Eb
N A e e R
Two position ® chords in a minor key

@
¢ Cm| Ab [Fm . G7  Cm
d: Dm| Bb | . A7 Dm
e: Em | Am | . B7  Em
Three position ® chords in a minor key

@
o Cm| Ab | Fm | prg | G7  Cm
g: Gm| Eb | || | D7  Gm
a: Am| Dm | | | E7  Am

‘ Text book: pages 98-99




CHAPTER 5 ‘

Expansion using position @ chords

3 3 Harmonize the following melodies in a major key using fwo position ® chords.

¢ Find a distinct subdominant chord and use that bar for the exercise.

e Otherwise use the simplest possible harmonization.

A7) (1v) (3

Bb7/Ab  EbiG F7sus  Bby Eb
s /—\X :‘5{ ——

Al B ‘e ), | e P ‘e o
J 1D | [ |l [ & [ ] | 1 | | | 1
y AN | | | | i | | 1 | | | T
(FNV D r | | | [ | T ™ 1
A\SV4 T | 1 | | |
e

Haydn: Symphony No 84, T

Adagio molto

9
A | | |
. . 2 o  — ¥ |
! ] < - I I S |
Py —_— i —_—
13
I v ‘ N
= — 9
fgﬁb7 N ® 5 }}"T} I 1
A\SVJ o | T g\‘ T | | | T

Beethoven: Piano Sonata No 5, I

Text book: pages 98-99
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| Expansion using position ® chords

3 4 Harmonize the following melodies in a minor key using fwo position ® chords.

A7) (1v) ([3

E ® As is often the case, the expansion of position ® occurs before a cadential
dominant chord, which only occurs in exercise a) as a preparation for the
half cadence.

e In general, use the simplest possible harmonization.

Prestissimo
1 T app
N4 , pr—— [
|7 S I (R I - Py
y I ) - T o | o 1 1 w® Y|
[ fanY Q o~ ] o Py | Y1 " A | i —
\a\} [ i b I i » 1 4 LA I ]
S
app/—_—\
5 T o app
4 —_ R ol el 2 o
| =
|

i
|

Beethoven: Piano Sonata No 30, II

E position @ chords

E/G# Am Dm Am/E E Dm/F Am/C
— A =
e 4 —
I 4 17 W) I
r 4
und ist doch lan - ge tot, und st doch lan - ge tot.

Schumann: ‘In der Fremde’, Liederkreis op 39 (the end)

Text book: pages 98-99
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CHAPTER 5 ‘

The 6th degree in the bass in a major key

3 Play the cadences below on the piano in all major keys. All the chord progres-
sions contain the bass motion 6-5-1. The three chord progressions below follow
the chord patterns in examples 1 and 2a and b on p 101.

G A7/E D7 G G Em D G D GB CEGDD7 G
n# [
7 ] ﬁ — ‘\ [ [
L&) o oo o o ©
® f2 g [g (& E o v’ 8
O N 7 B— i — © Py o
—] — | —T S ——
‘ [ = ‘ [ \ "
4 7 6 veve §
G I V3i/VV 1 I VI V 1 Vo I°PIveve-35 I
3 Compose melodies that involve expansion using position ® chords, the 6th degree
in the bass in a major key, and neighbour notes around a dominant axis.

Text book: pages 100-101
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Chap ter 6 The Neapolitan 6th

1 Play the cadences below containing the Neapolitan 6th on the piano in all minor keys.

cm DbF  G7 Cm cm DYF CmiG G7 Cm
Al | | |
#FE"J:E 2 . [9) 2 i — — o)
&) o 5| 8 |I= S g
D | |
{ | |
)b, | Z P | Z [l |
| | O & | | | O
e i i i E—
8§ -7
a1 bme 7 I 1 'ms ve-s oI

2 Harmonize the following melodies (a-c) by using the Neapolitan 6th.
A7) (1v) (3

E e Use bII6 in connection with the final cadence as well as in the half cadence
in b 16-18 — in this case with the help of V,9/V (VII7/V) as a passing chord
between b116 and V (cfeg 3 onp 107).

e Use tonicisation, which occurs twice in bars 11-14 of the contrasting B section.

Schubert: ‘Der Miiller und der Bach’, Die schone Miillerin op 25

MiBig
3
Al A hgr ™ N\ 21
o T =
frn P —Q 1) ] T — N o o |
A\SV; 7 S S A i — ﬂ 4 ]  —  —
5 7V = 2 7 /
Wo ein treu-es  Her - =ze in Lie - be ver - geht, da
hal - ten die Eng - lein die Au - gensich zu und
7
n| A A\ = g
T
\Q) Vi ! V — T .—‘4_#1 o Y —
7 = Fine
wel - ken die Li - lien auf je - - - dem Beet; da
schluch - zen und sin - gen die See - - - le zur Ruh!
11
l | | |
~ —® ) |
A\SV I 7 - t *f —
T 4 V C E ' Y
mufl in die Wol - ken der Voll - mond— gehn, da -

continued next page

Text book: pages 104-107
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CHAPTER 6 ‘

The Neapolitan 6th

die Men -schennicht sehnj— da

D.C. al Fine

mit sei-ne  Trd - nen

E o Use PII6 with a passing chord leading to V (cf eg 5 on p 1035).

Haydn: Symphony No 26, Minuet
(transposed)

*
P g 2 0 o |
J w6 | [ 1 .
g ey | | ] 1 I | M| || ] I 7
N I/ I I [ I | I I I I Al
A\SV kS 3 I 1 [ 1 I ! [ ! 1 I I
p

e Beethoven utilises PII6 with the root in the bass in order to create variation
after a distinct subdominant ie the characteristic voice leading EZ—# 7-8 occurs
in the bass (cf eg 1 on p 107 — as opposed to the voice leading bo—8 - $7-8
in this case).

e Generally, Beethoven chooses the simplest possible chords.

Beethoven: Piano Sonata No 17, 11T

Allegretto
R Py Py o ) ]
:MQI\HJI o ™ A o —rm |
I A 2 I I Z— I A—— 1
o =— == == == ==
P
/\;
5N o . .
= » /_\\ /T /!_I\ﬁ \'_[ﬁ /._\\ﬁ /|
' - Y 7 I A . 7 . B |
/Ny V) ) o @ [ 7 f] i o @ TV e/ g @1
A\SV,  d—— I A— I A— - ——— /;i:\ i e I 1
d ’ y y cresc. a
1 - ﬁ F
0 a l‘l}ﬁ [o P i -
W‘?l 2R poF e ety
; 4 14 "‘ 4
dirm. P cresc. F Vi

* can be interpreted as belonging to the next bar (anticipation).

Text book: pages 104107
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| Resolution of the major ninth chord

3 In the exercises below you will practice the resolution of the major ninth chords,

see p

109, eg 1. Also practise playing the resolutions in all keys.

e the Sth of the 9th chord is usually omitted in four-part harmony, while im-
portant notes such as the third and seventh should be included.

¢ Resolve the leading notes as shown in bar 1.

With the root in the bass and the 9th in the soprano:

G ¢ Bbg E9 A9 D9 Fo
A
v ]
[Y)
® i
): | PO Py T
d a Iy ¥ Iy g
dhd O O Py i
b O

?
¢
¢

A

With the 7th in the soprano (examples 1-3) and the 3rd inthe bass (examples 4-6):

G9 c C9 E9 G9B C D9 FO/A

A .

b

Y

€): e © iﬂ_\\. T

d a O a by e
-5 O e iy O O T
< P=Y H.O -~

C: VvV 1

Hints preceding the exercises on the following pages

Other harmonizations of the 6th degree of the major scale have been used in connection with
the exercises in the section on the incomplete 9th chord (p 395). The 9th chord gives rise to
anotherone of the possibilities, which is added below together with the others shown on p 395:

wichV9”
other possibilities with the 6th in the melody

F ¢ Fd7 @ o7 ¢ Bmw’® c o c
A
5 : : . : y

&

- e

6 _ <
CGIV 1 VYV 145 23 vi 1V I
(VIU7v) N\ (VII)

6-5
also V43

Text book: pages 108-109




CHAPTER 6 ‘

How to use the dominant major 9th

4 Utilise the V9 chord to harmonize the 6th degree of the major scale as described
in ‘Hints’ on the preceding page. Consider how the other possibilities that are
described on that page will function.

¢ Notate in 4 parts for piano.

e Complete the piano part using b 9 as a guide by utilising the sequence twice
in bars 10-11. Note that although the excerpt begins with an F§m chord, it
is in A major.

Con moto Grieg: Folksong

9 ﬁ
ig:hﬁnﬁ_ﬁ'i : — F—— \ \
+ | - i i f
{rs— W g P \ i
A\SY/ /K b bl & g
Y] |
P S
7t \ i |
i ‘ i

E e Schubert uses 5-1 in the bass of the V9 chord.

e Notate freely for piano (using 4-5 notes in each chord) so that the chords fol-
low the rhythm of the melody. Two eighth notes can be simplified to a quarter
note. (Schubert repeats the sixteenth notes in the LH only of bars 1-2.)

Schubert: Deutsche Tanze op 33 No 2 (D 783)

P = =
- N —1 N\ —1 | P
yheg N e B — N
j@pbii hd P @ XX s o [ ]
o
pp
T
S
1 2
T /"\
H 4 iy . | . . |
7 S a— | | \ ] \ | I
y i —| | ] ! il ! - il
ga o o & [ ]
Y
¥
There are several possible solutions to the 1st and 2nd endings.
Choose one that is suitable.
Schubert uses an unusual solution in the original that is quite
complex:
1st ending: Gadd9/B—A/C§-D
Text book: pages 108-109 2nd ending: F4m/C4-A7-D
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Vin a cadence

Hints preceding the exercises on the following pages

The dominant major 9th chord as an independent chord gave composers of the Romantic
period new possibilities for harmonization, including the chord V9/V which has notes in
common with both I and VI.

three and two notes in the 1st, 2nd, 3rd and 6th

common respectively
—_—

degrees of the scale

D9 Am C
Fa) Q
o (8] [§] 43 |
V4 (8] (8] O Py [ ] |
N Y e [§] Py O el |
A\SYJ 8] O r ] v il
e 1O o O ©
C: VIV VI I

The 3rd degree of the scale — which composers of the Classical period often harmonized
with V3 - has a new possibility with V9/V (see also eg 3 on p 109):

compare
k// \\\‘
3 2 1 3 2 1
fa)
¥ 4 < )]
y .. [§] O
‘ [ fan O iy [ O
A3V =4 b} fq )24
; ') - b T
| |
(—% 7 j 4 :
[ (8] | O
=l =
8§ -7
C: Vg — 5 I VoV v7 I
4 -3

5

In the example below, practise harmonizing the 3rd degree of the scale in a major
key with V9/V as shown in bars 3-4 in the example above.

open
N 4 | . # | | | | |
7 ) — ‘ i i f - — i I B i
y, S — i — i — i P — ) S
fos— 1 i P p=i 14 [7) S 4 ©
& [7) P 4 O ©
Y] O
ey 4 i
Cx'3" T & Ty
L Iy T Iy
Lo |4 |4
Hints

doubling of the 3rd in I the 7th rises

Both the leading notes §5 and 7 are arls

directed towards the 3rd in the chord c
of resolution, which gives rise to dou- Q@# —
bling of the 3rd (a). Alternatively, the I~ 8 o
7th can rise (b). o ©
7 - 5
(8] [ 8]
a (8] O
C: vyl I

428

Text book: pages 108-111




CHAPTER 6 ‘

45 as a chromatic passing note

Practise using chromatic motion in the voice leading of I-IV, as described under
the heading ‘45 as a chromatic passing note’ on p 110 and also shown in the first
two bars in exercise a and b below.

@)\

e Using the given key signature, notate in 4-part harmony by following the
example in bars 1-2.

e Play the chord progressions in all major keys, adding a cadence such as V§3-1.

G G+ C
04 | ¥ 4 4
\J [l oL o LT
y A | | Iy ™l L
[ fanY | | |24 bl b
A\SVJ | | Py
¢ G hT e

L N L L
o O [§] | o o 1
. 1 oL ¥ LT
o T # o
> v il hif
ey
©

G 1 15 1

In the following example, combine the exercise above with chromatic motion in
chord IV (from the 5th to the 6th).

open position

no5
. C C+ F F:F6 )
i | I [ [ 17,
~— ! b P b
\\a\} /J: -,
Sh
= : b
9]

N

C: 1 I# IVS#56

7 Resolve the following dominant 7th chords using a raised Sth.

e Place §5th at the top of the chord — which is most common when the seventh
is used. Practice the two alternative ways to solve the §5 chord as explained
in the box at the bottom of p 428.

descending 7th ascending 7th
a7ts ¢ c7is F Eb7ds Ab sl o
2 open close
i
V.
N
A\SV. o
J g e
Ny \ i
> E ._@ O 17X %) ; —
¢ [0 ] PO PO i)
M ©
C: v,/ | alternative
#5 resolution

‘ Text book: pages 110-111
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| #5 as a chromatic passing note

Write in 4-part harmony for woodwind (cl and ob on the same staff) using the
given melody.

e Harmonize the melody first and then write in 4-part harmony using open
position, ending in closed position. The lower voices usually have the same
rhythm as the melody. The appoggiatura marked (app) are only found in the
melody.*

e Choose a distinct subdominant in order to find a suitable place for the pro-
gression [-1§5-1VS—§5-6 which you used in exercise b on the preceding page
(last example). In general, use the simplest harmonization.

Beethoven: Quintet op 16, 11l Rondo

Allegro ma non troppo

al . app app
. —
) N D — D
—h N | ) | J J \
Y T W & bl [ o fe bt NI
p A P < ¥ o
 fan WA S o ®
A\SV €
¢ o Y
P
N |
T N
7 by | (Y] o & <
[ fan WA S P S—
ANV €
)
Hn.
h——= D
A / &1
V17 €
L
Bn.

only the melody

close position

I I RS i

)
7 -
y -
 fan W)
o
cresc. A
O |
7 -,
y -
 fan W)
o
|
_q:l
T
=
)
-

* In the original score, Beethoven also wrote an appoggiatura in the 3rd partin b 11.

Text book: pages 110-111

430




CHAPTER 6 ‘

Resolution of the major and minor ninth chord

9 In the exercises below you will practise the spacing and resolution of the major
and minor ninth chords:

¢ Add a ninth to each dominant seventh chord in the example. Choose either
the major or minor 9th according to the basic principle:

minor 9th if the chord resolves to a minor chord
major 9th if the chord resolves to a major chord

e The resolution of Vb9 occurs according to the same principles as in the domi-
nant major 9th chord; see p 109, eg 1. Use the 9th chord without a 5th as
well as resolving the leading notes as shown in bars 1-2.

e Practise playing the m9th chord and its resolution in all minor keys.

E7 Am G7 Cm B7 Em Aw Db A7 Dm Fir B

«N
«

]
0
P

o)
o)

Zd O

NI
0
NI
C
e
=
0

o)

1 O Analyse the harmony of the following music examples:

Chopin: Waltz (b 53-84) Op 34, No 2
Beethoven: Elf neue Bagatellen, No 8, b 1-8 (Op 119)
Schumann: ‘Kleine Studie’, b 1-32, Album fur die Jigend (Op 68)

1 l Compose melodies which can be harmonized using the Neapolitan 6th, 9th
chords and chords containing §5 as a chromatic passing note.

Text book: pages 112-113
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| Resolution of the Italian and French 6th

1 2 Play the chord progressions in the box below in all keys. The progressions oc-
curring in major and minor keys will be identical, because in a major key it is
possible to borrow chord progressions from a minor key.

Hints preceding the exercises on the following pages

A particular voice leading resolving to V is necessary when dealing with the Italian, French
and German 6th chords with the flattened 6th degree in the bass.

The following principles are common to the three chords in 4-part harmony:

. the 3rd and lowered 5th (the sharpened 4th and the flattened 6th degrees of the scale)
are always resolved correctly as leading notes.

o one of the voices moves in parallel 3rds or 10ths with the bass — which in all the exer-
cises arising from the lowered 5th of the chord ( = the flattened 6th degree).

. taking into consideration the two points above, the voice leading of three of the four
voices is always given.

o itis not unusual for the sharpened 4th degree to enter by a leap of a tritone or an ascend-
ing A2 (in another context the interval of an A2 is very unusual in traditional harmony).

The Italian 6th

-

o the 7th is doubled at the octave or unison and continues in contrary motion.
bt lody doubled at the 8
Based on: B7°5/F melody doubled at the Sve
Described from (n05) (no5) (nos)
the bass note: F7 E F7 E F F7
Dm/F
O @ ® Jos |
/ 7 T f | | —g¢ 2
T T i s W] el 7] 77 I
[EAN T = "y r% i i Qﬂ"
B 2 #a .......... r,v Jf [’ \
SrdS‘;nI i J J éi
parallel
N [
7
T
T
T

TX!_L

&3 I Z ﬁ = b4
F O ‘V b T = ‘y !D = —
T T T
T T T
a: IVe sby7y \ v sy 7y v VI soV7y v
(It§) Ie$) 1$)

unison doubling

The French 6th

o the chord does not need to double a note because it already has four notes.
. uses the root of the chord, which remains stationary to form the 5th in the chord of
resolution.
Based on: B7l’5/F
Described from b b b A
the bass note:  F7°5 E F7°5 E F7"5 E7 Am
NO; ® O,
l‘\'l T n I
N T ~ .2 — T
A\RY ; I g " I

3rds in
parallel

=

L
Es
Mo ™
;
"
v
v
.
TR Y
Es
(TR
v .
v B
y H
| f
| B
i
TTR R ol

L)

ar WOVIV v SUOVTV v wyyyo vl

Text book: pages 114-117
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CHAPTER 6 ‘

Resolution of the Italian and French 6th

1 3 subV7/V as the Italian/French 6th chord:
e Using chord symbols, notate both the chord derivation and the simpler no-

tation working from the bass note (using enharmonic change of the leading
note); see the 1st bar in example a and b below.

* write the voice leading of four-part harmony according to the principles given
on the preceding page; see examples 1-2 (a) and 4-5 (b).

@ The Italian 6th

e Choose an Italian 6th to precede the given dominant chord.

see eg 2 on the preceding page start with IV6, see eg 1 on the preceding page

Ba:ved D7
on:

Described from b 5
the bass note: Ap7no G B A
A Il Il
¥ ] | [
P (0] Pay | g |
1N 7 | .= O
A\SVJ P=Y Iy i we
D) fo
ray
y O
c OVYV A%
6
(It3)

@ The French 6th

® Choose an French 6th to precede the given dominant chord.

Based
on: E7
Described from
the bass note: BI’7bs A F :’ C D
0 . I
v A g 1O
[ famY n
A\SVJ Py () O S -
By fo p.
rax
y O

& VvV v
(Fr)

Text book: pages 114-117
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'Resolution of the German 6th and melodic motion in subV7/V

1 4 Play the chord progressions 7-12 in the box below in all keys.

Hints preceding the exercises on the following pages
Study the common principles for all augmented 6h chords (subV7/V) on p 432.

The German 6th resolving to V53:

. no doubling is necessary because the chord already contains four notes.
o 7th and |79th (1st and 3rd degrees of the scale) remain stationary.*
Based on: nol
B7tg/F

Described front
the bass note: F7 Am/E E F7 Am/E E D/F§ F7 AE E

n@ | . ® , @u # | |
¥ 2 = T T o F- 3% 1 3T Il
.4 P =T | .1 n Ll 1§ b1 b1N”) =i
N O [} W LK § ) [ n r 2 T b

A\S A— # 7 #F ——"1

o fO \ )

e — [N
.
l
o[

o
Q\
o -
[N
Q\ .
ge— TThe
[\
fRAS
=23

a: V7V ViZ3 o VIV Vi A: IV6 VYV VD
(Ger$) (Ger) (Ger®)

Melodic motion of the augmented 6th (subV7/V)

. The three types of subV7/V (It./Fr./Ger) are differentiated here, although when using
Roman numerals, subV7/V alone is sufficient.

not

Based on: B7tg/F

Describet from

the bass note: F7 E F7 E Dm/F Am/E F7b5 E
O | | @ | - @ | [
¥ 2 T T [§ ] T T T = T Il T
Z 7} I " (7 S — L — [ —
[ fan [ ] 7 L. v & [ [ 2 L.
L8] # x g . x 3PS
D) jo to
ﬁn ©
o o
) (83 8 [e3 — (83
Ger. It Ger. Fr. I Fr. Ger. It
A A A/ VoV 1§ vy v

*b9 ascends a semitone in a major key; see eg 9 above.

Text book: pages 114-117




CHAPTER 6 ‘

Resolution of the German 6th to V or cadential §

Write a German 6th resolving to V§3 (see ‘Hints’ on the preceding page, eg 7-8):

close position open position

based Fﬁ7

on:

described from

the bass note: | C7 EmB B FIC C Bm/FE F4

H
Y

[ fan)
A\SVJ

QJ

1B

DL
|
b
Mgy

3

A2/ VAR V4
(Ger?)

1 5 Play the chord progressions 14-16 in the box below in all keys.

Hints preceding the exercises on the following pages

The German 6th forms consecutive 5ths when resolving using the least possible movement
to V. See below for different ways to avoid consecutives. It is important to note that consecu-
tive 5ths between the German 6th and V are acceptable — but rarely used; see eg 13 below.

The German 6th resolving to V:

Here are three common ways to avoid consecutives between the augmented 6th (subV7/V)
and V:*

1. within the subV7/V, 59 descends to 7 (scale degree 3-1) with resolution to 5in V-eg 14.
2. suspension of the subV7/V chord — eg 15.
3. 179 ascends to the root in V (in this case |79 preceded by the 1st degree of the scale) - eg 16.

)
In the example below, subV7/V is described from the bass ie F7 instead of B7 |, 5no1.

the example contains ac-
ceptable consecutive 5ths

Dm/F F7 E F7 E F7 E Dm/F  F7 E
® 5 W,
0 i —— p - (o)
'\’rmu = u# * 3‘8 o ﬁg ) S—— i i o #
CEN i ‘ fo ' Yoelip ¢
ﬁ fi J J~- o 61 9 J ) o - J %al AJ &
o ©
Chord notes: ba 7 5 bo 1
(Fr.)(Ger.) (Ger.)(It.) (Ger.) (Ger.)
ar IVOsby7y vy osbyyy v osbyy v IV sby7V v

* It is common to arpeggiate chords in keyboard music, which does not lead to consecutive 5ths.

Text book: pages 114-117
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| Resolution of the German 6th resolving directly to V

1 6 The German 6th resolving directly to V

@ while avoiding consecutive Sths:

e See ‘Hints’ on the preceding page.

by an ascending leap of a 3rd

by moving to It. (eg 14) by suspension (eg 15) (eg 16)
Described from
the bass note: EB7 D F G B
L) | |
i I [ [
4. bo [ |
{rN O s I a na
ANSYJ s L b
Py 1
)
g VIV Vv
(Ger$)
@ with acceptable consecutive Sths:
o Write a 4-part piano arrangement in close position using the following

short excerpt, so that the parts have the same rhythm as the melody.
o Use the German 6th.

A7) (1v) ([
Lento
B
1
A | S T~ .
v P 7 I A ] I , Chopin:
I’fr\\ P C .7 « o .7 i ! ﬁ.l i - + Nocturne in
A &= Cﬁ minor
Q) (Oeuvre
P posthume)
Transposed
.
LIl re)
A "N V]
P

* Chopin harmonizes this note
using 17 with the 3rd omitted.

Text book: pages 114-117
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CHAPTER 6 ‘

Motion to the augmented 6th

1 7 Play the following chord progressions on the piano in all keys.

Hints

Note that other
chords apart from Dm/F
I'canprecedethe F _ pm/F

progressions:
D/F§ — Dm/F

See below for common harmonic motion to the It., Fr. and Ger. 6th chords (in the
boxes) notated in A minor. These are described from the bass note.

(Am/E) - E7 - Am

@ directly from I
F7no5
Am < | F7bs
F7
® from Vbin 1st inversion
F7no5
Am - Em/G << | Frbs
F7
® from IV-I§ (or in a cadence IV-V§3 )

(Am/E) - E7 - Am

F7no5

Am - Dm - AmE < F7bs

F7

(Am/E) - E7 - Am

@ from a chord with the LGth or #Gth degree in the bass, eg VI, IV6 *

F7no5
> < | Frbs
F7

(Am/E) - E7 - Am

* or other chords with the #6th degree of the scale in the bass; eg VI-1V6, Vg/V (VII6/V), V|,8/V

(VII7IV).

Text book: pages 114-117
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| Motion to the augmented 6th

1 In the practice example a-e, use the Italian/French/German 6th chord in an
authentic cadence or a half cadence at the end. Using the hints on the previous
page, also shape the harmonic motion so that it leads to one of these chords.

A7) (1v) (3

E The cadence may also contain V§3§.

Allegro G7 B°7/F cm/Eb ‘ ‘ ‘ ‘ ‘
oS /\ T o L~
| 1 I | I | I 1
A\SVJ ! Lanstill | I ™ [ | | | 1 Jpsanes® |  — [
T I = T pasent® I

Beethoven: Piano sonata op 13 No 8 (Pathétique), Rondo

@ Also notate the bass starting from the first bar of the example:

El I e

Schubert: Walzer (DV 979)

Notate using 4-part harmony in open position with the same rhythm as the melody. Study eg 1 (b 14)
on p 117, in order to complete the second last bar.

Andante con moto alla Marcia

Dm A7 Dm Gm D7 ’

cresc. P

Beethoven: Septet op 20, VI

Text book: pages 114-117




CHAPTER 6 ‘

Harmonization using the augmented 6th

@ The cadence may also contain V§3.

Allegretto
Bm F7 Bbm

Tn

gL I
[T
T
B
~e
[ 119
[TT®

N

i i T
Py I —— 14 -
Haydn: Symphony No 63, 11
(transposed)
Notate the last two bars of the bass as well as a chromatic line for one of the inner parts.
Andante
Em E Am/E E7 Am
/‘—\
J N
77 .
7 z re) KT —N— —+e T
i | ! . A - — — = |
%j Heg o — — | & |
L — — j— 1 ]
= '

Schubert: Symphony No 1, I

1 Harmonize the following melody using an augmented 6th chord (subV7/V) in
another context apart from a final cadence.

e Temporary accidentals — apart from the leading note G§ — provide a clue
to Schumann’s harmonization. These imply another chord (apart from the
augmented 6th), which you have studied previously.

A7 v ﬂ Schumann: ‘Walzer’ Albumblitter op 124 No 4
Lebhaft
1
- N | app—
Yy | d g I - . T _ A ! i I
/e e L e N Bz B—— . S <S— A P I |
AN I j— I i P —< i 4% P ]
Py} ‘ | [
S sf
no | o> »
) " T T .2y = ]
- i I - I 3 N 7) > |
7 - = 1 1 I — | ]
S} 14 d — T T T
F- F ”F sf
sf
La . | A ; | I | |
7 — P— ——— E—— - E—— re||
7 I — —— PR E—— - ¥ ¥ 1
[ (an 7] [— T -
A\SV; P —— j—&—,}—ﬂd—ka—gl,—a—ﬂd—k'—(‘—(‘—Hv ! !
) b

Text book: pages 114-117 ‘
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| The 13th chord in major and minor

2 O In the example below, practise resolving the dominant chord which includes the
extension of the 13th or 1913, depending on whether the chord has a major or
minor resolution. Both of these are used without the 9th; see the first bar.

Note that b13 using chord symbols is labelled 7§5.

c13 F A3 D B7#5  Em E13 A F7is  Bbm
H |
iJ iy ho [
. BLO V7 bo
[ £an (8] Iy O hf [§)]) s
A\SV} o " O 4O ~7 O
.) vle) e i O e
. be .. >
Je ~7 O [$] |
7 O ~F O bo
O ~ O =
© O
: ! Analyse exercises a and b below. Include the melody notes that are extensions
of the chord — although not the passing notes (eg C§ in b 72) — in the analysis.

A7) (1v) (13

- 1A T

=
s =
|
|
[ Y
|
|
T )

)
J ) )
V. T A il
[ £aw W (N / I
\!)V X [
P
fH 4
J wl &)
g "L A
[ £aw W (N /
A\SYJ X
¢ o Kz

Y 4 49

~1
Fee

===

ol | e
N
N
[ T
s
4y
R L)

N>

e

e
Q)

RN
e
_I

) e

ko
e 1

>

—o|%
e ==
—

Grieg: ‘March of the Dwarfs’ Lyric Pieces, Op 54 No 3

Text book: pages 120-121




CHAPTER 6 ‘

The 13th chord in major and minor

@ In order to choose the chord, it is a good idea to analyse the harmony bar by
bar — note, however, that bars 13*, 14 and 16 consist of two chords per bar.

13 /—a\ //'—_\
I‘? Ll7| I'V‘I " T Jn_;p 5 J " ° EEJ 'h;
(@ P b _ qll F o4 P—H?‘. o H
Py d ‘o = I . i
) . cresc.
2 o
® ol £ — — e
Fen Y | i i | I v 0
i A . g | e .
e - I L4 i !

see V7b10 on p 128
RAlis L uaLs

s
o -

A | & * | > o ~ l" |
i nﬁ I oK J i
A\SV 2 \ 1 1 \
D) ' S— Vi = \

P

»

, | g - | s ,
rea OO | ) S - ) o 7 s f
) T/ g 4 p AN ): | E— g I

N A /Y i =~ P

A B 3 I & 2 o

v Q)‘ & ' [J) o [ J
; =

Chopin: Mazurka op 24 No 4

* the bass note BP can be regarded as a pedal point. (The harmony
of the eight bars preceding this example is almost identical.)

Text book: pages 120-121
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| Complex alterations of the dominant chord

2 Play each of the nine types of the dominant chord in all keys resolving to the
tonic in the final bar*. The most common types are in the boxes, which may
be chosen first. Examples a and b represent the two most common of the four

possible positions.

E The 5th or 13th in the upper part:

resolve each dominant chord to the tonic in the last bar resolution
t5 #5 §5 13 13 13 bs bs bs .
bs 9 £9 bo 9 #9 bs 9 49 CA9 Cg
P R T R T :
|V A : H -
y * T -
N - A T A |
ANSV_AEHY I % ko o —— o I :
SR A AT [T S e "% UF % f >
o bo fo o bo #o bo ho  to \JF
_Qg: ™ 4 L4 - I 4 I 4 Lo ™ S I~ 4 V% H P-4 [§]
P e e — ©
- o
V7 I
7-6
@ The 9th in the upper part:
Ch9 C}
[
o
EW

2 3 Write chords in 5 parts using open position with the given note at the top, as
indicated by the chord symbols. Use the voicing of the previous exercise as a
model and spread the notes by moving the 2nd voice down an octave; see b 1.

3 Note the enharmonic change (eg s = /76).

G13 A13 D13’  ghots E7;g Ebobs  C1a’e D7Eg Db13
p open
\J O ) [
. O O [§)) [$)) | bo
g§ 9 © © O O PO L=
o ‘) ;
—): T O 1748) S
i bo [§)] e
PN O e ’
O I?U

* the ending can also occur in minor by lowering the major 3rd.

Text book: pages 128-129




CHAPTER 6 ‘

Complex alterations of the dominant chord

2 Complete the inner parts using the given chord progression from a Liszt excerpt
to form 4/5-part harmony.

e In the sequence of dominant chords (a real cycle of Sths), the 3rd leads to the
7th and vice versa; see eg 3 on p 77.

v) (3
add two inner parts (close position) with the same rhythm as the bass
D7 G9 (e7|’9) c7 Fo (F7I’9)
32
) | | | | | , ,
2 | J 7 — | ] —
!\mu v (7] .iﬁ O & (] 10X ] [ ] ! be
. F EF
) ——
DA I [ I ] | I I 7]
d | I | I I PR O |
v g v dvdbdqdbi F [’ [ f
add three inner parts in open position (see exercise 23)
with the same rhythm as the bass
B°7 Bb6 A7 7% a9 (G7°9)
35
o) Sus, | | |
17 S| I I T % I I P
75 ] I I I P I |-
i~ & | I | I bt a X
A\SV haed & [ @ P
Py} L 4
raY
Zt—— 5
4 a4 o ) f
the same as in the corresponding bar above (35), but now doubling the 2nd
voice in octaves - resulting in 5 voices
c7vo Fo  (F7%9) B o7 Bb6 A7 Dm
37
) | , , ,
1Y | I I I I T T T —
| I ] I I ‘\ i\ -1 }
— o i - o [
) “ ” ¢
S . .
— 124 i &

Liszt: ‘Il penseroso’
Original: C§ minor

Text book: pages 128-129
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| Complex alterations and extensions

2 5 Describe each chord in the Debussy example below using chord symbols. The

harmony is not functional, so Roman numerals are no longer useful.

e Apart from the notes of the chord, Debussy utilises unresolved extensions,
which become a part of the chord and can therefore be included in the analysis.

¢ As Debussy does not always spell the chord so that it can be read as a nor-
mal triadic chord, it is necessary to hear the chord played on the piano and
sometimes respell the notes (an example of this is the 2nd chord in b 26).

e Also analyse in such a way that the interval between the root of each chord
is notated as shown in b 1 (in the whole example, the bass note = the root).
See if you can find a basic concept that unifies the harmony — despite the fact
that it is nonfunctional. Consider if there are any other contributing factors.

A7) (3

notate as an added note,
eg Fadd9, Fadd4 Debussy: ‘De pas sur la neige’, Préludes I

omit all grace notes
from the analysis

2
{1 O t 1 ——— f =
A5 ¥ ¥ be y 2 77— 2 —_— y
[ fan MRS _S—"3 4@ f P — f —®Dps & —
A\32 T =3 i 1 | i —1 o =
v ‘ ' —_— =
e\ T T ;’\ e . L .
— - T bm_d " —) ==
) hll — e .L) B—— E—
y Lo — T f 8 i 8
Pa— 17z b T i i
am— f Nl bma 77 bma
i : —
M2
retemi - - //
23 - -
N | | o o EP s " . AT | |
7 e Lo @ @ —# i .4 o e e be I T
y -y T J—a i f i i T 7 A L7 4 — P - i
{~N? f i 1 I 1 — ¥ — i 9] — ud ) 12 i
A\3V i m—— u i 174 i i f r
o e — ¥ = |
e P

i N
™

154 12) v
— j
— 1 T
= f i i
26 a tempo
Fa
;.. :l) — 1 | s — } — i e e i p— | p———
e e L e e e e e e e e
v r [ T -
»p J /’_——T‘\
2 b e " hd . \) 1 bg
S —F e : F —
LA — I I I

Text book: pages 124-129




CHAPTER 6 ‘

Chords above a common bass note

2 Analyse the following extract containing chords above a common bass note.
The chord constructions that occur from the motion of the individual voices are
described here using numbers related to the chord of resolution in a similar way

asin V4-3;see p 131, eg 1.

v) (3

@ In this example, analyse the chord indicated in b 3 in the usual way by writing
the Roman numerals of the chord (without the pedal point); see p 131.

describe the motion
of each voice above

Schubert: ‘Gute Nacht’, Winterreise

describe the chord
with the omitted

MiBi the bass note bass note
afdig
/_\ =

P S W Y = A =

= . = N
O oo w B by T s Y
o L 1] Fe s Jie|e 9 T ¢ sf2 8 |9

» L LT . L fo N
2 e S ——— — 3

— r s e e e F

| 1 I I |
gg\ e

@ In this example, it is necessary to identify the two chords above a common bass
note using numbers to describe the voice leading above the bass note; see p 131,

eg 1 (b 30).
Brahms: Clarinet quintet, I

~

- 3 "

Al e o~ = —_— 3 wr | !
17 i —— T Po— o i !
{5+ P o e e a3 o gy T ——— 3 — &
A\ N )Y od r' iy #® @Eg T | T T i 4 2 >
) T il 3" R N l I

! 2 P 2
V0.2 &Vla.

y ) . p ﬂg

B O - y 3 ﬁﬂ y 2 72 - y 2 il
i p3 P p3 i

ve. @ ™~ r¥/
~d_ o/

b: I

Text book: pages 130-131
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' Chords above a common bass note — leading note chords

2 Notate the chord constructions (well separated from each other) that arise due
to voice leading as described below:

¢ Notate the chords as marked (without suspensions) in the lower staff — an
octave higher than in the original; see the 1st bar (b 90).

e With reference to the pairs of chords marked with dotted arrows (refer to the
template in b 90), write:

a) a tie for the stationary note. Note that this also applies to a note that
has been enharmonically changed.

b) a hyphen to show a semitone — use another colour if possible.

c) the interval between the root of each chord
Frank: Chorale No 2 in B minor

A7 ﬂ (transposed)
S S DT W W
A 90: sus il : Pisus i
W i T ! J: | | T H - i
T i I —— | [
SY— 71— | =il I ) INZA| 1#:
P | . . Ly : I | |7¢
0 I I I P I I |
Cow 2 Py | I 1 @ ] o H: | [ | |
Z e » & P e I I ] q!
A ‘ - e T ! ] ] TT
\ I [
E7 E7
Ta)
V AN q
y A i o "
[ fan WHPS e [P
)< e k°®
Y > —
ST SRR S SRR SOOI
notate the interval between
the root of each chord eg A4
T A o7 e oA

. ‘ |
e S
| ‘ | | | [T
e e =
4 | | i c—=

2 8 Notate — as shown below — the chords, which provide the basis of how Brahms
uses chords above a common bass note and leading note chords:

a) Notate the chords marked by an arrow in close position on the lower staff,
using three notes for triads and four notes for seventh chords.

b) Shape the voice leading using the least possible movement starting from the
G chord that is given in b 25. Write each bass note chosen by Brahms as the
lowest note in the chord.

Text book: pages 130-133




CHAPTER 6 ‘

Chords above a common bass note — leading note chords

c) Join the notes in common with a tie.

d)  Describe how Brahms connects harmonies in the pairs of chords marked by the
boxes. Also notate the last two chords using Roman numerals as described in
the example at the top of the left column on p 132.

A7) ([

end of the B section Brahms: Clarinet quintet, I
' Original: B major

\

Q-

L I8

) 1L_<p7_¢|
== =3
[
M N
|
s
-
T :
%w
\

2

@

A
7 ]
V.4
[ fanY
A\SVJ
)
repeat of the A section (C major) P
i -
i
b
1
[ ]
I ] »
| 1Y |
I V |
notate in three parts without a 5th notate in four parts with F#—G in the
(cf eg at the bottom of p 130) 2nd octave above middle C.
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' Diminished triad/7th chord as a leading note chord

2 9 Use Roman numerals to analyse the following music extract. Include the dimin-
ished 7th chord resulting from voice leading, using the references in exercises
a-c below as a guide:

) (3

E Take particular note of eg 1 (b 4) and eg 3 on p 135.

Adagio Weber: ‘Wie nahte mir der Schlummer’ Freischiitz
1
H 4t . | | N
v ‘H N, B ) | I [ | [ [ N
A
A\SV x ¥ [ | | [ 1 [ b
D) | ! | =
Lei - se, lei - se, from - me Wei - se
n 4t \ | \
Y allTie ) | [ | [ [ | I N
P . W A | ’ P [y T | [T
N o I by ’ L ’ ’ i P
A\SV ’ b
Y @ \
= e
e J Iwrt)
: e } —
d ALl - B | | [ - 1 I
i | 7

movement not included
in the analyse

E See also “The leading note chord in inversion’ on p 134. The leading note chord
functions as an appoggiatura in eg 4 on p 135, while in the Mozart example
below it creates the upbeat to the target chord.

e Work from the target chord when you do the analysis.

interpreted as F/A

V9L1&2
in octave j j A J
& 4 » J 4
) P - = —
{7 | © ©
y [§] O
[ fan W4 — L
\')\} (8] (8]
Ob. -
Ho. f simile
-~ s 7] i P |
_Qz il i [ U7 i L. =N 2
L | | [ bl [ P X | [#]
b T A | [ [ Ll | | |
a— ' i T 1 i
Vla.
Ve.&Cb.
67 J
o) | |
1V ] 2 = s Mozart: Symphony
[ fan) b VIOO No 29,1
\Q)U IO i 1 (transposed)
s 17) i
0y = [ I | P
| | ol [ I | &
Z | 1 ! [
[ !

Text book: pages 134-135
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CHAPTER 6 ‘

Motion in triads and 7th chords

Take particular note of the example at the bottom of the right column under the
heading ‘The leading note chord in inversion’ on 134.

Chopin: Largo, ‘Minor works’

n | A m— 2 |
7 Emr] T N —] i i
y - - i i —— i !
G5 : 3o
v ’ Z b R
pp P———————
—_——
Foye b i J‘r)o‘ p : {.ll-f\:' 4
e P s e e o T
s e e = e g e 7
@
’QZILlr)‘ | | é ] } r- 1 = \'\11
v &
} o
L e g
Nid alr r dim. r F P ¢
| 4 jud
&L‘D]r; ?0 4:#—‘ " |

¢
.
il

ole
o
[ 1EE. HE
o
olle

3 Analyse the following extract (containing chromatic motion in triads) using
Roman numerals. Describe the motion with numbers as shown on p 137, eg 3.
) (J3
Schubert: Piano sonata, D. 960, I
e S ——— ——
g bH & | | I I I | |
[ fan WLANEP N | I | 1 1 | —
\\U N\ T T I T T
') q
pp
7 I | | | I I | |
by
[ fan Y
A\SVJ
v

P S S .

|V B [ | I el [ ] |l N
12 | | 1 I 1 I y

[ fan WLd [ I I I I I P

A\SY b ! A3

)

i 1 I | ! |

g b I I I | Zd

[ fan Wd

o § ¢ §

‘ Text book: pages 134-137 ‘
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| Analysis

3 1 Analyse the harmony of the following music examples:

Beethoven: Piano Sonata in C minor, III, b 44-51 (Op 13, ‘Pathétique’)
Schumann: ‘Ich kann’s nicht fassen, nicht glauben’, Frauenliebe und Leben (Op 42)
Schumann: ‘Kleine Studie’, b 33-49, Album fiir die Jugend (Op 68)

Text book: pages 134-137
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CHAPTER 6 ‘

Diatonic modulation

3 2 Shape diatonic modulations to more remote keys in the way that is shown in the
first example of a and b.

e The primary key is represented by I in this case. It is possible to start with an
authentic cadence in order to clarify the tonality.

2]

MODULATION IN THE DOMINANT DIRECTION IN A MAJOR KEY

® via a relative chord in the original key which pivots to I Vb in the target key:

C: 1 IV 1 A: Vb Vv4 -3 I
C-Amajor: G | F | | bm| = |pm|Ess| E| A
F-Dmajor:  F | || | =[ | J[ ] o
I e A

[-VI or I-V-III can be utilised instead of I-IV-II in the original key, where VI or III pivot
to IVb in the target key when modulating from C major to E and B major respectively.

b

MODULATION IN THE SUBDOMINANT DIRECTION IN A MAJOR KEY

o via IVb in the original key which pivots to a relative chord in the target key:

E: 1 IVI? C: VI v cadentialI?t V7 I
E-C major: E ‘Am‘ = ‘Am HF HC/G H G7‘ C
LS [
T I I N N

If TVb pivots instead to II or III in the target key, the key change is from E major to G
or F major respectively.

Diatonic modulation from a minor key can occur in a similar way as described above
— although with the ‘normal’ subdominant in the subdominant direction, while IV§ or
V(#) (sometimes followed by their relative chords) are used in the dominant direction.

‘ Text book: pages 138—141
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| Modulation/tonicisation by reinterpretation of the root

3

1AY

2]

D>

g

Analyse the harmony and find the pivot chord in the music examples; see
‘Reinterpretation of the root’ on p 138.

J. S. Bach: ‘O grofe Lieb”, St. John’s Passion
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Schubert: ‘Der Hirt auf dem Felsen’
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CHAPTER 6 ‘

The minor dominant as a pivot chord

3 Harmonize the extract below from Scarlatti’s sonata for harpsichord jn D minor,
and then shape the bass using two dotted quarter notes per bar (o.4.).*

e Scarlatti utilises VP in 1st inversion for the tonicisation which occurs directly
after the chord progression given below. This will function as the pivot chord
as described under the heading ‘Pivot chord using mixture’ on p 140 and in
eg 3 on p 141. The pattern established in bars 28-29 is repeated as a sequence
in the two bars that follow.

e Thereisa chord change once or twice a bar. It is possible for the bass to move
from the root to the 3rd in bars containing only one chord.

v) (3

Scarlatti: Sonata for harpsichord, D minor

. et
7 ot T S —
A\SY T : 7 N
S B T e [
e r—r—+
T I '
F: 1 \'A 1

s o
Z
vV
broken chord
(only in the bass)
3 Harmonize the following melody and utilise Vb in a minor key as a pivot chord’
(p 140) at the tonicisation of the relative chord (III) — in order to return later.
1AY ﬂ Chopin: Mazurka, Op 30 No 2
A
N # 1 N
[ i DA™ 1 I I N ]
it 4, e
A\SVJ x| 1 | | | | [T | | | | [ | [ #
) s T — P (— ==

* Add two inner parts directly above the bass as an accompaniment in the left
hand in order to complete the harmony (omit the 3rd at the appoggiatura).

453

Text book: pages 140-141




‘ Enharmonic modulation

Take particular note of IV; as a pivot chord on p 140.

of modulation has been used ie diatonic or enharmonic modulation. Note that
v

Analyse and find the pivot chord in the extracts a-d. Also indicate which type
the pivot chord in an enharmonic modulation is often written in the target key.

36
2]

Mozart: ‘Ave verum corpus’
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@ Schubert elaborates the harmony using neighbour chords in bars 11-12. In this

case it may be sufficient to use one symbol for the whole sequence of events.
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analyse this chord only
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’ ‘ Text book: pages 140-143 ‘

* the section is preceded by a tonicisation of the dominant chord
which means that the A major chord can sound like I in A major.

454



CHAPTER 6 ‘

Enharmonic modulation

Schubert: Unfinished Symphony, II (original in C4 minor)
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Tchaikovsky: Sleeping Beauty, suite (original in E major)

o o
] 210N
Nl
\| i
k- = =
\ y -
N L Y =N
=
¥ B o
i | Pl
e | T ® *
.= =4
| P P
[
I .
o~ :hooo\oé
=
= B
[ =iy
ﬁ ‘ m
| | Mot
||7 [ N
© N
= o 5
3 @]
28 & VO [
T . i
— R o 9
= 114 Al
e ” BN
R N i,

47

‘ Text book: pages 142-143 ‘
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| Chromatic modulation and other types of modulation

3 Analyse the music extract a-c and indicate which type of modulation is used ie
diatonic, chromatic or enharmonic. In some cases you can also indicate if it is a
abrupt or unison modulation.

e Some of the modulations/tonicisations in examples a-c have no pivot chord
(chromatic or abrupt modulation). In each case, try to see if the chord pre-
ceding the new key can be interpreted as a pivot chord ie a more complex
relationship such as bllé, subV7/V (Ger, Fr or It).

v) (J3
Schubert: ‘Moments musicals’ op 94, No 6
E Original: Ab major
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Schubert: Piano sonata No 7 Op 53, Scherzo, Trio
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cont. on next page

Text book: pages 144-145
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CHAPTER 6 ‘

Chromatic modulation and other types of modulation

#p/m.
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apply to the tonicisation that is introduced in b 17? What importance does the
melody note D (in the bass in this case) have for the connection between the two

How does the explanation under the heading ‘Expansion of a chord’ (p 146)
keys? Indicate possible chords for the first and second endings.

Chopin: Mazurka, Op 33 No 4
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‘ Text book: pages 144-149 ‘
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Ch a p ter 7 Quartal harmony

1 Construct three and four part fourth chord in root position and inversions below
the given notes:

E Three part harmony

FOURTH CHORD:
A7Sus

A no s | |

¥ ] IT [T [T . IT IT bo 11 DO |
P I [T [T | IT Pay I U [ |
1N I O [ [ P ] 7 I Il |
A\SV} I [ [§] [T IT I [ i}
D)

- 0p0

Ist INVERSION:
D sus *

)

7 T T T T T T i
7 11 i It I 11 i 1l
[ {an o1 i I i 11 i Tl
A\SV) 52— i It I I1 i 1
¢ 9O
2nd INVERSION:

, e

) Py T T T T T T i
x - © 11 i I I 11 i 1l
1o i I i 11 i Tl
A\SY hEd I1 i I I I1 i 1
3] ®

@ Four part harmony by doubling one of the notes in the chord:

Use the chords in exercise 1a above for mixed choir. Write four part harmony
by doubling one of the notes in the chord (if necessary transpose the chord an
octave lower). Choose two chords from each of the three staves.

*  You may choose to double either the melody or the bass:

melody doubled an melody doubled an
octave lower the bass doubled octave lower
Am?7 add4 D sus Gadd9
no 5 no3
closed open
O
1’
y.§
[ fanY P 8] O L8]
NS i
D) — ‘ melody o b4
*O | doubled an
/ octave lower o]
g): AN O LI 4]
L & )

the bass note placed
in a suitable octave

* The symbols used for the inversions are the simplest description.
As an inversion, A7sus no5/D is otherwise more correct.

Text Book: Pages 156-157
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CHAPTER 7 \

Superimposed 4ths — superimposed Sths

Four part harmony

FOURTH CHORD:

Am7 add4
no5

(9]

0

5]
0

@@k)

-« %000

Ist INVERSION (also in close position):

D7sus close

A O position
~ I

|

[

% |
:@;ﬁ |
SEANE .

l

2nd INVERSION (notated an octave lower).:

G SUS add 9 close

A position

iy O 11 I [T 11 ]
y Dl [ [ I [T [ ]
[ fanY O~ - I 1 1 [1 1 ]
A\S Y EN 1 I T 1 ]
J © \Ag

O

3rd INVERSION:

close
Am7 adc;i 5  position

[a) [o 1N
g

o— I

1T

o i

Q) ~a I
©

2 Complete the harmony using superimposed perfect Sths with real (strict) parallel
voice leading® in the following way:

o Upper staff: With the notated melody line as the highest part.

* Lower staff: With the notated bass line as the lowest part.

Hoa .. o 7 2 :
,\’vj .......... vV (6]
e 7 - o
pp
Vla.
7 V7 . : — — S— —

Bartok: Piano Concerto No. 2, 1T

Text Book: Pages 156-157 * Real (strict) and tonal (diatonic) voice leading; see p 154.
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| Quartal harmony

3 Use fourth chord in parallel motion and doubling of the melody in octaves in the
way it is shown in the first bar of the example. Write two versions:

a) Tonal parallel voice leading: Organise the parts so that they occur on the appropriate
scale degree, which will require the necessity of an A4th in a few spots (cf p 163, eg 2).

Debussy: ‘La cathédrale engloutie’, Préludes, I
The original was written with parallel triads, see p 463.

" J | | | .
) I I P— I
i I ¥ P I A I o [ @ had = I
G | * | =fo
\Q)\} 5 I I I I
.6 RN RN RN RN
O O O O- O

b) Real (strict) parallel voice leading: The voices move in parallel fourth chords consist-
ing of only perfect 4ths. This will require the necessity of temporary accidentals in

a few spots.

72
) gl )
i I b P [ A | a I b =K | I
W | v | [ | & I O
[ fan | | a | |
A\SVJ | | | |
o & - — — — —

o o o o- o

Hints preceding the exercises on the following pages

Here are a few tips preceding the exercises to write four part harmony based on superimposed
4ths and 5ths. It is important to also study the examples on p 157, especially Hindemith’s
‘Grablegung’ (eg 3).

o Superimposed 4ths and Sths make up the primary tonal material, but don’t be afraid to
mix in other sounds. For example, ‘traditional’ 7th chords can work well in spacings that
emphasize the interval of a P4th (see p 157, eg 3, b 3).

3 Fourth chords with three different notes and one doubled note is common in four part
harmony.
. The first and last chord in each phrase can be less intense, for example open Sth, a sus

or a add 9 chord. Even a triad can function as a final chord.
3 Let the bass part lead when you work out the harmony.
3 Stepwise motion with the occasional leap, or a sustained note is a good method to keep

the chords together. Because there are no leading notes, all the notes are able to carry the
harmony forwards using leaps.

o One or two inner parts can momentarily continue parallel in 4ths or Sths with another
voice.

. A strong/convincing melody can compensate for leaps in other voices.

3 A pedal point in the bass or inner parts can be used, but is not necessary.

Text Book: Pages 156-157
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CHAPTER 7 \

Quartal — quintal harmony

4 Werite an arrangement for brass quartet (2 tp + 2 tbn) using the chorale melody
given below.

¢ Use quartal/quintal harmony in the way that has been described in ‘Hints’ in
the previous page.

Tr. 162
’
Nl . . | e | , ; |
177 R | | [ | I [ | | [ [
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[ fan WL 1/ & P | v & ‘ & = & v
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4 a2 | I 1
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‘The Saviour of the World came here’

5 Write a shorter composition which is built on quartal/quintal harmony.

Text Book: Pages 156-157
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| Modal harmony and scales (the church modes)

6 Identify the mode on which each music example is based (a-d). The examples,
unlike the originals, are written without key signatures.

@ Allegretto

1 2.

4 e ————————e e ] /—_\

o ——— . TN . [ e B

|7 S 2 1 I 1 I T [ p——— Il Y I Il N T N & T I | I T 1 ]
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\.jlﬂll — y'%. [ y: 3‘%. ‘#: L f': =1 | — [ — I — ]

Bartok: ‘In Yugoslav Mode” Mikrokosmos, I

@ Capricieux et 1éger

Debussy: ‘La danse de Puck’, Préludes, 1

Animé et trés décidé

3
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e
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Debussy: String quartet Op. 10, I

Text Book: Pages 158-159
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CHAPTER 7 \

Modal harmony and scales (the church modes)

d|

Rondement

Poulenc: ‘La maitresse volage’, Chansons gaillardes

4
Ma mai-tresseest vo - la - ge, mon ri-val est heu - reux: s'il a son pu-ce - la-ge,clest quelle en a - vait deux.
f = = - = . = . \
i ——1 — [ I I | I N
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Y LY —1 7] 7] L2 — K= =7 7] < 7] 73 7] ]
f . T i - T f - J 7 7 7 ! # 7 i 4 7 7 4 7 ¥
o I o [ P I P 7 7
- ~ F E = - e - B
L4 * & M K4 M 4

7 Complete the descant part originating from the given chord, with the melody
doubled in octaves using tonal parallel voice leading in the current scale.
e Start by identifying the mode of the first phrase (bars 72-76).

e Bar 77 reveals a clear change to a new mode. This mode will provide the basis
for the continuation of the parallel voice leading.

Note that the bass figure continues on, which means that C will be regarded as the bass
note throughout the example.
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cont. simile

15ma bassa

s
Q

[

QL
Q]
Al
m———
g
Nain

BN,

Q
N
Y
-
-
n_
]
[\ -
o

YT
QL

%>,

Debussy: ‘La cathédrale engloutie’, Préludes, I

Text Book: Pages 158-159
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| Modal harmony and scales (the church modes)

8 Identify the mode of each music example below.

Bartok: ‘Melody with Accompaniment” Mikrokosmos, I

Transposed
1 //___x
S —F— i 1t i 1t
P
sempre legato
Bartok: Mikrokosmos, No. 55, IV
Transposed
T
=T e ; P — .
7 A S——— o} i Py o} p— Py o N
B = T 1Y N B 7 3 P~ NP 17 .Y 2 o o iw o YR 2 Plimemg
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SR N D= NE N R
IRTANE P\ PP PAFPARE PP RPN \NPUPP IR P)
T - [ ] [ o [ ] [ ] [ ] [ S [ ] [ ) [ E— [ J [ ] r
% pu— P—— i ot
E: 3 - o P ot Py P B o 1 P ot V
S UE T g e S0
(coll' 8va) —~— 2

Hints preceding the modal writing exercises

As shown by the examples in the information section and exercises 6 and 7 on the preceding
pages, a modal composition can be built using different constructions of chords based on a
predetermined mode. Here are some basic suggestions:

@ Chord constructions which are built on triadic harmony, for example triads, 7th and 9th
chords based on major and minor chords, see p 163, eg 1 and exercise 6¢-d.

e also parallel motion of these chords, for example triads in root position or inversion,
see p 163, eg 1 and exercise 7.

@ Chord constructions which are built on superimposed 4ths or their inversions, see p 163,
eg2andp 157, eg 3, b 1-2 (the first beat).

e also real (strict) and tonal parallel motion of these chords, see p 163, eg 2; p 460,
exercise 3.

@ There are also chord constructions which are a result of the movement of the parts in the
same mode. You decide which chords are possible keeping in mind the increasel/decrease
of tension and release. Possible textures are:

a) homophonic (p 162 eg in the left column)
b) contrapuntal (p 161, eg 2)

) melody with accompaniment/ostinato, see p 153, eg 1; p 159, eg 2; p 163,
eg 1-3 and exercise 6a.

Continue on the next page

Text Book: Pages 160-163
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Modal harmony and scales (the church modes)

continue
Other things that can be good to think about:

3 To present a certain mode in an unambiguous way, it is necessary that the characteristic
notes are found in the melody or in the underlying parts. It is however important to
bear in mind that certain characteristic notes are more important than others where it
concerns presenting the character of a mode eg the first five notes of the Phrygian mode
are necessary to clearly present this mode, which does not apply to the Dorian mode.

3 As in major and minor keys, a mode can be transposed into another key or shift to another
mode, cf exercise 7. You may draw up a plan of the development of the mode in your piece.

3 Chord constructions 1-3 above can occur in the same piece.
° Chromaticism in the form of passing notes and neighbour notes can also be used (p 167, eg 2).
3 A pedal point can sometimes create a much needed unifying function (p 163, eg 2).

9 Write shorter modal compositions using firstly the Dorian, Phrygian, Lydian,
Mixolydian or Aeolian mode. The examples in parentheses below can serve as
inspiration, but differ in number of parts and instrumental choice.

Here are several suggestions:

¢ A meditative sonorous piece for piano (possibly with ostinato, see p 153, eg 1;
159, eg 2; 163, eg 1).

e Scherzo for woodwind quintet (see p 155, eg 2; 163, eg 3; exercise 6a or 8a-b).

e Theme and variations with short movements for 2-5 woodwind instruments.
One or more of the variations could possibly be solistic (exercise 6b).

* A duet for two stringed/woodwind instruments inspired by folk music (exer-
cises 6a and 8a as well as p 159, eg 5)

Text Book: Pages 160-163
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| The construction of natural and synthetic scales

Hints

Natural scales are built of two tetrachords (the Greek word tetras = 4), consisting of four
stepwise notes arranged within the interval of a 4th. For example the major scale is said to
consist of two tetrachords in which the scale degrees 5-8 are a transposition of the scale
degrees 1-4, and the 1st note together with the 8th note comprise an octave:

tetrachord C-F transposed
a perfect 5th higher

Each tetrachord consists of a half, a whole or one and a half tones, which have the following
possibilities:*

I
¥ 2 1T T T |
.4 1T 1T 1T 1l
* * * L 4
111 [ P o) oo
® ® @
0
1 1T IT N
y .4 1T 1T |
E d E 4 *
1 1 1 1 1 1
I 2 1 [ 2 I

By combining two tetrachords, where the second is transposed a P5 or d5 higher, natural
and synthetic scales can be constructed*. The range for the tetrachords in examples 5-9
constitutes a tritone, which means that they cannot combine with each other, resulting in a
combination of more than an octave.***

Here are two ways of constructing diatonic scales:

@ one of the tetrachords 1-11 above can be combined with a transposition of a tetrachord
1-4 or 10-11, beginning on a note a fifth higher (the note G in this case). A scale of
seven notes is built in this way (eight notes when 10-11 are used).

@ one of the tetrachords 1-4 or 10-11 above can be combined with a transposition of a
tetrachord 1-11, starting on a note that is a d5th higher (in this case GP). By combining
with 1-4 or 10-11 there will be eight different degrees of the scale, while combinations
with 5-9 will have seven degrees of the scale.

* the tetrachord 5, 8 and 9 can also be varied by raising the note E in different
combinations.

chromaticism is not used here, which occurs for example in Messiaen’s modes.
two-octave scale is treated on p 155, eg 1.

Text Book: Pages 164-165
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Natural/synthetic scales

1 O Construct two scales for each of the alternatives a and b on the preceding page.
Name the scales that you recognise.

2]

@,55:>

@,55:>

1 Notate the tonal content of the two marked chords in the lower staff, arranging
the notes as scales. Name these scales as well.*

® Make use of enharmonic equivalents to facilitate the best notation.

Bartok: Sonata for two pianos and percussion, II
(The last chord has been enharmonically altered).

* The Bartok example builds largely on parallel
motion of the two chords you are analysing.

Text Book: Pages 164-165
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 The analysis of natural and synthetic tonal material in combination

Construct your own chords containing five or six notes by using excerpt from a

1 2 chord consisting of two diminished chords (the alpha chord) in the way shown
below (also described in the section ‘Symmetrical eight-note scale’ on p 164).
Notate both the alpha chord and your ‘excerpt’ as unfilled notes. Start with the
given bass notes:

bass note:  Ch F B E
Y l ”0“_007 T i i |
= i i il 1]
T T i 1]
\;)u i s;: i i It 1]
ctor #

1 3 Notate in the lower staff the natural or synthetic scales that provide the basis for
the melody and harmony, ie all the included notes. Name the scales. Enharmonic
alteration may be necessary, so be careful to choose an appropriate spelling.

e In those cases where the selection of notes does not build a complete scale,
you can complete it with notes you think are appropriate.

9 - = = = = = . J 61 . J
= - e ST i
A\SV | | | I I ' I Ay | I
YR 1 ' —1 —1

EXPTESS. e
mf - . [ ————— e
ST S =,
. e e e 2 F =F= 3 i
e = ' —
a—

Ravel: String quartet,

lo
|

Text Book: Pages 164-165
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The analysis of natural and synthetic tonal material in combination
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Debussy: Prélude a I'aprés d'un faune

o)
% 1
[ fan) [
\d\} [
Note the treble clef. ** the scale for this bar
should not be written out
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Berg: ‘Nacht’

* acts as a passing note in the motion towards the note Bb in the next bar.
** the accompaniment in the 3rd bar functioning as an introduction.

Text Book: Pages 164-165
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| Tri-, tetra- and pentatonic — natural/synthetic scales

1 Decide which group of notes (collection) provides the basis for each of the music
examples a-e. Describe the analysis of the collection as, for example, tri-, tetra-,
penta-, hexatonic or as a scale. Decide also which note you think is the tonic (in

certain cases there may be several possible solutions).

Notate the collection for:
1) the upper staff (‘for the right hand’)

2) the lower staff (‘for the left hand’)
3

) the mode for both staves
I 3 /———\
A Y - e .
b7 E) ) - - I - I I -»
@ 0~ e f |

ANSV.EE 3 ™ el I

) S, inrilievo

A S

b7 E) ) | —— | 1

y - 10 | | | | 7 7

[ fan Y /H I — 3 P [ V.o 7

A\SV.EE 3 — & b [

Q) .‘ b [ J

Al
/—\
n 1"#\ e P : e o T T
7 4 I I ) [ ] I I I r 1 I r ) Py - Py I
y 4 | — I (7] I | | 1 | | 1 (7] e I e I
[ {an Y I H ™l | [ m— [ I 1 I ] [ i &
A\SV ] [ — I I i | [ J‘
) [—_—
fa P
l‘(l Ly 4 V4 Y — ——
N VL VL V.4 VL N7 | | & 4 [ i
A\SVJ T I | F i I
!) " ‘ L J hul ‘ [ 4
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Bartok: Mikrokosmos, II, No. 61
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Bartok: ‘Waves’, Mikrokosmos, 1T

C | Analyse the last bar of this example, where the structure is complete. Note the
treble clef.

Tempo giusto

2 Eng. Hn.
T P
S S R AT R B LA B T A R
| " VL2 = ’ !
b = = = e e
Y W I3 I3 " f e

col legno

Stravinsky: ‘Danses des adolescetes’ The Rite of Spring

Text Book: Pages 166-167
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Tri-, tetra- and pentatonic — natural/synthetic scales

@ Note the treble clef.

Adagio
VL1 B # B 'y # I)
19 .
A o 2 o 2 # 2 o 2 EtE e o
ey [y I L L | I
V. { of 11 by
{r~% % k % P
A\SV e 3 : 3 .
® fe
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ey r ] [y I ] r ] L L | I I r 2 I ]
V. { 7 I ] I 7 of 7 I ] r ] I [7] 11 7 I ] r ] I I Il 7
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A continuous drone of a Sth,
Aund B, are played by Ve. + Cb. Arvo Pirt: Fratres fiir streichorchester und schlagzeug

Decide on the collection for the whole excerpt:

A | 010.440‘: AEgEi ﬁj -%\/—-\
L BN Y r ] Py Il & T r ] r ] 0
g H VI T | 1 | - = ¥ 2
(G i | | > e <
Py = = —F
mf/_:f ——— pﬁpiﬂp?
T e T = =
o i i ¢
s =
<

e O —— —
v Bl

Debussy: ‘Voiles’, Préludes I

Identify the prime form for one of the tetrachords in eg b as well as the tetrachord in
the left hand in eg a; see ‘Identifying the prime form of a tone collection’ on p 198.

Text Book: Pages 166-167
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| Tri-, tetra- and pentatonic — natural/synthetic scales

1 5 Write shorter compositions using modal techniques which have been treated

in the section. The examples in parentheses below can serve as inspiration, but
differ in number of parts and instrumental choice.

Here are several suggestions:

* Asolo piece for clarinet or flute, for example in an uneven time signature (5/8,
7/8) or like Messiaen with additive rhythms based on two 16th alternating
with three 16th, see p 165, eg 2. Use Messiaen’s modes or other synthetic
scales.

® A piano piece partly based on the whole-tone scale. Introduce some varia-
tion by transposing this scale together with other chords/scales (exercise 13¢;
p 163, eg4).

* A duet, for example trumpet and horn (exercise 14a-b; p 167, eg 3).

® A piece for string quartet or woodwind quintet (exercise 14c; p 167, eg 1-2).

1 6 Decide the tonality/tonic for both collections in each of the examples a-b, for
example E Phrygian or pentatonic (major) based on the tonic D. Note that in
certain cases there may be several possible solutions.

@ In the original piece, the excerpt is introduced by the left hand ostinato in bars 3-4.

Allegretto //——\
3 -
el P -

fa) [P | \ Y amanest
oy V. TheT I 1 1 | [ N T Y 1 | |
y > B [ 1 V¥, g o . he I [ Y e he | A | |
[ £an YN A T |ex Ve lid yoe VE L Tl P Ll e e X B - T I
ANS VIR 3 hd | | Ll e | Ve Ib‘é
o 4 I I [
nf
Py Py . Py
e, rr e -, e -, P e- L, ”

‘)o :; F T )i & | el § i [ I [ |l i I ] | el | | F

- s — é:;sz“e s o

e — e e 4

P, sempre legato

Bartok: ‘Boating’ Mikrokosmos, Vol. V

@ Note the treble clef.
Allegro
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n [ i . | e
/-1 ——— —t— { 1 ‘ —
A4 - T P o | ] o [
[ £an X/ (7} & [ I fd & 4 I I = (7} el I I | ¥ I
ANSVAE 3 T o ] I el | I = & I | P=Y
o * o ] 4 oo ¢ ¢ o]
S
sopra
Fa |
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f\_/ \_’/ \—/ \_,\—/

Bartok: ‘Playsong’ Mikrokosmos, Vol. IV
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Polytonality

Hints

Preceding the exercises below, it could be good to think about the following:

3 For a general understanding, it is good to know that the more the keys differ according
to distance, timbre, dynamic and rbythm, the clearer the polytonality. As is evident in
several of the examples, it is not a necessary goal that the biggest possible differences are
made evident.

3 Even if closely related keys can be described as polytonality, the few notes that separate
the keys can rather be thought of as a temporary modulation. Often more distant keys
function better.

3 For the polytonality to function, it is necessary for the included keys to consist of a clear
diatonic tonal centre and to have a certain durability.

o If the lowest key is chordal, it is perceived as the main key and the key above as a col-
ouring of the one below. If, for example, the parts build instead two-part writing in the
descant position, the highest voice (the melody) is perceived as the main key (see p 169,
eg 1). The key that dominates, for example, through dynamics or movement, can also
be perceived as the main key (see p 169, eg 2).

o There is greater clarity if one of the tonalities is presented first (see exercise 16b).

1

Werite shorter polytonal compositions based on the natural or the synthetic scales.
You can also use the tri-, tetra-, penta-, and hexatonic scales. The examples in
parenthesis below can serve as an inspiration, but differ in the number of parts
and instrumental choice.

Here are several suggestions:

® Duet for two violins (see p 169 eg 1, possibly with ostinato, see exercise 16a).
¢ Duet for two woodwind instruments, contrapuntal texture (see exercise 16b).

e DPiece for piano built on polytonal chords, for example melody with accom-
paniment, possibly with broken chords (p 169, eg 2).

Text Book: Pages 168—169

473



| Polychords

1 Analyse the polychords that occur in examples a-c in the way described in con-
junction with eg 3 on p 169.

A7) (]I

@ e In this exercise, complete the missing triads in the bass clef. From the F minor
chord given, construct three voices that move in parallel minor triads (finish-
ing on major triads). Use real (strict) mirror writing to determine at the root
notes of the triads, ie if the melody moves a M2 up, the ‘bass part’ will move
in the opposite direction a M2 down etc. (see p 169, eg 3).

Honegger: Symphony No. 5, 1

i —— —F——F§ ==
1 ; [ - ) - ; ! -
3 | u \ I f |4 I \
g '8
— |
! }
Deviation from ‘ ‘ ‘ n ‘
I b strict mirror writing: M3 M2 m2
nterval between MAJOR TRIADS

the root notes:

P5 m2 ‘

@ e Use enharmonic alteration as necessary. The second last bar has three units,
see p 169, eg 4.

ph08 8 8 "oy 5 Ty
[ fan I I I — A | e
A\SY  e— I I I T €
o e ee— V
s iz 2 b
oyt gi i i
1 L}
0 4 - I L I R R J
Z " I I I — L4 e
1  —— L pm— f €
-y E—
the chord is played 3x
but on different beats
of the bar.

Bartok: String quartet, No. 5, Finale

Text Book: Pages 168-169
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Polychord

Note the treble clef.

= = 100 — 3
g A e —
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Ll s \.)u y 22 .9 i394
T N T
come sopra
Interval between Stravi‘tll)sky: Thde Ritg (}f Spring: Stravmskyg: Petrsshka
the root notes: anses des adolescentes Second part

Hints

In order to construct polychords from a given melody note and a given fundamental chord,
bear in mind that the melody note can either be the root, third or fifth of upper triad. Of the
three possibilities, choose the one that best suits the circumstances. This method sometimes
gives rise to combinations of sounds that cannot be identified as polychords, or do not func-
tion as well in another way, eg:

o superimposing can create a normal chord eg Am above C = C6

o chords that do not fit into the remaining categories of utilised chords, for example it
could apply to an upper triad containing the fourth of the fundamental chord if the
fundamental chord is a major triad.

In most cases, upper triads which are more distantly related to the fundamental chord are
more resonant - see the circled chords.

superimposed major triad superimposed minor triad
root third fifth root third fifth
Elz C\) AL E"m Cm Abm
F F F F F F
0 Jl?O [ € (" ] I l70 (9] [ €
7. bl e [N ) bl e [ ] MY )
f {anY LAD =4 b & e Vho— 179 Do
A\SY L P—@ P& £
o
4 4
$ $ $ b 4 $ $
). o o s o s o

The fundamental chord can also be a minor triad.

The example below is based on the dominant seventh chord. If you do not choose upper
triads containing the fourth or the major seventh of the dominant seventh chord, the follow-
ing upper triads are possible:

Ff G Bb C ct ctm Bm Em Fm Gm Afm

) " p——— T Y ) Py r 2 T T o ¥
P b 4 7% 4 Oe bS] ] b 4 I oK ) 7% 4 Y 2
st 8 3 Ve 1o i o e J® LS U 16 Vg NS
A\SY4 ”PT r 3 Al DI [ ] el # e 'ﬂ el %- 1= DI. L 'ﬂ# P

qe

e

¢
o

The fourth and the major seventh create am9 with the third and the minor seventh respectively.
This results in a clear-cut but somewhat thinner overall sound, compared with the resonance
given by the superimposed chords in the examples quoted above. You can interpret the
comparison as a distinct difference rather than a valuation, for example m9 is used in the
superimposed Bb/F major chord in eg 3 on p 169.

Apart from the chords shown above, augmented and diminished triads as well as fourth
chords and their inversions can be used. The two units can also be written in open position,
which is usually the case for the lower chord.

Text Book: Pages 168—169
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' The construction of polychords

19

In the exercises below you will be able to practise constructing polychords with
different types of upper triads and fundamental chords in the way described
under the heading ‘Hints’ on the preceding page.

¢ Both the fundamental chord and the melody note of the polytonal chord has been given.

e Write out the alternative of the three possibilities that you find most resonant.

e Avoid well known chord constructions such as maj7, ninth chords and polychords
where one of the notes in the chord form 11th in a fundamental major chord.

¢ To unify the overall sound, the interval between two units should not be too large —
not more than a sixth/octave depending on the positioning of the fundamental chord.

e The given melody note can be enharmonically altered.

E Superimposed major and minor triads with the fundamental chord in root position:

superimposed major triad

superimposed minor triad

other — -
possible G
alternatives:
E ’
Preferential
choice: cb Your choice:
F D Eb Gb pb
f , |
7 | | <y
7. [ DO O m O
[ [anY bl @ & L. P bt
A\SY "H e ) 4 ' O
Y 7 L 2 T ©
- e
. e 1
Z g &
O
close open close open close open
position position position position position position

E Superimposed major and minor triads with the fundamental chord in first inversion:

superimposed major triad

superimposed minor triad

olher
possible a
alternatives:
E
Preferential
choice: B Your choice:
CIE D/F} E/GH Db/F Se
Fa)
v )
V.4 o o 1O O
% # © i’ (! LS [e)
@
0 6 &
0
e [ ]
©
close open close open close open
position position position position position position
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The construction of polychords

Superimposed major and minor triads with the fundamental chord in second

nversion:

e In this example also minor triads as a fundamental chord is used.

superimposed
superimposed major triad minor triad
other
possible
alternatives: | Fm
Cm
Preferential
choice: Am Your choice:
Bbm/F G/D Bb/F Am/E chm/Gh
o) |
7 O b o
H Py ©r P
2 el (8]
\Q)V o o
s,
0 P [
* o b e
Z i
O
closed open closed open closed open
position position position position position position

@ Superimposed major and minor triads above dominant seventh chords:

e The fundamental chord consists here of the root, third and seventh. The first
two examples show that the third or the seventh is placed nearest to the upper
triad, which guaranty that the interval between the two units not to be too
large. This will unify the overall sound.

superimposed major triad superimposed minor triad
other a
possible
alternatives: F# Dm
lo}: Am ‘
Preferential Your
choice: A Gbm  choice:
G7 c7 E7 7 Ab7 D7
fa) ,
i/ ) ¥
I O O O o
G te o, | o
P P—-®
&

y v
— 3 [ ] l') ] 7
/’o & 63

o)
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| Polychords

2 O Harmonize and arrange the chorale melody below for three trumpets, two trom-
bones and tuba.

e Use polychords in the way you have been practising in the preceding exercises.

¢ To unify the harmony it can be a good idea to occasionally use parallel mo-
tion — especially in one of the units — or stepwise contrary motion between
the units (mirror writing), see p 169, eg 3.

o Let the bass part lead the way when it comes to shaping the phrase. Also keep
in mind your choice of close or open position. A § as a fundamental chord in
close position (exercise 19¢) is very user-friendly and sounds good if a lighter
texture is desired.

® On the odd occasion, you could let the units partly overlap each other and
thereby relinquish a strict polychordal approach, for example when there is
a shortage of space for the parts to move.
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B. Gesius: Chorale melody
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Superimposed seconds

2

Construct three-part chords consisting of 2nds in root position and inversions
using the given note as the lowest note (root). The type of construction is shown

above the given notes: M2+M2 or M2+m2 or m2+M2.

e Each chord is notated partly in close position, and partly in open position. Con-
trary to traditional harmony, the 2nd top note is placed an octave above in open
position, so that the bass note will be the same; see bars 1-2 in each example.

@ Three-part harmony

PERIMPOSED SECONDS:
U oS SECONDS M2+M2 M2+m2 m2+M2

o)
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Four-part harmony by doubling one note of the chord

Choose two chords from each of the three staves in the exercise above for string
quartet. Write four part harmony by doubling one of the notes in the chord (if
necessary transpose the chord an octave).

® You may choose to double either the melody or the bass:

melody doubled an
octave lower

melody doubled an
octave lower

the bass doubled

open

close

open

L8]

T

?ﬂg

oo

L8]

Eaal

0
'l’(“ o
A\RY ; "
O e
S
o
7

the bass note placed
in a suitable octave
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| Superimposed seconds — cluster

Hints

When using a cluster, consider the following ideas:

o first shape the outer parts like an outer framework to give better control over the musical
sequence of events, then add the inner parts at the distance of a 2nd.

o a diatonic or synthetic scale can provide a common ground for several chords in suc-
cession (modal technique) or it can change with each chord.

o a chromatic cluster is often less useful because all the notes are a semitone apart. This
is different from a diatonic cluster which has a greater possibility for varying the sound
due to the constituent whole tones and semitones.

o several cluster units can be played simultaneously (polyclusters) or in succession.

o the music can be varied by taking advantage of the sonorous/percussive qualities of
clusters in succession.

o increasing/decreasing the number of voices (the breadth of the cluster) shapes a more
dynamic progression.

o a cluster can be introduced successively, starting with a consonant or dissonant chord
eg superimposed 3rds or 4ths, a smaller cluster or a polychord.

o adecrease in the tension of a cluster can be achieved if, for example, each note is given
an individual timbre, such as layers of wind and string instruments.

2 Werite short pieces based on clusters, polyclusters or other chords built on the

interval of a 2nd, as seen in the previous exercise (see also the first chord in eg 3

on p 173). You can intersperse these with other chords in order to create harmonic

variety eg superimposed 4ths. The examples in parenthesis below can serve as an
inspiration, but differ in the number of parts and instrumental choice.

Here are several suggestions:

* A soundscape for organ or strings (with divided parts) based on increasing
and decreasing the breadth of the cluster (see p 171, eg 1), with contrasting
percussive clusters as an optional extra.

® A piece for piano with a strong rhythmic character, possibly in asymmetrical
(irregular) or changing meter (see p 171, eg 3).

Text Book: Pages 170-171
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CHAPTER 7 \

Chords with added notes

2

Analyse the chords provided with boxes in examples a-b in the following way
(two of the ways shown in the 1st bar in exercise b on the next page):

The blank stave:

* Notate the whole chord in close position (within an octave) as a triad or
seventh chord with an added note

The boxes above the music example:

e Name the chord you wrote in the blank stave using chord symbols, eg
Gmadd4 (see also the example on p 172).

The boxes below the music example (not applicable to all chords):

e Notate the actual sound of the chord, using chord symbols including slash
notation eg C/D (see also the example on p 172).

First of all find the major or minor
triad which forms part of the chord.

Stravinsky: Pulcinella suite, Finale
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the bass is strengthened by a
fifth above, which can be left
out of the analysis
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‘ Chords with added notes

Stravinsky: Histoire du soldat, Grand choral
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CHAPTER 7 \

Chords with added notes

2 4 Analyse the chords and techniques which form the basis for the music examples a-b:

E e  Which interval is central to the music example? Is the choice of interval free, or
is it related to a scale? Describe the chord which comprises of the notes in b 99.

e If you regard each group of four sixteenth notes as a broken chord, how will
you analyse the chords in b 104-105?

Animé et féroce

S=SESS==st

dim. molto

Debussy: La boite a joujoux, 2¢ tableau

@ ¢ Describe the three-part technique in the last bar of the example as well as the
two-part bass in the first two bars (cf eg 3-4 on p 173).

e Analyse the chords below each box as chords with an added note (compare
with the previous exercise).

e Play the last two chords and describe their functions.

Poulenc: ‘En avion’, Promenades, last bars

/—————\ describe the three-part writing
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describe the two-part writing

describe the
function of
the chords
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‘ Chords with added notes

2 5 Harmonize and arrange the introductory section of the ancient ‘Dies irae’ melody
(written below) for trumpet, horn and two trombones.

e Use chords with added notes, as well as other techniques. The Dorian tonality
of the melody will enable you to utilise a modal compositional technique (in this
case without being bound to the key of G Dorian) with elements of chromatic
harmony similar to the Stravinsky chorale in exercise 23b (and also exercise a).

e In order to create a stronger harmonic progression, it is a good idea to occa-
sionally utilise parallel motion, as well as allowing the melodic line of the inner
parts and especially the bass to play a prominent role in shaping the piece.
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CHAPTER 7 \

Chords with added notes

2 Werite shorter compositions using chords with added notes. Use other techniques

that you have learnt in earlier chapters as well, eg clusters or other chords con-

sisting of superimposed 2nds. The examples in parenthesis below can serve as an
inspiration, but differ in the number of parts and instrumental choice.

Here are several suggestions:

e A piece for woodwind quintet — possibly of contrasting character (see exercise
24a and b, as well as eg 3 on p 173.

e A piece for mixed choir. In order to make it easier to sing, it may be an idea
to use modality, which will not oppose the strident element created by the
addition of chromatic harmony (exercise 23a and b).

e A scherzo for flute and oboe, possibly in an asymmetrical (irregular) time
signature or changing meter (p 173, eg 4).

Text Book: Pages 172-173
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| Twelve-tone technique

2 Notate the three forms of the series (inversion, retrograde and retrograde inver-
sion) from the original given below.

Schoenberg: Woodwind quintet Op 26
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P T o —© R0 —FO —He— —p—y 1 ——
\Y -~ ©
—
M3
A each individual interval notated in the opposite direction
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the original backwards
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the inversion backwards
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2 The series forms from the previous exercise has been used in the following extract.
Identify which form of the series has been used and number each note (1-12).
Note that the first and last note of each series here is identical.*

Schoenberg: Woodwind quintet Op 26, 1
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* See ‘row elision (or row linkage)’ on p 197.

Text Book: Pages 174-175




CHAPTER 7 \

Twelve-tone technique

Hints

Notation regarding the construction of the twelve-tone series:

o the twelve notes (ie the series) which will form the basis for a composition are notated
using whole notes within an octave (approx) without barlines (see the preceding page).

o twelve-tone technique is notated without a key signature because it is usually atonal.

o the lack of key as well as the fact that the music is primarily built on the tempered scale
means that one note can be notated in different ways (enharmonically) ie notating
Ff or Gb sound the same. The choice of notation is made in order to make the music
easier to read in terms of graphic clarity, or if it relates to the construction of the music.
Alternatively, the series can be described without notes using pitch class 0-11, where 0
represents C in every octave; see ‘Pitch class and interval class’ on p 198.

Schonberg and those who followed him used accidentals for all the notes ie natural signs
for the notes which did not have temporary sharps or flats (p 175, eg 3).

When constructing a twelve-tone series, consider the following:
e in order to write atonally, it is important that the series does not contain strong tonal
implications such as broken triads or several notes in succession belonging to a diatonic

scale.

o several repetitions of the same interval can block the process of composition.

29

Construct a twelve-tone series and notate the transformations, which you can
use later in a composition. As well as this, write the four forms of the series using
integer notation (pitch class 0-11; see p 198) below the stave.
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Pitch class:
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Pitch class:

R

&@;5'()

Pitch class:
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Pitch class:
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| Twelve-tone technique

Hints

When using a series as a basis for a composition:

o the series can be considered as a pattern that is repeated throughout the whole piece,
in one form or another, including the original or transformations. Shape each motive,
phrase and section using this progression of notes.

e s ‘the series functions in the manner of a motive’ and therefore shapes unity, it can be
used to ‘produce different themes and characters’ (Schoenberg).

o starting/finishing the phrase simultaneously with the start/finish of the series is usually
avoided.

o the first presentation of the series is considered to be the original (not transposed*®).
® notes from the series can be placed in different octaves.

o this contains more leaps (with usually larger intervals) than traditional melody writing.

Repeated notes:

o repeated notes can be used. When repeating a note in a composition containing two or
more voices, the series can continue in another voice.

® repeating a note using an octave leap is not used.

Intervals/chords

o the interval of an octave is not used, which is also applicable to doubling voices in
octaves (this is particularly applicable to Schoenberg).

o as twelve-tone technique is based on counterpoint, the intervals/chords occur as a result
of the individual melodies. Harmony that implies tonality is avoided eg triads.

o other principles regarding intervals can be used eg 1) the constant use of the greatest
tension 2) the greatest tension occurs at the climax as opposed to the beginning or the
end of the phrase 3) ‘consonanses’ occur on passing notes and weak beats.

Rhythm and harmony:

o the rhythm that Schoenberg uses in his compositions can be strongly metrical (see p 175,
eg 3) or more varied (exercise 28, as well as p 175, eg 1). As the structure is usually
contrapuntal, complementary rhythm is normally used ie when one voice moves, the
other is less active and vice versa (see p 175, eg 4). Shaping the piece as melody and ac-
companiment is quite a common technique; see ‘Schoenberg: Violin concerto Op 36, I’
onp 195.

For ‘setting out’ a twelve-tone series, see the points under the heading ‘Application of
the series’ on p 174. If you would like to use another method, see ‘Other ways to use
series forms’ on p 196 in the appendix.

It may be useful to draw up a matrix in order to get an overview of all the 48 possible
forms; see p 199. This can be notated using the name of each note (C, A etc) instead
of pitch class.

* see ‘Movable or fixed do” on p 199.

Text Book: Pages 174-175




CHAPTER 7 \

Twelve-tone technique

3 O Compose a piece where you use the series including some of the forms and trans-
positions you wrote in an earlier exercise. The examples in parenthesis below can
serve as an inspiration, but differ in the number of parts and instrumental choice.

Here are several suggestions:

¢ Duet for violin and cello (p 1735, eg 4).

e Trio for flute, clarinet and cello (Schoenberg: Violin concerto, p 195).

3 1 Analyse the following extract which has a strongly contrapuntal texture:

e Complete the numbering for the treble voice (notes 1-12), which also presents
the series in its original form.

¢ Indicate which series has been used in the bass, and notate in the box under
the score, including the number of notes.

e How does the bass relate to the treble, with regard to a basic contrapuntal
principle that Schoenberg uses here?

e Notate the intervals between the two voices in the boxes between the treble
and bass, as shown in b 1.

Schoenberg: Suite fiir Klavier Op 25, Priludium
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| Twelve-tone technique

3 Complete a canon in inversion for mixed choir using the given soprano part,
with the help of the model below. The distance between the entries is two bars:

Soprano part (begins with P)
Alto part begins with I (the note B below middle C)
Tenor part = soprano part 8va bassa

Bass part = alto part 8va bassa

Schoenberg: ‘Unentrinnbar’ Op 27, No 1
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CHAPTER 7 \

Twelve-tone technique

33

34

Write a shorter twelve-tone piece for organ using the contrapuntal techniques
shown in the two preceding exercises (see also p 175 eg 3).

A series can be constructed using different principles eg it can contain every
interval, which is called the all-interval series:

Nono: Il canto sospeso

Py
P} |
7 ) T Ny Fo po—T
0o HO 1 o o Fo i
o T 7 T 5

Another type of series involves limiting the size of the intervals to 2nds and 3rds;
see below. (The series is constructed using three cells that are identical either in
inversion or transposition. The first cell uses the B-A-C-H motive transposed up
am3).

‘Webern: String quartet, Op 28
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Construct a twelve-tone series using principles that are similar to, or the same
as described above.

3 5 Choose one of the following compositional tasks:

¢ Use combinatoriality together with other techniques in a twelve-tone composi-
tion for piano, see p 196-197 in the appendix.

e Write a shorter composition for two pianos using total serialism, where other
parameters such as duration, dynamics and touch (articulation) are control-
led, apart from pitch eg in pointillistic music; see ‘Serialism’ on p 176 and
‘Matrix’ on p 199.
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